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bZdkbZ 1 % fo|qr pqEcdh; rjax ,oa rjax izdkf'kdhbZdkbZ 1 % fo|qr pqEcdh; rjax ,oa rjax izdkf'kdhbZdkbZ 1 % fo|qr pqEcdh; rjax ,oa rjax izdkf'kdhbZdkbZ 1 % fo|qr pqEcdh; rjax ,oa rjax izdkf'kdh    
Unit-1      Electro Megentic Waves and Waves Optics  

    
    
 

 
oLrqfu"B iz'u %&oLrqfu"B iz'u %&oLrqfu"B iz'u %&oLrqfu"B iz'u %&    
Objective Type  :- 
1-  fo|qr pqEcdh; nksyuksa esa vkn'kZ fLFkfr eas fo|qr ÅtkZ rFkk pqEcdh; ÅTkkZ dk ;ksx 
 (i)  ifjofrZr gksrk gSA (ii) vifjofrZr gksrk gSA  (iii) ?kVrk gSA  (iv) c<+rk gSA 
 In Electromagnetic oscillation the sum of eletrical Energy and magnetic Energy in ideal 
 situation -  
 (i) Changes   (ii) does not change    (iii) Decreases   (iv) Increases 
 
2- fo|qr pqEcd nksyuksa esa 
 (i)  dsoy fo|qr mtkZ pqEcdh; mtkZ esa cnyrh gS 
 (ii)  dsoy pqEcdh; mtkZ fo|qr mtkZ esa cnyrh gSA 
 (iii) fo|qr rFkk pqEcdh; mtkZ Øe ls ,d&nwljs esa cnyrh gSA 
 (iv) miZ;qDr esa ls dksbZ ughaA 
  In Electro-magnetic oscillation - 
 (i)  Only electrical energy changes into magnetic energy 
 (ii)  Only magnetic energy changes into electrical energy 
 (iii)  Electrical and magnetic energy change between them selves alternately.  
 (iv)  None of above. 
 
3-  L-C ifjiFk dh vko`fr dk lw= gksrk gSa& 
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  The formula of frequency for L-C circuit is        
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4-  foLFkkiu /kkjk dh vo/kkj.kk loZizFke fdlus dh Fkh & 
 (i) ekjdksuh   (ii) gVZt   (iii) ,Eih;j  (iv) eSDlosy 
 Who discovered first the concept of displacement current for the first time- 
 (i) Marconi    (ii) Hertz   (iii) Ampere  (iv) Maxwell 

 
5-  fo|qr pqEcdh; rjaxksa dh iqf"V loZizFke fdlus dh FkhA 
 (i) cksl    (ii) ekjdksuh  (iii) xkWl   (iv) gVZt 
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 Who confirmed the existence of E-M-wave for the first time - 
 (i) Bose    (ii) Marconi  (iii) Gauss   (iv) Hertz 
 
6-  fo|qr pqEcdh; rjax eas nksyuh fo|qr rFkk pqEcdh; {ks=ksa ds vk;ke esa laca/k gS 
 (i) E
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 The relation between oscillaratory electric and magnetic fields of EM wave is - 
 (i) E
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7-  fuEu esa ls fdldh rjax nS/;Z lcls de gS& 
 (i) ijkcSxuh fdj.k  (ii) X- fdj.k  (iii) jsfM;ks rjaxs    (iv) vojDr fdj.ks 
  Which of the following has the Least wave length - 
 (i) Ultravoilet  (ii) X-rays   (iii) Radio wave   (iv) Infrared ray 
 
8-  fuEu esa ls fdldh rjax nS/;Z lcls vf/kd gS & 
 (i) yky izdk'k dh  (ii) ihys izdk'k dh  (iii) gjs izdk'k dh  (iv) cSxuh izdk'k 
 Which of the following has the Maximum wave-length - 
 (i) Red light   (ii) Yellow light   (iii) Green light   (iv) Voilet light  
 
9-  fuEu esa ls fdldh vko`fÙk lcls vf/kd gS 
 (i) xkek fdj.k   (ii) lw{e rjax  (iii) n`'; izdk'k  (iv) vojDr izdk'k 
 Which of the following has the Maximum frequency - 
 (i) Gamma ray   (ii) Micro-wave   (iii) Visible-light   (iv) Infrored 
 
10- nwjlapkj ds fy;s dkSu lh rjax iz;qDr dh tkrh gS 
 (i) n`'; rjax   (ii) vojDr rjax  (iii) ijkcSxuh rjax  (iv) lw{e rjax 
 Which type of waves are used in telecommunication 
 (i) Visible wave   (ii) Infra red wave (iii) Ultra-violet wave  (iv) Micro-wave 

 
11- fuEu esa ls fo|qr pqEcdh; rjax dkSu lh gS & 
 (i) vUrfj{k fdj.k     (ii) ,YQk fdj.k   
 (iii) ijk/ofud fdj.k     (iv) 'kfDr vko`fr rjax 
  Which is the electro-magnetic wave among the following waves - 
 (i) Cosmic-rays      (ii) Alpha-ray   
 (iii) Ultrasonic ray      (iv) Power-frequency wave 
 
12- vk;u e.My esa gksrs gSa & 
 (i) dsoy ?ku vk;u  (ii) dsoy eqDr bysdVªku  (iii) nksuksa  (iv) buesa ls dksbZ ugha 
 Ionosphere has - 
 (i) Only positive ions  (ii) Only free electron   (iii) Both  (iv) None of these  
 
13- i`Foh ls 10fdeh dh ÅapkbZ {ks= dks dgrs gSa & 
 (i) vk;u e.My   (ii) e/; e.My  (iii) O;kse e.My  (iv) {kksHk e.My 
 The region of 10 K.m height from earth's surface is known as - 
 (i) Ionosphere   (ii) Mesosphere   (iii) Space region  (iv) Troposhere 
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14- fo|qr pqEcdh; LiSDVªe gksrk gS & 
 (i) dsoy n`';  (ii) dsoy vn`';  (iii) n`'; rFkk vn`';  (iv) dksbZ ugha 
 The electro-magnetic spectrum is - 
 (i) Only visible  (ii) Only invisible  (iii) Visible and invisible   (iv) None of these. 

 
15- ok;qe.My ikjn'khZ gksrk gS & 
 (i) n`'; fofdj.k ds fy;s  (ii) X- fdj.k ds fy;s    
 (iii) xkek fdj.k ds fy;s  (iv) dksbZ ugha 
 The Atmosphere is transpereant for - 
 (i) Visible radiation   (ii) X-ray   (iii) Gamma ray   (iv) None of these. 
 
16- T.V. flXuy fuEu esa ls ijkofrZr gksrs gSa & 
 (i) VªksiksfLQ;j  (ii) eslksfLQ;j  (iii) vk;uksfLi;j  (iv) dksbZ ugha 
 The T.V. signals are reflected from - 
 (i) Troposhere   (ii) Mesosphere   (iii) Ionosphere  (iv) None 
 
17- fdl jax dk rjax nS/;Z 4000 � gksrk gS& 
 (i) yky    (ii) gjk   (iii) uhyk    (iv) cSaxuh 
 Which colour has the wave length 4000�- 
 (i) Red   (ii) Green   (iii) Blue    (iv) violet 
 

18- izdk'k dk rjax nS/;Z fuEu dksfV dk gksrk gS & 
 (i) 10-5 m  (ii) 10-6 m  (iii) 10-7 m  (iv) 10-8 m 

 The wave length of light is of the order of  
 (i) 10-5 m  (ii) 10-6 m  (iii) 10-7 m  (iv) 10-8 m    
 
19- ekuo us= ds fy, n`'; izdk'k dk rjax nS/;Z gSA 
 (i)  1000 �   (ii) 4000 �   (iii)  6000 �   (iv)  8000 � 
 The wave length of visible light for Human-Eyes is -  
 (i)  1000 �   (ii) 4000 �   (iii)  6000 �   (iv)  8000 � 
20- izdk'k dk jax fuEu xq.k gSA 
 (i) vk;ke   (ii) rjax nS/;Z   (iii) osx   (iv) vko`fr 
 The colour property of light is due to 
 (i) Amplitude   (ii) Wave length   (iii) Velocity   (iv) frequency 
    
21- izdk'k O;frdj.k esa ÅtkZ & 
 (i) u"V gks tkrh gS (ii) iquZforfjr gksrh gS  (iii) mRiUu gksrh gS  (iv) lajf{kr jgrh gS 
 The energy in Interference of light is - 
 (i) distroyed  (ii) redistributed   (iii) Produced   (iv) Conserved 
 
22- ;ax ds f}fLyV iz;ksx eas nhIr fÝt dh rhozrk ds fy;s lw= gS & 
 (i) I = I0  (i) I = 2I0   (i) I = 3I0   (i) I = 4I0 

 The fromula for intensity Bright fringe in young's double slit experiment is - 
 (i) I = I0  (i) I = 2I0   (i) I = 3I0   (i) I = 4I0 
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23-  fdlh fcanq ij nks O;frdj.k rjaxksa ds chp dykUrj �  gS rks iFkkUuj  
 

 (i) 
4

λ
  (ii) 

2

λ
  (iii) λ   (iv)  2λ  

 At a point, two interfering waves have phase difference �, then path difference is  

 (i) 
4

λ
  (ii) 

2

λ
  (iii) λ   (iv)  2λ  

 
 
24- ;ax ds f}fLyV iz;ksx es dsUnzh; fÝt lnSo gksrh gS & 
 (i) lnSo vnhIr   (ii) lnSo nhIr  (iii) dqN Hkh gks ldrk gS  (iv) dksbZ ugha   
  The central fringe in young's double slit experiment is -  
 (i) always dark  (ii) always bright   (iii) any thing possible   (iv) None 
 
25- nks dyk laca/k L=ksr gksrs gSa & 
 (i) leku vk;ke ds  (ii) leku dyk ds  (iii) leku vko`fr ds      (iv) ii vkSj iii 
 Two coherent-Sources are of-  
 (i) Same amplitude   (ii) same phase   (iii) same frequency           (iv) ii and iii 
 
26- ;ax ds iz;ksx eas fLyVksa ds chp dh nwjh nqxuh djus ij rFkk fLyV o insZ dh nwjh 

nqxuh djus ij fÝat pkSM+kbZ gksxh & 
 (i) ogh jgsxh  (ii) nqxuh gks tk;xh     (iii) 4 xquh gks tk;sxh   (iv) vk/kh gksxh 
 If in  Young's experiment, the distance between the slits is doubled and the distance of  
 screen  is also doubled then the fringe width is - 
 (i) Same   (ii) doubled          (iii) 4 times    (iv) half 
  
27- lkcqu ds ?kksy ds cqycqyksa dks 'osr izdk'k ds ns[kus ij jaxhu fn[krs gSa 
 (i) ijkorZu ds dkj.k  (ii) viorZu ds dkj.k (iii) O;fDrdj.k ds dkj.k  (iv) foorZu 
 A thin flim of soap solution shows beautiful colours when illuminated with white light - 
 (i) due to reflection   (ii) due to refraction  (iii) due to interference  (iv) due to diffraction 
 
28- izdk'k dk T;ferh Nk;k esa izos'k djus dk dkj.k gS & 
 (i) O;frdj.k    (ii) foorZu   (iii) ?kqzo.k   (iv) fo{ksi.k 
 The light travels in to geometrical shadow due to- 
 (i) Interference    (ii) diffraction   (iii) Polarisation   (iv) dispersion 
 
29- fuEu eas ls dkSu lk izHkko /ofu rjax esa ugha ik;k tkrk gS & 
 (i) ijkorZu    (ii) O;frdj.k  (iii) foorZu   (iv) ?kzqo.k 
 Which of these effects is not found in sound wave- 
 (i) reflection    (ii) Interference   (iii) diffraction  (iv) polarisation  
30- fuEu esa ls dkSu lh ?kVuk izdk'k rjax dks vuqizLFk crkrh gS & 
 (i) ?kqzo.k   (ii) fooZru    (iii) O;frdj.k   (iv) vioZru 
 Which of these phenomenon shows transvers nature of light - 
 (i) Polarization  (ii) diffraction   (iii) Interference (iv) refraction  
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31-  fuEu esa ls fdls ?kqzfor ugha fd;k tk ldrk gS & 
 (i) X -fdj.k dks  (ii) jsfM;ks rjax dks  (iii) vuqnS/;Z rjax dks    (iv) vuqizLFk rjax 
 Which of the following can not be polarized - 
 (i) X-ray   (ii) Radio wave   (iii) Longitudinal wave     (iv) Transverse wave 
 
32-  ,d izdk'k rjax ds dEiu ry rFkk ?kqzo.k ry ds chp dk dks.k gS& 
 (i) 900  (ii) 00    (iii) 1800    (iv) 1200 
 The angle between plane of vibration and plane of polarization is-  
 (i) 900  (ii) 00    (iii) 1800    (iv) 1200 
 
33-  fdlh ry ij izdk'k 40 ds ?kqzo.k dks.k ij vkifrr gksrk gS rksa vioZru dks.k gskxkA 
 (i) 400   (ii) 800    (iii) 900   (iv) 500 
 If Light is  incident at an angle of polarization 40. on a plane then the angle of refraction  
 will be- 

 (i) 400   (ii) 800    (iii) 900   (iv) 500 
 

34-  gkbxu rajxzkx lajpuk ls dkSu lk rF; ugha le>k;k tk ldrk & 
 (i) vioZru   (ii) ijkoZru   (iii) fooZru  (iv) o.kZØe dh mRifRr 
 Which of these concepts is not explained by Hygen's wave principle - 
 (i) refraction   (ii) reflection   (iii) diffraction  (iv) formation of spectrum 
35-  ;ax ds f}fLyV iz;ksx esa fÝt dh pkSM+kbZ dk lw= gS & 
 

 (i) �= 
d

Dλ
   (ii) �= Dλ    (iii)  �= 

D

dλ   (iv) buesa ls dksbZ ugha 

 Formula for the Fring width of young's experiment is  

 

 (i) �= 
d

Dλ   (ii) �= Dλ   (iii) �=
D

dλ   (iv) None 

 

36-  ;ax ds f}fLyV iz;ksx esa dsUnz fcanq gksrk gS & 
 (i) dkyk          (ii) pedhyk   

 (iii) igys dkyk ckn esa pedhyk    (iv) igys pedhyk ckn esa dkyk 
 The central point of a young's double slit experiemnt is  
 (i) Black       (ii) Bright    
 (iii) First black then Bright      (iv) first bright the black. 
 
37-  ;ax ds f}fLyj iz;ksx ds dsUnzh; fÝt ls rhljh nfIr fÝt rd igqapus okyh izdk'k 

rjax ds e/; dykUrj gksxk & 
 (i)  0    (ii)  2π     

 (iii) 4π         (iv) 6π  

 In young's double slit experiment the phase difference from central fring to third bright  
 fring is 
 (i) 0     (ii)  2π     

 (iii) 4π         (iv) 6π  
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38-  ,d iksysjkbM dks fo'ys"kd dh Hkk¡fr mi;ksx djus ij ,d iw.kZ ?kw.kZu pØ ij 

vf/kdre rhozrk gksxh& 
 (i) dsoy ,d ckj   (ii) nks ckj   (iii) rhu ckj  (iv) dksbZ ugha 
 When a polarisor is used as an analyser, then manimum intensity for a complete cycle  
 of rotation, changes- 
 (i) Only one time    (ii) two times   (iii) three times  (iv) None 
 
39-  O;frdj.k gksrk gS & 
 (i) dsoy vuqnS/;Z rjax esa    (ii) dsoy vuqizLFk rjax ds  
 (iii) dsoy fo|qr pqEcdh; rjax esa   (iv) mi;qDrZ lHkh esa  
 Interefernce takes place in - 
 (i) Only longitudinal wave    (ii) Only transverse wave 
 (iii) Only e-m wave    (iv) all of these 
 
40-  ;fn L dyk lEc) yEckbZ gks rFkk C izdk'k osx gks rks dyk&lEc) le; gksxk & 
 

 (i) cL  (ii)   
c

L
  (iii) 

L

c
  (iv)

Lc

1
 

 If L is coherent length and c velocity of light then the coherent time is  
 

 (i) cL  (ii)   
c

L
  (iii) 

L

c
  (iv) 

Lc

1  

 
 fjDr LFkku dh iwfrZ djks & fjDr LFkku dh iwfrZ djks & fjDr LFkku dh iwfrZ djks & fjDr LFkku dh iwfrZ djks &    
    Fill in the blanks - 

1-  fo|qr pqEcdh; rjax ---------------rjax gksrh gSA 

 Electro magnetic wave is ......................wave. 

2-  fo|qr pqEcdh; rjax -----------------esa xeu djrh gSA 

 Electro magnetic wave can travelled in......................... 

3- xfr'khy Rofjr vkos'k ls ---------------rjax mRiUu gksrh gSA 

 Accelarated charged particle produces ..............wave. 

4-  loZizFke izk;ksfxd izn'kZu }kjk fo-pq- rjax-------------------us izkIr dksA 

 Electro magnetic wave was experimently demonstrated,first of all by  ............. 

5-  csrkj dk fl)kar izfrikfnr djus okyk oSKkfud ---------------------FkkA 

 The principle of wireless communciation was propounced by ..................... 

6-  --------------------dks 1899 bZ- esa HkkSfrdh ds {ks= esa ukscsy iq:"kdkj feyk FkkA 
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 .........................got Nobel Prizes for physics in year 1899. 

7-  VwVh gqbZ gM~Mh ns[kus esa ---------------dk mi;ksx gksrk gSA 

 ....................rays are used to detect broken bones of the body. 

8-  ------------------- jax ds n`'; izdk'k dk rjax nS/;Z vf/kd gksrk gSA 

 The wave length of ........................colour is greatest in visible light. 

9-  cSaxuh rjax dh ---------------lcls de gSA 

 The ......................of voilet colour wave is least. 

10-  fo?kqr pqEcdh; rajx esa fo|qr rFkk pqEcdh; nksyu ijLij ---------------gksrs gSaA 

 The electric and magnetic oscillations in E.M wave are ....................to each other. 

11-  QksVksxzkQh okys dejs esa ---------------jax dk izdk'k mi;ksx gsrk gSA 

 The.................colour light is used in photography room. 

12-  dqgjs esas ns[kus ds fy;s--------------------- jax dk izdk'k mi;ksx gksrk gSA 

 ....................colour light is used to see in fog. 

13-  vkstksu dk v.kqlw=------------------gksrk gSA 

 The molecular formula of ozone is .................... 

14-  ok;qe.My esa lcls Åijh ijr ------------gksrh gSA 

 The highest layer in atmosphere is........................... 

15-  fofHkUu izdkj dh fo|qr pqEcdh; rjaxksa ds dsoy --------------dks gh vk¡[k ls ns[k ldrs 

gSaA 

 Out of various em waves only ...................rays can be seen by eyes.  

16-  ok;qe.My esa vkus okys gkfudkjd fofdj.k dks -------------irZ i`Foh ij vkus ls jksdrh 

gSA 

 The harmful radiation entering atmosphere is absorbed by ................layer. 

17-  yky jax dk rjax nS/;Z ----------------ehVj gSA 

 The wave length of red colour is.................................. 

18-  nwjlapkj esas -----------------rjaxsa iz;qDr dh tkrh gSA 

 .................are used in tele communication. 
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19-  foLr`r {ks= esa T.V. flxuy izlkj.k gsrq--------------dk mi;skx gksrk gSA 

 .......................are used in T.V. signal transmission to maximum area.  

20-  yEch nwjh ds jsfM;ks izlkj.k esa-------------dk mi;ksx gksrk gSA 

 ...........................are used in long distance radio propragation. 

rjax izdkf'kdh rjax izdkf'kdh rjax izdkf'kdh rjax izdkf'kdh WAVE OPTICS 

21-  gkbxu us vius fl)kar dks le>kus ds fy;s------------uked dkYifud ek/;e dh  

 dYiuk dh FkhA 

 Huygen had explained his principle with the help of hypothetical medium called................ 

22-  -------------fÝt ,d leku pkSM+kbZ dh gksrh gSA 

 ...............fringes are of same width. 

23-  O;frdj.k esa dsUnzh; fÝt ----------------gks rks gSA 

 The central fringe of Interference is................. 

24-  O;frdj.k dh ?kVuk esa ---------------lajf{kr jgrh gSA 

 In Interference phenomenon................ is conserved. 

25-  izdk'k rjaxksa dk vuqizLFk gksuk---------------dh ?kVuk ls fl) gqvkA 

 That light wave is transverse is proved by the phenomenon of .................... 

26-  iksysjkbM }kjk -------------------------?kVuk dk fo'ys"k.k fd;k tk ldrk gSA 

 ..................is analysed by polariods. 

27-  O;frdj.k dh ?kVuk dk loZizFke izk;ksfxd izn'kZu -------------------us fd;kA 

 The phenomenon of Interference was shown for the first time experimentaly by ................ 

28-  izdk'k ds vius vojks/kksa ds fdukjksa ij eqM+uk------------dgykrk gSA 

 Bending of light with sharp obstacle is called............... 

29-  izdk'k vius---------------dksfV ds vojks/kksa ds fdukjksa ij gh eqM+rk gSA 

 Bending of light occures when sharpness of obstacle is of the order of ................ 

30-  O;frdj.k dh ?kVuk -------------L=ksrksa ls gh izkIr gksrh gSA 

 The phenomenon of Interference is only obtained with ............light sources. 

31-  ?kzqo.k dh ?kVukvksa dks le>kus ds fy;s--------------fØLVy dk mi;ksx gksrk gSA 
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 We use ....................crystal for explaining polarization. 

32-  /ofu rajxksa esa --------------dh ?kVuk ugha gksrh gSA 

 The Phenomenon of ............is not found in sound waves.  

33-  O;frdj.k fÝt dh pkSM+kbZ -------------------- ds O;wRØekuqikrh gSA 

 In interference the fringe width is inversily propostional to the.................. 

34-  'kq) O;frdj.k izkIr djus ds fy;s------------------izdk'k gksuk pkfg,A 

 For pure inter ference .....................light should be used. 

35-  nks izdk'k rjaxksa dk iFkkUrj ;fn ------------dk lexq.kt gks rks nhIr fÝt izkIr gksxhA 

 If the path difference is even multiple of................then bright fringes are formed. 

36-  vnhIr fÝt izkIr djus ds fy;s iFkkUrj  dk -------------gksuk pkfg;sA 

 To obtain dark fringes the path diffrerence should be................ 

37-  gkbxu ds rjax ds fl)kar ls--------------dks  ugh le>k;k tk ldrk gSA 

 ...............is not explained by the Hygen's principle. 

38-  ;ax ds f}fLyV iz;ksx eas yky jax dk izdk'k mi;ksx djus ij fÝt dh pkSM+kbZ                   

 -------------- gksxhA 

 If we use Red colour light in the young's double slit experiment the fringe width will be ................ 

39-  f=foHkh; fp= ns[kus esa -----------------dk mi;ksx gksrk gSA 

 To see the three dimensional movie we use............. 

40-  iksysjkbM cukus esa dk¡p dh IysV ij---------------dk ?kksy yxk;k tkrk gSA 

 The solution of ...............is pasted on glass plate to obtain polariods.  
    

    
tksM+h feykvkstksM+h feykvkstksM+h feykvkstksM+h feykvks    

            v         v         v         v          c     c     c     c 
1-  csrkj dk fl)kar dk izfriknd gS  xkek fdj.k  
2-  Rofjr vkos'k ls fo-pq- rjax mRiUu dh xbZ   ¼1&100½mm rd 
3-  fdl rjax dk rjax nS/;Z 10-10

 
m gS   eSDlosy 

4-  lcls de rjax nS/;Z okyh rjax     X fdj.k  
5-  lw{e rjax dh rjax nS/;Z gS   ekjdksuh 
            v         v         v         v         c    c    c    c 
6-  T.V. flXuy izlkj.k ds fy;s mi;qDr gS   jsfM;ks rjax 
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7-  izdk'k ds osx dk lw= gS  gVZt  
8-  nwjlapkj ds iz;qDr rjax dk uke  A0 
9- vko`fr dh bZdkbZ gksrh gS  d`f=e mixzg ls 
10-  rjax nS/;Z dh bZdkbZ gksrh gSA  vko`fr X rjax nS/;Z 
                        v         v         v         v         c    c    c    c 
11-  ok;qe.My esa gkfudkj.k fofdj.k    jksfx;ksa dh fldkbZ esa  
 jksdus okyh irZ dk uke 
12-  vk¡[k ls ns[kh tkus okyh fo|qr pqEcdh;  DokVZ~t   
 rjax dk uke 
13-  ekjdksuh dks HkkSfrdh ds fy;s ukscsy   vkstksu  
 iq:"dkj fdl o"kZ esa feyk Fkk 
14-  ijkcSxuh izdk'k dks dkSu ls fØLVy   n`'; izdk'k  
 ls ns[kk tkrk gS 
15-  vojDr izdk'k dk mi;ksx gksrk gS  1899 bZ-  
      v      v      v      v             c        c        c        c 
16-  nks izdk'k rjax ds v/;kjksi.k ls mRiUu ?kVuk   pedhyh 
17-  izdk'k ds rjax fl)kar ds izfriknd dk uke  dkyh 
18- nhIr fÝt dSls fn[krh gS   FkkWel ;ax  
19-  vnhIr fÝt dSlh fn[krh gS  O;frdj.k  
20-  O;frdj.k dh ?kVuk loZizFke iznf'kZr   gkbZxu  
 djus okys oSKkfud dk uke   
 
21-  izdk'k dk eqM+uk dgykrk gSA      izdk'k dh vuqizLFk izd`fr 

22-  lw;Z ds izdk'k dk fooZfrr fp= izkIr djus okys   
d

Dλ  

 oSKkfud dk uke 
23-  izdk'k ds ?kqzo.k dh ?kVuk crkrh gS  izdk'k fo|qr izHkko  
24-  gkbxu fl)kar ls ugha le>k;k tk ldrk gSA  izdk'k dk fooZru 
25- fÝt dh pkSM+kbZ dk lw= gS    ÝWkugWkQj  
             v      v      v      v             c        c        c        c 
26-  nks izdk'k L=ksr dyk lEc) dc gksrs gSa  iksysjkbM ;qDr  
27- 'kq) O;frdj.k ds fy;s vko';d izdk'k    izdk'k dh pdkpkSa/k  
 dh izd`fr gksuh pkfg, 
28-  izdk'k ds vius fdukjksa ij eqM+us dh 'krZ gS  leku vko`fr ,oa dyk 
   ds gksus ij  
29-  f=foHkh; fp= dkSu ls p'es ls ns[krs gSaa   ,d o.khZ;  
30-  iksysjkbM ;qDr 'kh'ks ls nwj dh tkrh gSA   10&7m 

 

Match the Table  
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                 A                    B 

1. Founder of the principle of wireless communication  Gamma rays 

2. E-M waves were produced by accelarated charged  (1-100) m.m. 

 particle shown by 

3. Which wave has wave length of 10-10 m.  Maxwell  

4. Which wave has least wave length  X-ray 

5. The wave length of microwave is  Marconi 

                  

             A                   B 

6. For the propagation of T.V. signals, suitable wave is    Radio wave 

7. Formula for velocity of light is   Hertz 

8. The name of wave used in telecommunication    A0 

9. The unit of frequency is    with artificial stallite 

10.  The unit of wave length   frequency x wave length 

                

          A             B 

11. The harmful radiation of atmosphere is absorbed by     Physical therepy  

12. name the E.M. wave which can be seen by human eyes     quartz crystal 

13.  In which year, for Physics, Marconi got Nobel prize         ozone layer 

14. By which crystal we can see the ultraviolet light  Visible light   

15. The use of infrared light is  year 1899  

                

  A                  B  

    

16. The production of phenomenon by superposition    Bright fringes    

 of two light waves is  

17. The founder of light wave theory is    Dark  

18. How is a bright fringe visible   Thomas young 

19. How is a dark fringe visible    Interference 

20. The scientist who showed the    Huy gen   

 phenomenon of Interference is         

    

           A                  B 
 

21. Bending of light is called Light's transverseness   
 

22. The name of scientist who found the 
d

Dλ
 

  diffraction pattern of sun light is 

23. Polarization of light shows Photo-Electric effed 
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24. Huygen's theory cannot explain diffraction of light    

25. Formula for fringe width is  Fraunhofer 

             

            A                  B 

26. When two light sources are coherrent polariod  

27. For pure interference, light should be cut off the dazzling of light  

28. The order of bending of light through it obstacle is Same frequency & phase  

29. In which type of spectcles we see three  mono chromatic light  

 dimensional movie   

30. With  polariod glass we remove  10-7 m  
    
    

lR;@vlR; dFku fy[kks &lR;@vlR; dFku fy[kks &lR;@vlR; dFku fy[kks &lR;@vlR; dFku fy[kks & 

1-  fo|qr pqEcdh; rjaxs fuokZr esa xeu ugha djrh gSA ¼lR;@vlR;½ 

2-  fo|qr pqEcdh; rjax esa fo|qrh; rFkk pqEcdh; {ks= leku dyk esa gksrs gSa 

¼lR;@vlR;½ 

3-  fo|qr pqEcdh; rjax esa fo|qr rFkk pqEcdh; nskyu T;koØh; gksrs gSaA ¼lR;@vlR;½ 

4-  fo|qr pqEcdh; rjaxs vuqizLFk gksrh gSA ¼lR;@vlR;½ 

5-  fo|qr pqEcdh; rjaxs nkc mRiUu ugha djrh gSA ¼lR;@vlR;½ 

6-  csrkj dk fl)kar gVZt us izfrikfnr fd;k FkkA ¼lR;@vlR;½ 

7-  fo|qr pqEcdh; rjaxs izdk'k ds osx ls pyrh gSA ¼lR;@vlR;½ 

8-  rjax nS/;Z ijkx 4x10-7 m - 7.8 x 10-7 m n`'; LiSDVªe dks crkrh gSA ¼lR;@vlR;½ 

9-  xkek fdj.k dh vko`fr lcls de gSA ¼lR;@vlR;½ 

10-  yky jax ds izdk'k dh rjax nS/;Z vf/kd gSA ¼lR;@vlR;½ 

11-  fo|qr pqEcdh; rjaxs vkosf'kr rjaxs gksrh gSA ¼lR;@vlR;½ 

12- fo|qr pqEcdh; esa fo|qr {ks= gks us= jsfVuk dks izHkkfor djrk gSA ¼lR;@vlR;½ 

13- fo|qr pqEcdh; nksyu ijLij lekUrj gksrs gSaA ¼lR;@vlR;½ 

14- ijkcSxuh izdk'k dk fpfdRlh; mi;ksx ugha gSA ¼lR;@vlR;½ 

15-  lw{e rjax dk osx 3x108 m/s gksrk gSA ¼lR;@vlR;½ 

16-  U;wVu us rjax fl)kar dk izfriknu fd;k FkkA ¼lR;@vlR;½ 

17- gkbxu us f}fr;d rjafxdkvksa dk fl)kr izfrikfnr fd;kA ¼lR;@vlR;½ 
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18-  ;ax dk iz;ksx crkrk gS fd izdk'k rjaxksa ls cuk gSA¼lR;@vlR;½ 

19-  /ofu rjaxsa vuqizLFk rjaxsa gSaA ¼lR;@vlR;½ 

20-  /ofu rjaxksa esa ?kqzo.k dk xq.k ik;k tkrk gSA ¼lR;@vlR;½ 

21-  izdk'k dk eqM+uk gh O;frdj.k gSA ¼lR;@vlR;½ 

22-  nks dyk lEc) L=ksr ls gh O;frdj.k lEHko gSA ¼lR;@vlR;½ 

23-  fÝt dh pkSM+kbZ �=
d

Dλ   esa laca/k gksrh gSA ¼lR;@vlR;½ 

24-  O;frdj.k dh ?kVuk esa ÅtkZ lajf{kr ugha jgrh gSA ¼lR;@vlR;½ 

25-  O;frdj.k dh ?kVuk vuqizLFk ,oa vuqnS/;Z nksuksa izdkj dh rjax esa gksrh gSA 

¼lR;@vlR;½ 

26-  izdk'k rjax lh/kh ljy js[kk es pyrk gS D;kaasfd bldh rjax nS/;Z cM+h gksrh gSA 

 ¼lR;@vlR;½ 

27-  izdk'k rjax fo|qr&pqEcdh; rjax gSA ¼lR;@vlR;½ 

28-  izdk'k rjax ,oa /ofu rjax esa ?kqzo.k gksrk gSA ¼lR;@vlR;½ 

29-  ijkorZu }kjk ?kqzo.k mRiUu ugha fd;k tk ldrk gSA ¼lR;@vlR;½ 

30- p'eksa esa iksysjkbM dk mi;ksx fd;k tkrk gSA ¼lR;@vlR;½ 
 

Write True and False statement :-  

1.  Elctro-magnetic waves do not travel in vaccum (T/F) 

2.  In EM wave, electrical and magnetic fields are in same phase (T/F) 

3.  In EM wave, the oscillations of elctro-magnetic wave are sinosodial (T/F) 

4. Electro-magnetic waves are transverse waves (T/F) 

5. Electro-magnetic waves do not produces pressure (T/F) 

6. Hertz propounded wirelesstheory (T/F) 

7.  Electro-magntic wave moves with light velocity (T/F) 

8.  Wave length range 4x10-7 m to 7.8x10-7 m shows visible spectrum (T/F) 

9.  The frequency of Gamma ray is least (T/F) 

10.  The wave length of red colour is maximum (T/F) 

11.  The electro-magnetic wave are charged wave (T/F) 

12. The Human eye is affected by electrical field in EM wave (T/F) 

13. Electrical and magnetic oscillation are parallel (T/F) 

14. Ultravoilet rays have no medical use (T/F) 

15. The velocity of micro waves are 3x108 m/s (T/F) 
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16.  Newton propounded wave theory of light (T/F) 

17. Huygen produced wave theory of secondary wavelet (T/F) 

18. Young's experiment shows us that light is made up of waves (T/F) 

19. Sound wave are trans verse in nature (T/F) 

20. Polarization is found in sound waves (T/F) 

21. Bending of light is called  inter ference (T/F) 

22. Inter ference is possible with two coherent light sources (T/F) 

23. Fringe width has relation  �= 
d

Dλ
   (T/F) 

24.    The energy is not conserved in interference (T/F) 

25.    The phenomenon of interference occures in both in transverse and Longitunal wave (T/F) 

26.     Light waves travel in straight direction because its wave length is greater (T/F) 

27.     Light wave is a EM wave (T/F) 

28.     Polarization is found in light and sound wave (T/F) 

29.     Polarization is not produced by reflection (T/F) 

30.     Polariods are used in spactcles (T/F) 
    
 
 

y?kq ,oa nh?kZ mrjh; iz'u %y?kq ,oa nh?kZ mrjh; iz'u %y?kq ,oa nh?kZ mrjh; iz'u %y?kq ,oa nh?kZ mrjh; iz'u %    
Short and long Answer type questions :- 
1-  fo|qr&pqEcdh; rjaxs D;k gS\ buds pkj xq.k fyf[k;sA 
 vFkok 
 fo|qr&pqEcdh; rjaxs D;k gS\ budh eq[; fo'ks"krk;sa fyf[k;sA 
 What are Electro-Magnetic wave & Write there four properities. 

 or  

 What are Electro-Magnetic wave write main-features. 
 
2-  fo|qr pqEcdh; rjaxksa ds izk;ksfxd izn'kZu gsrq gVZt ds iz;ksx dk o.kZu djksA 
 vFkok 
 fo|qr&pqEcdh; rjaxksa ds gVZt ds iz;ksx dk o.kZu fuEu fcanqvksa ij dhft;s  
 (i) izk;ksfxd izca/k    (ii) izk;ksfxd fu"d"kZ 
 Explain Hertz experiment for electro-magnetic wave. 

 or  

 Explain Hertz experiment for E-M wave on following points. 

 (i) Exprimental arrangement (ii) experimental 
 
3-  fo|qr&pqEcdh; rjaxksa dk la{ksi esa bfrgkl fyf[k;sA 
 Write brief history of Electro Magnetic wave. 
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4-  fo|qr&pqEcdh; LiSDVªe D;k gS\ blds fofHkUu Hkkxkas dk o.kZu djksA 
 What is electromagnetic spectrum? Explain its different parts. 
 
5-  ok;qe.My dh fofHkUu irksZa ds uke fy[kdj muds HkkSfrd xq.k fyf[k;s\ 
 Write the name of different layers of Atmosphere and its physical properties. 
 
6-  vkstksu irZ dk egRo D;k gS\ xzhu gkml izHkko D;k gS\ 
 What is the importance of Ozone layer? What is Green house effect? 
 
7-  vk;u e.My D;k gS\ jsfM;ks rjaxksa ds izlkj.k vk;u e.My dh Hkwfedk crkvks\ 
 What is Inosphere? Explain the role of Inosphore in radio propagation. 
 
8-  ,d T.V. ,Vhuk dh Å¡pkbZ h gS fl) djks fd blls i`Foh ij d = hR2  nwjh rd 

flxuy  izkIr  gks ldrs gSA 
 vFkokvFkokvFkokvFkok    
 fl) djks fd  d = hR2    

The height of an Anteena is h prove that the signal can be obtain from it upto the disance of 

d= hR2  on the earth. 

  or 
 Prove that d= hR2  
 
9-  ,d T.V. Vkoj dh Å¡pkbZ h@2 gSA i`̀Foh dh lrg ds fdrus {ks=Qy ij bldk 

izlkj.k  fd;k tk ldrk gSA tcfd R i`Foh dh f=T;k gSA 
The height of T.V. Tower is h/2. How much signal area is covered by this on earth when  the radius 

of earth is R. 
 
10- T.V. izlkj.k ds O;kse rjaxksa dk mi;ksx D;ksa ugha fd;k tkrk gSA 
 Why the space wave is not used in T.V. transmission. 

 
11-  jsfM;ks rjaxksa dk izlkj.k fdu&fdu fof/k;ksa }kjk fd;k tk ldrk gSA lfp= 

le>kb;sA 
 Write down the different methods for Radio propagation? Explain with diagram. 
 
12-  yEch nwjh ds T.V. izlkj.k esa d`f=e mixzg dk mi;ksx D;ksa fd;k tkrk gS\ 
 Why is artificial sattelite used in long distance T.V. transmission. 
 
13-  rqY;dkyh mixzg D;k gS\ bldh i`Foh ls Å¡pkbZ fdruh gksrh gS\ nwjlapkj esa bldk 
 mi;ksx D;k gS\ 
 What is Geo-stationary sattelite? What is its height from earth? What is the use of it in 

 telecommunication. 

 



 16

14- fo|qr&pqEcdh; {ks= mRiUu gksus ds fy;s L- C dh dk;Z iz.kkyh le>kb;s\ 
 Explain the production of electro-Maganetic field with L-C circut. 
 
15- nksyuh fo|qr ,oa pqEcdh; {ks= esa D;k laca/k gksrk gSA le>kb;s fd fo|qr {ks= dh 

fo'ks"k Hkwfedk gksrh gS dSls\ 
 What is the relation between oscillating electric and magnetic field? Explain the special role of 
electric field. 

 
16-  fo|qr&pqEcdh; rjaxksa ds ÅtkZ LFkkukUrj.k dks le>kb;sA 
 Explain the energy transfer of electro-magnetic waves? 
 
17-  lw{e rjaxs fdls dgrs gSa\ budk jkMkj esas fdl rjg mi;ksx gksrk gSA 
 What is micro wave? How they are used in RADAR? 
 
18-  fuEu rjaxksa dh rjax nS/;Z fyf[k;s rFkk nks mi;ksx fyf[k;s & 
 (i)  xkek fdj.k  (ii) X fdj.k  (iii) vojDr izdk'k  (iv) ijkcSxuh fdj.k 
 Write the wave length and two uses of following waves. 

 (i) Gamma ray  (ii) X-ray  (iii) Infrared light  (iv) Ultravoilet ray 
 
19-  fofHkUu izdkj dh fo|qr&pqEcdh; rjaxksa dks muds rjax nS/;Z ds c<+rs Øe esa uke 

fy[kks mudh rjax nS/;Z vko`fr ,oa nks mi;ksx fy[kksA 
 Write down the name of different types of E-M waves in their increasing wave length order and write 
their frequency and two uses. 

 
20-  Hkw rjaxsa D;k gS\ y?kq rjax dk lapkj Hkw rjaxksa }kjk vf/kd nwjh rd D;ksa ugha fd;k tk 

ldrk gS\ 
 What is ground wave? Short waves can not be propagate of for long distance by ground wave, 
Why? 

 
21- ,d vkos'k 1]000 dEiu izfr lsds.M dh vko`fr ls nksyk;eku gSA blesa mRiUu fo|qr 
 pqEcdh; rjaxksa dk rjax nS/;Z Kkr dhft;sA       
           ¼mÙkj 3x105 ehVj½ 

The frequency of a vibrating charge particle is 1000 c/s find out the wave length of E-M wave related 
with this particle. 

           (Answer - 3x105m) 
22- lksfM;e izdk'k d rjax nS/;Z 5890 � gS bldh vko`fr Kku djksA 
          ¼mÙkj 5-9x1014 gVtZ½ 
 The wave length of sodium light is 5890�. Find out its frequency. 

(Ans - 5.0x1014 Hertz) 
23- 1850 � fofdj.k dh vko`fr Kkr djksA 
          ¼mÙkj 1-62x1015 gVtZ½ 
 Find out the frequency of 1850� radiation? 

          (Ans - 1.62 x 1015 Htz) 
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24-  vkdk'kok.kh Hkksiky 981 fdyks gVtZ ij izlkj.k djrk gS rks mldk rjax nS/;Z Kkr 
 dhft;sA 

 ¼mÙkj 305-81 ehVj½ 
 Radio station Bhopal transmits at 981 KHz then find out the wave length of  transmission. 

           (Ans 305.81 meter) 
 
25-  ,d T.V. Vkoj dh Å¡pkbZ 80 ehVj gSA ml o`Rr dh f=T;k Kkr djks tgka rd T.V. 
 flxuy izkIr fd;s tk ldrs gSaA tcfd i`Foh dh f=T;k R=6.4x10

6 ehVj gSA 
          ¼mÙkj 32 fdyksehVj½ 

The height of T.V. Tower is 80 meter find out the radius of that circle up to which the T.V. signals can 
be obtained. When the radius of earth is R=6.4x106m. 

            (Ans 32K.M.) 
    

rjax izdkf'kdh rjax izdkf'kdh rjax izdkf'kdh rjax izdkf'kdh WAVE OPTICS 
26-  U;wVu dh df.kdk fl)kar D;k gS\ blesa ,d dfe;k¡ gS\ 

 What is Newton's corpuscular theory? Write their demerits. 

27- gkbxu dk rjax fl)kar D;k gS\ blesa D;k dfe;k¡ gS\ 

 What is Huygen's wave theory? What is its demerits. 

28-  gkbxu dk f}rh;d rjafxdkvksa dk fl)kar D;k gS\ le>kb;sA 

 What is Huygen's theory of seconday wave let? Explain it. 
29-  rjaxzkx D;k gS\ ;g fdrus izdkj dk gksrk gS\ le>kb;sA 

 What is wavefront? How many types of wave fronts are there? Explain. 

30-  izdk'k ds v/;kjksi.k ds fl)kar dks le>kb;sA 

 Explain the principle of superposition of light. 

31- izdk'k ds O;frdj.k ls vki D;k le>rs gksA laiks"kh] fouk'kh O;frdj.k dks ifjHkkf"kr 

dhft;sA 
 vFkokvFkokvFkokvFkok 

 laiks"kh vkSj fouk'kh O;frdj.k ls D;k rkRi;Z gS\ buds fy;s vko';d izfrca/k
 fyf[k;sA 
 What do you know about interference of light.  
       Or 

 Define constructive and distructive interference. 
 
32-  izdk'k dk O;frdj.k D;k gS\ bldh vko';d 'krsZ D;k gSa\ 
 What is interference of light? Write the necessary condition for it. 
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33-  'kq) O;frdj.k izkIr djus ds fy;s vko';d 'krZ fy[kksA 
 Write down the condition for pure interference. 
 
34-  dyk lEc) L=ksr D;k gS\ D;k izdk'k ds nks Lora= L=ksr O;frdj.k mRiUu dj 
 ldrs gSa\ dkj.k lfgr O;k[;k djksA 

What is coherent source? Can the two independent sources of light produce interference?  Explain 

with reason? 

 

 

35-  ;ax ds f}fLYkV iz;ksx dk o.kZu djrs gq;s fÝtks dh O;k[;k djksA 
 vFkokvFkokvFkokvFkok 

 ;ax ds f}fLFkj iz;ksx ds o.kZu fuEu fcanqvks ij dhft;s& 
 (i) iz;ksx O;oLFkk   (ii) lS)kafrd js[kkfp=  (iii) izs{k.k vkSj O;k[;k 
 Explain the Young's double slit experiment and also explain fringes. 

or  

 Explain the young's double slit experiment on following points - 

 (i) Experimental arrangement    (ii) Theoretical ray diagram 

 (iii) observation and explanation. 

36-  ;ax ds f}fLyV iz;ksx esa fÝat dh pkSM+kbZ fdu&fdu ckrksa ij fuHkZj djrh gS O;k[;k  
 dhft;sA 
 In young's double slit experiment upon what factor cloes the frindge width depend. Explain it. 
37-  ;ax ds f}fLyV iz;ksx esa fÝat dh pkSM+kbZ dk O;atd O;qRiUu dhft;s  
 vFkok 

 fl) djks &     
d

Dλβ =  

 Deduce the expression for frindge width in young's double slit experiment? 

 or 

 Prove that     
d

Dλβ =  

38-  izdk'k dk fooZru D;k gSa\ _tqdksj }kjk fooZru dks le>kb;sA 
 What is diffraction of light? Explain the differaction with straight edge? 
39-  izdk'k ds O;frdj.k ls D;k gSa\ O;frdj.k vkSj fooZru esa vUrj Li"V djksA 
 What is the interference of light? Write the difference between interference and diffraction. 

40-  O;frdj.k ,oa fooZru esa dksbZ pkj vUrj fy[kks  
 Write the difference between interference and diffraction. 

41-  izdk'k ds ?kqzo.k ls vki D;k le>rs gSaA lery ?kzqfor izdk'k rFkk v?kzqfor izdk'k esa 
 vUrj Li"V djksA 
 What do you know about polarization Write the difference between plane polarized  light and 

unpolarized light. 
42-  VqjeSfyu fØLVy iz;ksx }kjk ?kqzo.k dh ?kVuk dks le>k;s\ 
 Explain the phenomenm of polarization by Tourmaline crystal Experiment. 
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43-  lery /kzqfor izdk'k ds dEiu ry vkSj /kzqo.k ry ls vki D;k le>r gks\ fp= 
 [khapdj le>kb;s\ 
 What do you know about the plane of  vibration and plane of polarization in plane   

 polarized  light? Explain with diagram  

44-  ijkorZu }kjk ?kqzo.k mRiUu gksus dh ?kVuk dks le>kb;s\ 
 Explain the phenomenm of production of polorization by reflection. 

45-  czqLVj dk fu;e D;k gS\ fl) djks fd /kqzo.k dks.k ij vkifrr gksus ij ijkofrZr ,oa 
 vioZfrr izdk'k fdj.k ijLij yEcor gksrh gSA 
 What is Brewster's law? prove that the refracted ray and reflected ray are mutually  perpendicular 

when the light ray is incident at an angle of polarization. 
46-  izdk'k ds ?kqzo.k ls D;k le>rs gks\ izdh.kZu }kjk /kqzo.k D;ksa gks tkrk gS\ 
 What is polarization? Explain production of polarization by scattering. 

47-  izdk'k rjax vuqizLFk rjax gS iz;ksx }kjk fl) dhft;sA 
 Through an experiment prove that light waves are transverse in nature. 
48- iksysjkbM D;k gS\ bldh cukoV] dk;Z fof/k rFkk nks mi;ksx fyf[k;sA 
 What is polariod? Write its construction, working and two uses. 

 
49-  iksysjkbM dh lgk;rk ls v/kzqfor izdk'k] vkaf'kd /kzqfor izdk'k vkSj /kqzfor izdk'k dh 
 igpku dSls dh tkrh gSA 
 How do we detect unpolarised light, partially polarized light and polarized light with   
 polarids? 
 
50-  /ofu rjax rFkk fo|qr&pqEcdh; rjax ds vUrj fyf[k;sA 
 Write down the differences between sound wave and electro-magntic wave? 

 
 
51-  dkj.k crkb;s %& dkj.k crkb;s %& dkj.k crkb;s %& dkj.k crkb;s %&  GIVE REASON 
 v-  lkcqu ds ?kksy esa cqycqys jaxhu D;ksa fn[kkbZ nsrs gSa\ 
 Why do soap bubble appear to be coloured? 
 c-  tc de Å¡pkbZ ij ok;q;ku mij ls mM+rk gqvk fudyrk gS rks T.V. LØhu ij 

fp= fgyrs gq;s fn[krs gSaA 
The picture of T.V. Screen is disturbed when an aeroplane moves out at some height nearer to 
earth why? 

 
52-  nks rjaxksa dh rhozrkvksa dk vuqikr 1%9 gSA ;fn ;s nksuksa rjaxs O;frdj.k djrh gSa 
 rks egRre vkSj U;wure lEHko rhozrkvksa dk vuqikr Kkr djksA ¼mRrj 4%1½ 
 The ratio of intensity of two wave is 1:9 of these two wave are interfering then   

 find out the ratio of maximum and minimum possible intensity? 

53-  ;ax ds f}fLyV iz;ksx ds fLyV insZ ls 1-5 ehVj dh nwjh ij fLFkr gSA 6000 A. 
 ds izdk'k ds fy;s fÝt dh pkSM+kbZ 1-00 feyh rks fLyVks ds chp dh nwjh Kkr 
 djksA          ¼mRrj 0-9 feyh½ 



 20

In young's experiment is screen at 1.5m distance from slit. The fringe width is 1.00m.m. for 6000A. 

light wave then find out the distance between two slits?    Ans (0.9m.m) 
54-  ,d ikjn'khZ ek/;e dk /kqzo.k dks.k 600 gSA rks fuEu Kkr djks & 
 i) ek/;e dk viorZukad  (ii) vioZru dks.k    ¼mRrj (i)   3 (ii) 300½ 
 The angle of polarization of a transpereant medium is 600 then find out following- 

 (i) Refraction index of medium  (ii) Angle of refraction   (Ans (i)  3  (ii) 300) 
55- ;ax ds iz;ksx esa nks fLyVksa ds chp dh nwjh 0-03 lseh gS rFkk 1-5 ehVj nwj j[ks 
 insZ ij pkSFkh nhIr fÝt dsUnzh; fÝt ls 1lseh nwjh ij gS rks izdk'k dk rjax              
 nS/;Z Kkr djksA        ¼mRrj 5000A0½ 

  The distance between two slits 0.03 c.m. in young's double slit experiment and the fourth fringe is 

at 1 c.m. distance from central fringe and the distance of screen 1.5m  from slit then find out the 

wave length of light?        (Ans 5000A0) 
56-  ;ax ds iz;ksx esa fÝtksa dh pkSM+kbZ 4 feeh gSA dsUnzh; fÝt ls r`rh; vnhIr fÝt dh 

nwjh Kkr dhft;sA        ¼mRrj 10 feeh½ 
 The fringe width is 4 m.m. in young's experiment find out the distance of third fringe from central 

fringes?          (Ans 10m.m.) 
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bZdkbZ 2 & fdj.k izdk'kdh bZdkbZ 2 & fdj.k izdk'kdh bZdkbZ 2 & fdj.k izdk'kdh bZdkbZ 2 & fdj.k izdk'kdh     

Unit-2  -  Ray Optics 

oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    
OBJECTIVE TYPE QUESTION: 

1 fuEufyf[kr esa dkSu lk laca/k lgh gS 
 (v) aµg = aµw x wµg   (c)         aµw 

                wµg 

 (l) aµg= aµw = 0   (n) aµw x wµg x aµg = 1 

 Which of the following relation is correct - 

 (a) aµg = aµw x wµg   (b)         aµw 

                wµg 

 (c) aµg= aµw = 0   (d) aµw x wµg x aµg = 1 
 
2- yssalks esa o.kZ foiFku dk dkj.k gSA 
 ¼v½ muds fuekZ.k esa nks"k  ¼c½ ysalks dk cM+k vkdkj 
 ¼l½ oLrq dh ysal ls vfr fudVrk ¼n½ ysal ds inkFkZ }kjk o.kZ foiFku 

 The reason for chromatic aberration in lens is -   
 (a) Defects in their making  (b) Big size of lenses 
 (c) Closeness of object with lens (d) Chromatic aberration by material of prism   

3- fopyu foghu fo{ksi.k izkIr djrs gSa  
 ¼v½ ,d lk/kkj.k fizTe }kjk 
 ¼c½ fHkUu&fHkUu dk¡p rFkk fHkUu&fHkUu dks.kksa ds nks fizTeksa }kjk 
 ¼l½ nks fHkUu&fHkUu dk¡p ds leku dks.kksa ds fizTe }kjk  
 ¼n½ nks leku dk¡p ds fizTe ftuds dks.k fHkUu gksA 

 Dispersion without deviation is obtained - 
 (a) By ordinary prism   
 (b) By two prism of different material having different angles  
 (c) By two prism of different material having same angles 
 (d) By two prisms of same material having different angles 
 
4- CO2 xSl dk mRltZu LisDVªe gksrk gSA 
 ¼v½  jsf[ky  ¼c½ cS.M  
 ¼l½ larr  ¼n½ n`'; {ks= esa ugha 

 The emission spectrum of CO2 gas is - 
 (a) Line   (b) Band  
 (c) Continuous  (d) Not in visible region 

= aµg 

= aµg 
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5- leqnz dk ty uhyk fn[kkbZ nsrk gSA 
 ¼v½ bldh xgjkbZ vf/kd gSA 
 ¼c½ leqnz dh ryh uhyh gSA  
 ¼l½  izdk'k ds ijkorZu  rFkk ty d.k }kjk izdh.kZu gksrk gSA  
 ¼n½ ikuh dh vf/kd ek=k ds dkj.k  

 Sea water seems blue - 
 (a) Due to its depth  
 (b) Bottom of sea is blue 
 (c)  Reflection of light and scattering of light through water 
 (d) Due to huge amount of water 

6- vkifrr fdj.k fLFkj j[kdj niZ.k dks 300 ls ?kqek fn;k tk;s rks ijkofrZr fdj.k ?kwe 
tk;sxhA 

 ¼v½ 150 ¼c½ 300 ¼l½ 600 ¼n½ 900  

 When a mirror is rotated by angle 300 the reflected ray is rotated by angle.  
 (a) 150  (b) 300  (c) 600  (d) 900    
 
7- oLrq ls cM+k o vkHkklh izfrfcEc izkIr gksrk gSA  
 ¼v½ vory niZ.k }kjk ¼c½ mRry niZ.k }kjk 
 ¼l½ lery niZ.k }kjk  ¼n½ vory ySal }kjk 

 We can get big and virtual image by. 
 (a) By concave mirror  (b) By convex mirror 
 (c) By plane mirror  (d) By concave lens. 
 
8- lpZ ykbZV esa iz;qDr niZ.k gSA  
 ¼v½ mRry    ¼c½ xksyh; vory 
 ¼l½ ijoy;kdkj vory  ¼n½ ijoy;kdkj mRry 

 Mirror used in search light is - 
 (a) Convex   (b) Spherical concave 
 (c) Parabolic concave  (d) Parabolic convex. 
 
9- izdkf'kd rUrq dh dk;Ziz.kkyh &&&&&&&&ij vk/kkfjr gSA  
 The working of optical fiber depends on ---------------- 
 
10- ,d ySal dh Qksdl nwjh &&&&&&&&&& jax ds fy;s lokZf/kd gksrh gSA  
 The focal length of a lens is maximum for ------------------ colour. 
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11- vuar ls tc oLrq dks vkfHklkfjd ysal ds Qksdl dh vksj yk;k tkrk gS rks oLrq dk 

izfrfcEc&&&&&&&&&gksrkA 
 When an object is brought from infinity, towards the focus of a converging lens then the 

image formed becomes -------------------- 

12- 12-5 D {kerk dk mRry ysal vkSj 2-5 D {kerk dk vory ysal lEidZ esa j[kk x;k 
gSA la;qDr ysal dh {kerk &&&&&&&&&&gksxhA  

 A convex lens of 12.5D power and a concave lens of 2.5 D power are kept in contact then. 
The power of lens combination will be ………… 

 
13- o.kZ fo{ksi.k &&&&&&&&  esa ugh gksrk gSA 
 Dispersion does not appears in ……………………… 
 
14- vory niZ.k esa tc oLrq oØrk dsUnz ij j[kh gks rks izfrfcEc oØrk dsUnz ij curk 

gS ;g vkHkklh mYVk rFkk oLrq ds leku gksrk A  
¼lR;@vlR;½  

 When an object is placed at the centre of curvature of a concave mirror, then the image 
obtained at the centre of curvature is virtual, inverted and same as the object. 

(True/False) 
 

15- ;fn i`Foh ij dksbZ ok;qe.My u gks rc i`Foh ls vkleku dk jax dkyk fn[kkbZ nsxkA 
¼lR;@vlR;½  

 If the earth had no atmosphere, the sky would appear black.  
(True/False) 

16- LisDVªksehVj esa nwjn'khZ dk dk;Z fdj.kksa dks lekukUrj djuk gSA  
¼lR;@vlR;½  

 In a spectrometer the function of telescopes is to provide parallel beam of light. 
(True/False) 

 
17- jsf[ky o.kZØe dks v.kqo.kZØe Hkh dgrs gSA  

 ¼lR;@vlR;½  
 Line spectrum is also known as molecular spectrum. 

(True/False) 
18- dk¡p&ok;q ;qXe ds fy;s yky jax dk Økafrd dks.k vf/kdre gksrk gSA 

¼lR;@vlR;½ 
 For a glass-air combination the value of critical angle is maximum for red colour. 

(True/False) 
19- ijkorZu ds fu;e vfu;fer i`"Bksa ij ykxw ugha gksrs gSa A 

   ¼lR;@vlR;½ 
 Laws of reflection are not true for irregular surfaces.     (True/False) 
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20- tksM+h cukb;s & 
   A          B   

¼v½ js[kh; vo/kZu   ¼v½ Sin i////Sin r 
¼c½ LuSy fu;e   ¼c½ iwoZ vkarfjd ijkorZu 
¼l½ ejhfpdk    ¼l½ QkmugkWQj js[kk;sa 
¼n½ le{k n`f"V o.kZØeekih ¼n½ I/O 
¼M½ lkSj o.kZØe   ¼M½ fopyu jfgr fo{ksi.k  

 Match the following 
A     B 

 (i) Linear magnification  (i)  Sin i /Sin r 
 (ii) Snell's law    (ii) Total internal reflection 
 (iii) Mirage    (iii) Fraunhofer lines 
 (iv) Direct vision spectrometer  (iv) I/O 
 (v) Solar spectrum   (v) Dispersion without deviation  
    
y?kq mRrjh; ,oa nh?kZ mRrjh; iz'u %&y?kq mRrjh; ,oa nh?kZ mRrjh; iz'u %&y?kq mRrjh; ,oa nh?kZ mRrjh; iz'u %&y?kq mRrjh; ,oa nh?kZ mRrjh; iz'u %&    
Short answer type and long answer type questions: 

1- izdk'k ljy js[kk esa pyrk D;ksa izrhr gksrk gSA 
 Why do light seems to be traveling in a straight line ? 

2- ijkorZu ds fu;e fyf[k;sA 
 Write the laws of reflection. 

3- nk<+h cukus ds fy;s vory niZ.k dk iz;ksx fd;k tkrk gS D;ksa  \ 
 Why is a concave mirror used for shaving purpose ? 

4- mRry niZ.k }kjk cus izfrfcEc dh eq[; fo'ks"krk;sa fyf[k;sA 
 Write down the main characteristics of image formed by convex mirror. 

5- xksyh; niZ.k dh Qksdl nwjh izdk'k ds rjax nS/;Z ij fuHkZj ugha djrhA Li"V 
dhft;s D;ksa\ 

 The focal length of spherical mirror does not depend upon wavelength of light. Explain 
why ?. 

6- izdk'k dk viorZu fdl fLFkfr esa gksrk gS \ 
 What is the condition for refraction of light ? 
 
7- izdk'k dh mRØe.kh;rk dk fl)kar fyf[k;sA 
 Write the principle of reversibility of light. 
 
8- ØkfUrd dks.k ,oa vorZukad esa laca/k crkbZ;sA 
 Deduce the relationship between critical angle and refractive index? 
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9- dkj.k Li"V dfj;s & 

¼v½ ikuh esa Mqckus ij ,d lh/kh NM+ eqM+h gqbZ D;ksa fn[kkbZ nsrh gS \ 
¼c½ rkjs fVefVekrs gSa tcfd pUnzek ugh \ 
¼l½ ghjk D;ksa pedrk gSa \ 
¼n½ vkdk'k uhyk D;ksa fn[kkbZ nsrk gS \ 
¼M½ ijkcSaxuh fofdj.k nsus okys ySEiksa esa cYc DokV~tZ ds cuk;s tkrs gS]dkap ds 

ugha \ 
¼p½ lw;ksZn; rFkk lw;kZLr ds le; lw;Z yky fn[kkbZ nsrk gS D;ksa \ 

Explain with reason:- 
 (i) When a rod is immersed in water it looks bent. Why? 
 (ii) Why do the stars twinkle and the moon does not? 
 (iii) Why does a diamonds sparkles? 
 (iv) Why does the sky look blue? 
 (v) The ultraviolet lamps are made up of quartz instead of glass why ? 
 (vi) Why does the sun look red at the time of sunrise and sunset? 

 
10- dk¡p dh lk/kkj.k IysV ls fuxZr 'osr izdk'k dk o.kZ fo{ksi.k D;ksa ugh gksrk\ 
 Why does the ray out coming of light from a plan glass plate did not dispersed.  
 
11- dks.kh; o.kZ fo{ksi.k dh ifjHkk"kk ,oa lw= fyf[k;sA 
 Write definition and formula of angular dispersion. 

12- fo{ksi.k {kerk dk ek=d D;k gS \ fl} djks fd fo{ksi.k {kerk fizTe ds dks.k ij 
fuHkZj ugha djrh gSA 

 What is the unit of dispersive power? Prove that the dispersive power does not depend on 
angle of prism? 

13- fopyu jfgr fo{ksi.k rFkk fo{ksi.k jfgr fopyu esa vUrj Li"V dhft;s 
 Distinguish between dispersion without deviation and deviation without dispersion. 

14- ÝkWugksQj js[kk;s D;k gS \ budss izeq[k mi;ksx fyf[k;sA 
 What are Fraunhoffer lines? Write their main uses.  

15- lw;Z ls vo'kks"k.k LisDVªe gh D;ksa izkIr gksrk gSA dkj.k Li"V dhft;sA 
 Why only absorption spectrum is received from the sun? Explain. 
 
16- fo{ksi.k jfgr fopyu ls vki D;k le>rs gSa\ blds fy;s vko';d 'krZ izkIr dfj;sA 
 What do you mean by deviation without dispersion? Deduce the condition for the same. 

17- 'kq) o.kZØe ls vki D;k le>rs gS\ bls izkIr djus ds fy;s vko';d 'krsZa D;k gSa\ 
 What do you understand by pure spectrum? What are the conditions to obtain this? 
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18- fizTe ds vioZrukad Kkr djus dk o.kZu fuEu 'kh"kZdksa ds varZxr dhft;s %& 
 ¼v½ lw=   ¼c½ fizTe dks.k rFkk U;wure fopyu dks.k 
 ¼l½ lko/kkfu;¡k 
 Describe the method for determining refractive index of material of prism under following 

heads. 
 1.  Formula  2. Angle of Prism and Angle of minimum deviation 
          3.  Precautions. 

19- ysalksa ls cus izfrfcEc esa esa dkSu&dkSu ls nks"k laHko gSa \ 
 What are the possible errors in the image formed by a lens? 

20- izdk'k ds izdh.kZu ls vki D;k le>rs gSa \ jSys ds izdh.kZu dk fu;e fyf[k;s\ 
 What do you mean by scattering of light? Write down the Rayleigh's scattering law.  
 
21- fl) dhft;s aµw  x  wµg  x gµa = 1 

 Prove that aµw x wµg x gµa = 1 

22- okLrfod o vkHkklh xgjkbZ ds fy;s O;atd LFkkfir dfj;s A 
 Establish the expression (relationship) for real and apparent depth. 

23- iw.kZ vkUrfjd ijkorZu ls vki D;k le>rs gSa \ bldh 'krsZa fyf[k;sA 
 What do you understand by total internal reflection? Write its conditions. 

24- irys ySal ds fy;s ySal fuekZrk ds lw= dh LFkkiuk dhft;sA 
 Deduce the lens maker's formula for a thin lens. 

25- mRry ySal dh Qksdl nwjh Kkr djus dh u-v fof/k dk o.kZu dfj;sA 
 Describe the method of determining focal length of lens by u-v method. 

26- ,d mRry niZ.k ds lkeus fdlh oLrq dks mlds /kzqo ls Øe'k% nwj ys tk;s rks mlds 
izfrfcEc esa dSls dSls ifjorZu gksxk \ 

 If an object infront of a convex mirror moves far away from the pole, then what type of 
changes will occur in its image.  

27- izdkf'kd rUrq D;k gS \ bldh dk;Z fof/k fdl fl)akr ij vk/kkfjr gS \ 
 What are optical fibers? On what principle does its working depend? 

------------- 
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bdkbZ&3 bdkbZ&3 bdkbZ&3 bdkbZ&3     izdk'kh; ;a=izdk'kh; ;a=izdk'kh; ;a=izdk'kh; ;a=    

Unit-3   Optical Instrument 
 

izR;sd iz'u esa fn;s x;s fodYiksa esa ls lgh fodYi pqfu;s AizR;sd iz'u esa fn;s x;s fodYiksa esa ls lgh fodYi pqfu;s AizR;sd iz'u esa fn;s x;s fodYiksa esa ls lgh fodYi pqfu;s AizR;sd iz'u esa fn;s x;s fodYiksa esa ls lgh fodYi pqfu;s A    

¼1½ fudV n`f"V nks"k ds fuokj.k gsrq mi;ksx fd;k tkrk gS %& 
  ¼v½ mÙky ySal dk   ¼c½ vory ySal 

 ¼l½ xksyh; csyukdkj ySal dk ¼n½ voryksÙky ySalksa dk 
 Short sightedness is removed with the use of – 
 (a) Convex lens   (b) Concave lens 
 (c) Spherical-cylindrical lens  (d) Concavo-convex lens. 

¼2½ us= ySal }kjk jsfVuk ij cuk;k x;k izfrfcEc gksrk gS %& 
 ¼v½ okLrfod vkSj lh/kk       ¼c½ okLrfod vkSj myVk 
 ¼l½ jsfVuk ds lkeus m/okZ/kj lh/kk ¼n½ jsfVuk ds ihNs m/okZ/kj lh/kk 
 Image formed by the eye lens on the retina is – 
 (a) Real and upright      (b) Real and inverted 
 (c) Vertically upright infront of retina (d) Vertically erect behind the retina.  

¼3½ ,d LoLF; us= ds fy, Li"V n`f"V dh U;wure nwjh gksrh gS %& 
 ¼v½ 25 ls-eh- ¼c½ 50 ls-eh- ¼l½ 25 ehVj ¼n½ vuar 
 For a healthy human eye the least distance of distinct vision is – 
 (a) 25 cm.  (b) 50 cm.  (c) 25 m. (d) Infinity.  

¼4½ ,d oLrq dk izfrfcEc vk¡[k ds jsfVuk ij izkIr gksrk gS %& 
 ¼v½ okLrfod vkSj lh/kk ¼c½ okLrfod vkSj mYVk 
 ¼l½ dkYifud vkSj lh/kk  ¼n½ dkYifud vkSj mYVk 
 Image formed by an object on the retina is – 
 (a) Real and erect  (b) Real and inverted. 
 (c) Imaginary and erect (d) Imaginary and inverted. 

¼5½ vk¡[k ds fuEu nks"k fuokj.k ds fy, mÙky ySal dk mi;ksx fd;k tkrk gS%& 
 ¼v½ fudV n`f"V   ¼c½ nwjn`f"V   

¼l½ n`f"V oS"kE;   ¼n½ buesa ls dksbZ ugha 
 Convex lens is used to remove the following defect of eye- 
 (a) Short sightedness  (b) Long sightedness 
 (c) Astigmatism   (d) None of these 

¼6½ la;qDr lw{en'khZ esa usf=dk dh Qksdl nwjh vfHkn`';d dh Qksdl nwjh ls%& 
 ¼v½ de gksrh gS   ¼c½ vf/kd gksrh gS  

¼l½ cjkcj gksrh gS   ¼n½ buesa ls dksbZ ugha 
 In compound microscope the focal length of eye lens is- 
 (a) Less than objective lens (b) Greater than objective lens 
 (c) Equal to objective lens (d) None of these. 
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¼7½ ,d nwjn'khZ ds vfHkn`';d vkSj usf=dk dh Qksdl nwfj;k F vkSj f gSa A 
nwjn'khZ dh vkoZ/ku {kerk gksxh %& 

 ¼v½  F+f ¼c½ F-f  ¼l½ F/f  ¼n½ f/F 
 In a telescope the focal length of objective and eye lens are F and f  respectively 

the magnifying power of telescope will be- 
 (a) F+f  (b) F-f  (c) F/f  (d) f/F 

¼8½ us= dk og nks"k tks csyukdkj ySal dh lgk;rk ls nwj fd;k tkrk gS %& 
 ¼v½ nwj n`f"V ¼c½ fudV n`f"V ¼l½ tjk n`f"V ¼n½ n`f"V oS"kE; 
 The defect of eye which is removed by cylindrical lens is- 
 (a) Long sightedness (b) Short sightedness (c) Presbyopia (d) Astigmatism 

¼9½ mÙky ySal dk mi;ksx fuEu nks"k dks nwj djus ds fy, fd;k tkrk gS %& 
 ¼v½ fudV n`f"V nks"k ¼c½ nwj n`f"V nks"k ¼l½ n`f"V oS"kE; ¼n½ tjk n`f"V nks"k 
 Convex lens is used to remove the following defect. 

(a) Short sightedness  (b) Long sightedness  (c) Astigmatism (d) Presbyopia 

¼10½ ,d la;qDr lw{en'khZ esa vfHkn`';d vkSj usf=dk dh vkoZ/ku {kerk Øe'k% m1 
o m2 gSaA lw{en'khZ dh vkoZ/ku {kerk gksxh %& 

 ¼v½ m1 + m2  ¼c½  2

1

m

m

 ¼l½ m1 - m2   ¼n½ m1 x m2 

 In a compound microscope the magnifying power of objective and eye lens are m1 

and m2. The magnifying power of compound microscope is – 

 (a) m1 + m2  (b) 
2

1

m

m
  (c) m1 - m2   (d) m1 x m2 

¼11½ nwjn'khZ esa vf/kd foHksnu ds fy, %& 
¼v½ vfHkn`';d dh Qksdl nwjh vf/kd gks  
¼c½ usf=dk dh Qksdl nwjh vf/kd gks  

 ¼l½ usf=dk dh Qksdl nwjh de gks  
¼n½ vfHkn`';d dk }kjd vf/kd gks 

 For high resolving power in a telescope- 
(a) The focal length of objective lens should be more. 
(b) The focal length of eye lens should be more. 
(c) The focal length of eye lens should be less. 
(d) The aperture of objecting lens should be more. 

¼12½ nwjn'khZ dh vkoZ/ku {kerk c<+kus ds fy, %& 
 ¼v½   fo > fe 
 ¼c½   fo < fe 
 ¼l½  nksuksa ySalksa dh Qksdl nwfj;ka de gksuh pkfg;sA  
 ¼n½  nksuksa ySalksa dh Qksdl nwfj;ka vf/kd gksuh pkfg;s A  
 To increase the magnifying power of a telescope- 
 (a) fo > fe (b) fo < fe (c) The focal length of both lens should be less 
 (d) The focal length of both lens should be more. 
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¼13½ ,d la;qDr lw{en'khZ dh yEckbZ c<+kus ij mldh {kerk %& 
 ¼v½ ?kV tkrh gS   ¼c½ c<+ tkrh gS  
 ¼l½ vifjofrZr jgrh gS  ¼n½ mijksDr esa ls dksbZ ugha  
 On increasing the length of compound microscope, Its magnifying power – 
 (a) Decreases     (b) Increases     (c) No change   (d) None of these. 

¼14½ ,d la;qDr lw{e n'khZ esa vfHkn`';d ySal gksrk gS %& 
 ¼v½ cM+s }kjd dk mÙky ySal       ¼c½ cM+s }kjd dk vory ySal 
 ¼l½ NksVs }kjd ¼O;kl½ dk mÙky ySal   ¼n½ NksVss }kjd dk vory ySal 

In a compound microscope the objecting lens is a – 
 (a) Convex lens of big aperture (b) Concave lens of big aperture 
 (c) Convex lens of small aperture (d) Concave lens of small aperture. 

¼15½ nwjn'khZ ds vfHkn`';d dk O;kl vf/kd gksrk gS %& 
 ¼v½ vf/kd foHksnu {kerk ds fy,  ¼c½ vf/kd voZ/ku {kerk ds fy, 
 ¼l½ cukus esa ljy gks blfy,    ¼n½ mi;ksx esa ljy gks blfy, 
 The objective lens of a telescope is of more diameter- 
 (a) To have more resolving power (b) To have more magnifying power 
 (c) Because it is easy to make (d) Because it is easy to use.  

¼16½ jhMahax ySl ds fy, iz;qDr djrs gSa %& 
 ¼v½ de Qksdl nwjh dk vory ySl  

¼c½ de Qksdl nwjh dk mÙky ySl 
 ¼l½ vf/kd Qksdl nwjh dk vory ySl  

¼n½ vf/kd Qksdl nwjh dk mÙky ySl 
 The lens used for reading purpose is- 
 (a) Concave lens of less focal length  

(b) Convex lens of less focal length 
 (c) Convace lens of more focal lens  

(d) Convex lens of more focal length.  

¼17½ la;qDr lw{en'khZ dh vko/kZu {kerk vf/kd gksrh gS ;fn usf=dk dh Qksdl 
dh nwjh gS %& 

 ¼v½ vf/kd       
¼c½ de  
¼l½ vfHkn`';d dh Qksdl nwjh ds cjkcj   
¼n½ vfHkn`';d dh Qksdl nwjh ls de 
The magnifying power of compound microscope is more, if the focal length 
of eye lens is- 
(a) More   
(b) Less  
(c) Equal to the focal length objecting 
(d) Less than the focal length of objective lens. 
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¼18½ ,d nwjn'khZ dh lgk;rk ls pUnzek dk QksVksxzkQ fy;k x;k A ckn esa ik;k 
x;k fd nwjn'khZ ds vfHkn`';d ij ,d eD[kh cSB xbZ Fkh QksVksxzkQ esa %& 

 ¼v½ eD[kh dk izfrfcEc cusxk    
¼c½ eD[kh dk vkdkj c<+ tkosxk  

 ¼l½ pUnzek ds izfrfcEc dh rhozrk de gks tk;sxh  
¼n½ dksbZ izHkko ugha iM+sxkA 

 A photograph of the moon was taken with the help of a telescope. Later on 
in the photograph it was found that a fly was sitting on the objective lens- 

 (a) The image of fly will be formed           
(b) The size of fly will increase 

 (c) The intensity of image of moon will decreased 
(d) Their will be no effect. 

¼19½ [kxksyh; nwjn'khZ esa vfHkn`';d vkSj usf=dk dh {kerk,¡ Øe'k% 5 vkSj 20 
Mk;ksIVj gS A buls izfrfcEc vuar ij curk gS A nwjn'khZ dh vko/kZu {kerk 
gksxh %& 

 ¼v½ 5  ¼c½ 4   ¼l½ 10  ¼n½ 100 
 In an Astronomical telescope the optical power of objective and eye lens 

are 5D and 20D. If the image is formed at infinity the magnifying power of 
telescope will be- 

 (a) 5  (b) 4  (c) 10  (d) 100 

¼20½ ;fn vfHkn`';d ySal dh Qksdl nwjh c<+k nh tk; rks %& 
 ¼v½ lw{en'khZ dh vko/kZu {kerk c<+sxh fdUrq nwjn'khZ dh ?kV tk;sxh  
 ¼c½ lw{en'khZ vkSj nwjn'khZ nksuksa dh vko/kZu {kerk c<+ tk;sxh  
 ¼l½ lw{en'khZ vkSj nwjn'khZ nksuksa dh vko/kZu {kerk ?kV tk;sxh 
 ¼n½ lw{en'khZ dh vko/kZu {kerk ?kVsxh fdUrq nwjn'khZ dh c<+ tk;sxh  
  

If the focal length of objective lens is increased then- 
(a) The magnifying power of compound microscope will increase but that 

of telescope will decreases 
(b) The magnifying power of both the compound microscope and 

telescope will increase. 
(c) The magnifying power of both compound microscope and telescope 

will decrees. 
(d) The magnifying power of compound microscope will decrease that of  
 telescope will increase. 

¼21½ fdlh [kxksyh; nwjn'khZ essa vfHkn`';d dh Qksdl nwjh 100 lseh rFkk usf=dk 
dh 2 lseh gS A lkekU; vk¡[k ds fy, nwjn'khZ dh vko/kZu {kerk gksxh %& 

 ¼v½ 50   ¼c½ 10  ¼l½ 100 ¼n½ 1@5 
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 In an astronomical telescope the focal length of objective lens is 100 cm. 
and eye lens is 2 cm. For normal eye the magnifying power of telescope 
will be- 

 (a) 50  (b) 10  (c) 100 (d) 1/5 

¼22½ lw{en'khZ ds vfHkn`';d dh Qksdl nwjh %& 
 ¼v½ dqN Hkh gks ldrh gS  ¼c½ usf=dk dh Qksdl nwjh ls de gksrh gS 
 ¼l½ usf=dk dh Qksdl nwjh ds cjkcj gksrh gS ¼n½ usf=dk dh Qksdl nwjh ls 

vf/kd gksrh gSA  
 The focal length of objective lens of compound microscope- 
 (a) Can be of any value  (b) Less than the focal length of eye lens 
 (c) Equal to the focal length of eye lens.  

(d) More than the focal length of eye lens. 

¼23½ ,d la;qDr lw{en'khZ ds vfHkn`';d ySal dh vkoZ/ku {kerk 8 gSA ;fn 
lw{en'khZ dh vkoZ/ku {kerk 32 gks rks usf=dk dh vkoZ/ku {kerk Kkr 
dhft,A  

 ¼v½ 4   ¼c½ 10  ¼l½ 20  ¼n½ 40 
 The magnifying power of a compound microscope is 32 and the 

magnifying power of the objective lens is 8. Find the magnifying power of 
eye lens. 

 (a) 4  (b) 10  (c) 20  (d) 40 

¼24½ n`'; izdk'k dh rjax nS/;Z gksrh gSA  
 ¼v½ 3000 µm ls 0.4 µm rd   ¼c½ 0.4 µm ls 0.79 µm rd   

¼l½ 0.79 µm ls 100 µm rd ¼n½ 0.1 cm ls 30 cm. rd 
The wave length of visible light is- 
(a) 3000 µm to 0.4 µm  (b) 0.4 µm to 0.79 µm 
(c) 0.79 µm to 100 µm  (d) 0.1 cm. to 30 cm.     

¼25½ ;fn QksVksxzkfQd dSejs esa vfHkn`';d ySal dh Qksdl nwjh 10 lseh- rFkk ySal 
dk }kjd 5 fe-eh- gS] rks mldh f la[;k gksxh&  

 ¼v½ 20   ¼c½ 400 ¼l½ 0-05  ¼n½ 4-00 
 If the focal length of the objective lens in a photographic camera is 10cm. 

and the aperture is 5 mm. then the F number will be- 
 (a) 20  (b) 400 (c) 0.05  (d) 4  

 
 

fjDr LFkku dh iwfrZ dhft,AfjDr LFkku dh iwfrZ dhft,AfjDr LFkku dh iwfrZ dhft,AfjDr LFkku dh iwfrZ dhft,A    
 (Fill in the blanks) 

¼26½ us= ySal vkSj jsfVuk ds chp dh nwjh c<+ tkus ij &&&&& nks"k mRiUu gks 
tkrk gSA 



 32

  When distance between eye lens and ratina increases the ---------- defect is 

obtained.  

¼27½ vk¡[k esa izos'k djus okys izdk'k dh ek=k &&&&& }kjk lkeaftr gksrh gSA 
  The amount of light entering the eye is controlled by -----------. 

¼28½ csyukdkj ySal }kjk us= ds &&&&&& nks"k dk fuokj.k fd;k tkrk gSA 
  Cylindrical lens is used to remove ---------- defect. 

¼29½ ;fn jsfVuk esa &&&&& vuqifLFkr gksrs gSa rks us= esa jax va/kRo (Colour 
blindness) dk nks"k gksrk gSA 

  If ---------- is absent in the retina then it causes colour blindness. 

¼30½ vk¡[k dh lqxzkfgrk &&&&& jax ds fy;s lokZf/kd gksrh gSA 
  The sensitivity of eye is maximum for ---------- colour. 

¼31½ nwjn'khZ es iz;qDr ySal &&&&& jax ds fy;s vko.kZd gksrk gSA 
  The lens used in Telescope is achromatic to ----------- colour. 

¼32½ fØdsV eSp esa ?kqM+nkSM+ vkfn ns[kus ds fy;s ck;uks&D;wyj dk mi;ksx djrs 
gSa D;ksafd blesa &&&&& fp= curs gSaA 

  To watch cricket match and horse race we use binoculars because the image 

formed is ----------- in it. 

¼33½ fdlh ;a= }kjk nks oLrqvksa dks vyx&vyx ns[kus dh {kerk dks &&&&& 
dgrs gSaA 

  The ability of a device to see object distinctly is called ---------. 

¼34½ la;qDr lw{en'khZ dh uyh dh yackbZ &&&&& gksrh gS tc vafre izfrfcEc 
vuarh ij curk gSA 

  The length of compond microscope is --------- when image is formed at 

infinity. 

¼35½ xSyhfy;ks nwjn'khZ esa tc vafre izfrfcEc vuarh ija curk gS] nwjn'khZ uyh dh 
yackbZ &&&&& gksrh gSA 

  The length of Gallilean Telescope is ---------- when image is formed at 

infinity. 

¼36½ LoLF; vk¡[k dh foHksnu lhek &&&&& gksrh gSA 
  The resolving limit of helthy human eye is ----------. 

¼37½ U;wure vkoZ/ku {kerk m okys nwjn'khZ ds us= ySal dh Qksdl nwjh vk/kh 
djus ij vko/kZu {kerk &&&&& gks tk;sxhA 

  If the focal lenth of eye lens of a Telescope having minimum magnifying 

power m is reduced to half then the new magnifiying power will be ---------. 
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¼38½ fdlh oLrq }kjk vk¡[k ij cuk;s x;s dks.k dks ml oLrq dk &&&&& dks.k 
dgrs gSaA 

  The angle substended at the eye by on object is called ----------- angle. 

¼39½ fdlh euq"; ds p'es dh 'kfDr 2D gS mls &&&&&  nks"k gSA 
  If the power of the spectacles of a person is 2D then he has ---------- defect. 

¼40½ ,d euq"; dk dksfuZ;k xksyh; ugh rks og &&&&& nks"k ls xzflr 
dgyk;sxkA 

  The cornea of a person is not perfectry spherical then he has ------------ 

defects. 

 
 fuEu dFku lR; gSa vFkok vlR; crykb;sA 

 (State true and false in the following) 

  

¼41½ vk¡[k ds jsfVuk ij cuk izfrfcEc mYVk rFkk okLrfod gksrk gSA   
         ¼lR;@vlR;½ 

  The image formed on the retina of the eye is real and inverted. 
    (True/False) 

¼42½ LoLF; us= ds fy;s fudV fcUnq dk eku vuar o nwj fcUnq dk eku 25 lseh- 
gksrk gSA       ¼lR;@vlR;½ 

  The near point of healthy human eye is infinity and far point is at 25cm.  
    (True/False) 

¼43½ fudV n`f"V nks"k esa us= ySal dh Qksdl nwjh de gks tkrh gSA   
        ¼lR;@vlR;½ 

  In short sightedness the focal length of eye lens become less. 
    (True/False) 

¼44½ [kxksyh; nwjn'khZ esa cuk izfrfcEc mYVk rFkk vkHkk"kh gksrk gSA   
        ¼lR;@vlR;½ 

  The image formed in astronomical telescope is virtual and iverted. 
    (True/False) 

¼45½ xSyhfy;ks nwjn'khZ esa vafre izfrfcEc vkHkk"kh rFkk lh/kk curk gSA  
        ¼lR;@vlR;½ 

  In Galilean Telescope the final image is virtual and erect.  
    (True/False) 
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¼46½ la;qDr lw{en'khZ esa vfHkn`'d ySal dh Qksdl nwjh us= ySal dh Qksdl nwjh 
dh vis{kk vf/kd gksrh gSA     ¼lR;@vlR;½ 

 In compound microscope the focal length of objective lens is greater then 

the focal length of eye lens. (True/False) 

¼47½  nwjn'khZ dh foHksnu {kerk mlds vfHkn`';d ySal ds }kjd dks c<+kdj] c<+kbZ 
tkrh gSA       ¼lR;@vlR;½ 

 The resolving power of telescope is increased by increasing the aperature of 

objective lens. (True/False) 

¼48½  lw{en'khZ dh foHksnu {kerk oLrq dks nhIr djus okys izdk'k dh rjaxnS/;Z ij 
fuHkZj djrh gSA      ¼lR;@vlR;½ 
The resolving power of a microscope depends on wave length of light which 

illuminates the object.     (True/False) 

¼49½  ,d lw{en'khZ dh yackbZ c<+kus ls mldh vkoZ/ku {kerk c<+rh gSA 
         ¼lR;@vlR;½ 

  The magnifying power of microscope increases by increasing its length. 
    (True/False) 

¼50½  nwj n`f"V nks"k okys us= ds fy, vfHklkjh ySal dk mi;ksx djrs gSaA  
        ¼lR;@vlR;½ 

  Converging lens is used to remove the defect of long sightedness. 
    (True/False) 

¼51½  lw;Zxzg.k ds le; pUnzek lw;Z o i`Foh ds chp fLFkr gksrk gSA bl fLFkfr esa 
lw;Z rFkk pUnzek }kjk i`Foh ij varfjr dks.k cjkcj gksrs gSaA 

         ¼lR;@vlR;½ 
During solar eclipse the moon comes in between the earth and the sun. In 

this condition the angle substended by the sun and the moon on the earth is 

equal.         (True/False) 

¼52½  ;fn lw{en'khZ vFkok nwjn'khZ ds vfHkn`';d ySal ij eD[kh vkdj cSB tk;s 
rks izfrfcEc dh rhozrk c<+ tk;sxhA   ¼lR;@vlR;½ 
If a fly sits on the objective lens of microscope and telescope than the 

intensity of image increase.     (True/False)  

¼53½  dSejs es oLrq dk vkHkk"kh mYVk o NksVk izfrfcEc QksVksxzkQh fQYe ij curk 
gSA        ¼lR;@vlR;½  

 The image formed on the photographic film of a camera is virtual, inverted 

and small. (True/False) 
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   ¼54½ jsfVuk ij cuk izfrfcEc vLFkkbZ gksrk gS ftldk izHkko dsoy 
16

1 lsd.M rd 

gh jgrk gSA       ¼lR;@vlR;½ 
  The image formed on the retina is temporary and it remains only for 

16

1
second.  (True/False) 

¼55½ dSejs ds vfHkn`';d ySal dh Qksdl nwjh dh mlds }kjd dh f=T;k ds lkFk 
fu"ifRr dks f la[;k dgrs gSaA    ¼lR;@vlR;½ 
The ratio of focal length of objective lens to the radius of its aperture is 

called f - number. (True/False) 

 

    lgh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,A    

 (Match the following) 
  
¼56½ lw{en'khZ dh foHksnu {kerk fuHkZj       ¼d½   vfHkn`';d vkSj usf=dk nksuks djrh 

gSA                                      dh Qksdl nwfj;kas ijA  
 The resolving power of a micro-   Focal length of objective lens 
  scope depends on.     and eye lens 

¼57½ nwjn'khZ dh foHksnu {kerk fuHkZj        ¼[k½  us= ySal vkSj jsfVuk ds chp  
 djrh gSA                                dh nwjh c<+ tkus ijA 
 The resolving power of a     On increasing the distance  
 telescope depends on.    between eye lens and retina. 

¼58½ nwjn'khZ dh vkoZ/ku {kerk fuHkZj       ¼x½ oLrq dks nhIr djus okys izdk'k 
djrh gSA                               dh rjaxnS/;Z ijA 

 The magnifying power of  The wave length of light which 
 telescope depends on.  illuminat the object. 

¼59½ lkekU; n`f"V ds fy;s ,d [kxksyh;    ¼?k½  vfHkn`';d ySal ds O;kl ijA 
 nwjn'khZ esa vafre izfrfcEc curk gSA  
 For normal vision, the final  Diameter of the objective lens. 
 image in an astronomical telescope 
 is formed at.   

¼60½ fudV n`f"V nks"k mRiUu gksrk gSA      ¼M+½  Li"V n`f"V dh U;wure nwjh ij 
 Short sightedness is caused by.  least distance of distinct vision. 
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    lgh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,Algh tksfM+;k¡ cukb,A    
 
¼61½ xSyhfy;ks nwjn'khZ esa nwjn'khZ uyh dh yackbZ] tc ¼d½ Vo+fe  
 izfrfcEc Li"V n`f"V dh U;wure nwjh ij curk  
 gksxhA 
 The length of Galilean telescope when the     Vo+fe 
 image formed at least distance of distinct 
 vision is. 

¼62½ la;qDr lw{en'khZ dh uyh dh yackbZ tc izfrfcEc ¼[k½
f

D
m +=1   

 Li"V n`f"V dh U;wure nwjh ij curk gSA  
 The length of compound microscope, when the     

f

D
m +=1   

 final image is fomed at least distance of 
 distrinct vision. 
    
¼63½ lkekU; n`f"V ds fy;s [kxksyh; nwjn'khZ dh  ¼x½ fo-ue 
 yackbZ gksrh gSA 

 For normal vision the length of astronomical       fo-ue   
 telescope is.  

¼64½ la;qDr lw{en'khZ esa vfHkn`';d rFkk usf=dk dh  ¼?k½ fo+fe  
 vko/kZu {kerk,a Øe'k% m1 rFkk m2 gSA lw{en'khZ 

 In compound microscope the magnifying        fo+fe  
 power of objective lens and eye lens are 
 m1 and m2 respectively, the magnifying 
 power of compound microscope is.  
 
¼65½ ljy lw{en'khZ dh vkoZ/ku {kerk] tc izfrfcEc      ¼M+½ m1x m2    
 Li"V n`f"V dh U;wure nwjh ij curk gSA gksxh 

 The magnifying power of single microscope       m1x m2   
 when image is formed at least distance of  
 distinct vision. 
 

iz'u&mÙkjiz'u&mÙkjiz'u&mÙkjiz'u&mÙkj    

 
iz066 ekuo us= dk ukekafdr fp= cukb, rFkk us= dh leatu {kerk dks le>kb;s \ 

Draw laballed diagram of human eye and explain the accommodation power of human 

eye. 
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iz067 ekuo us= ds fuEufyf[kr vaxkas dh jpuk ,oa dk;Z le>kb;s %& 
 ¼1½ jDrHk iVy ¼2½ us= ySl ¼3½ vkbfjl ¼4½ flfy;jh ekalisf'k;ka 
 Expain the following parts of the human and their functions. 
 (i) Choroid (2) Eye lens (3) Iris (4) Ciliary muscles. 

iz068 ekuo us= ds fuEufyf[kr vaxksa dh jpuk ,oa muds dk;Z le>kb;s %& 
 ¼1½ dkfuZ;k ¼2½ iqryh ¼3½ dksjsbM+ ¼4½ jsfVuk 
 Explain the construction and working of the following parts of human eye. 
 (1) Cornea (2) Pupil (3) Choroid (4) Retina 

iz069 fudV n`f"V nks"k D;k gS bl nks"k ds mRiUu gksus ds dkj.k rFkk fuokj.k fy[kdj 
fp= lfgr le>kb;s A 

 What is short  sighteness. Write the cause of it How is this defect corrected. Explain with 

diagram. 

iz070 nwj n`f"V nks"k dk dkj.k fyf[k;s rFkk bldk fuokj.k fdj.k vkjs[k [khapdj 
le>kb;s A 

 Write the cause of long sightedness . How is this defect corrected? Explain with ray 

diagram. 

iz071 nwjn`f"V nks"k D;k gS \ blds mRiUu gksus ds D;k dkj.k gS rFkk bldk fuokj.k dSls 
fd;k tkrk gS A  

 What is meant by long sightedness? Why is it caused? How is this defect corrected? 

iz072 n`f"V oS"kE; vkSj tjk n`f"Vnks"k ls vki D;k le>rs gSa\ bldk fuokj.k fdl izdkj 
fd;k tkrk gS \ 

 What do you under stand by astigmatism and presbyopipa? Write causes and remedies of 

these defects.  

iz073 mn~Hkklu dky D;k gS ;g fdu fdu dkjdksa ij rFkk fdl izdkj fuHkZj djrk gS \ 
 What is time of exposures and on what factors does it depend? 

iz074 QksVksxzkfQd dsejs dh jpuk le>kb;s rFkk bldh dk;Zfof/k fyf[k, \ 
 Describe the construction and working of photographic camera. 

iz075 ekuo us= vkSj dsejs esa dksbZ pkj leurk,¡ fy[kks \ 
 Write four similarities between human eye and photographic camera. 

iz076 ekuo us= vkSj dsejs esa dksbZ pkj vlekurk,sa fy[kks \ 
 Write four differences between human eye and photographic camera. 

iz077 ekuo us= }kjk fdlh oLrq dh m¡pkbZ ,oa eksVkbZ ls mldh fLFkrh dk vuqeku fdl 
izdkj yxk;k tkrk gS Li"V js[kk fp= [khapdj le>kb, A 

 How is the height and thickness of an object estimated by the human eye? Expain with 

ray diagram. 
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iz078 ljy lw{en'khZ D;k gS bldk LoPN fdj.k vkjs[k [khapdj mldk fl)kar le>kb, 
rFkk blds nks"k o mi;ksx fy[kks A 

 What is a simple microscope? Explain its principle with the aid of a neat diagram. Write 

its defect and uses. 

iz079 ljy lw{en'khZ dk ukekafdr fp= [khapdj bldh vko/kZu {kerk dk O;atd O;qRiUu 
dhft,\ tcfd izfrfcEc ¼1½ Li"V n`f"V dh U;wure nwjh ij curk gS A ¼2½ vuarh 
ij curk gS A  

 Draw a ray diagram of a simple microscope  when the image. (1) Is formed at least 

distance of distinct vision. (2) Image is formed at infinity. 

iz080 la;qDr lw{en'khZ dk o.kZu fuEu 'kh"kZdksa esa dhft, %& 
 ¼1½ lajpuk  

¼2½ izfrfcEc  
¼3½ vko/kZu {kerk dh x.kuk tcfd izfrfcEc %& 

     ¼v½ vuarh ij curk gSA  
¼c½ Li"V n`f"V dh U;wure nwjh ij curk gSA 

Describe compound microscope under following heads. 
(1) Construction  
(2) Ray diagram for formation of image. 
(3) Magnifying power when the :- 

(a) Image is formed at infinity and  
(b) When the image is formed at least distance of distinct vision.  

vFkok 
Or 

la;qDr n'khZ dk ukekafdr fp= [khapdj mldh vko/kZu {kerk ds fy, lw= dh 
LFkkiuk dhft, A 
Draw diagram of a compound microscope and derive formula for its magnifying power. 

iz081 [kxksyh; nwjn'khZ dk o.kZu fuEu 'kh"kZdksa ds varxZr dhft, %& 
 ¼1½ izfrfcEc dk js[kkfp= 
 ¼2½ vko/kZu {kerk ds fy, lw= tcfd vafre izfrfcEc %& 
  ¼v½ vuar ij  
  ¼c½ Li"V n`f"V dh U;wure nwjh ij cusA 

Describe Astronomical telescope under following heads. 
(1) Diagram.  
(2) Magnifying power when :- 

(a) When final image formed at infinity  
(b) When final image formed at least distance of distinct vision.   

vFkok 
       Or 

[kxksyh; nwjn'khZ dk fdj.k vkjs[k cukb, rFkk bldh vko/kZu {kerk dk lw= 
fuxfer dhft,A 
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Draw diagram of an Astronomical telescope and derive formula for its magnifying 

power. 

iz082 ikfFkZo nwjn'khZ dk js[kkfp= [khapdj mldh vko/kZu {kerk ds fy, lw= dh LFkkiuk 
dhft, tcfd izfrfcEc ¼1½ vuar ij ¼2½ Li"V n`f"V dh U;wure nwjh ij cus A 

 Draw ray diagram for terrestrial telescope and derive formula for its magnifying power 

when final image is formed at:- (1) infinity (2) least distance of distinct vision. 

iz083 nwjn'khZ dks myVus ij izfrfcEc dkQh NksVk gks tkrk gS ijUrq lw{en'khZ esa ,slk ugha 
gksrk D;ksa\ 

 On reversing the telescope the image becomes too small, but this is not so in a 

microscope give reason? 

iz084 xSyhfy;ks nwjn'khZ dk js[kfp= [khapdj mldh vko/kZu {kerk ds fy, lw= dh 
LFkkiuk dhft,\ tc izfrfcEc % ¼1½ Li"V n`f"V dh U;wure nwjh ij cus A 

    ¼2½ vuar ij cus A 
 Draw ray diagram of gallilean telescope and deduce its magnifying power it the image is 

at.  

(1) Least distance of distinct vision.  

(2) infinity. 

iz085 [kxksyh; nwjn'khZ o xSyhfy;ks nwjn'khZ esa pkj lekurk,a o pkj vlekurk,a fy[kks \ 
 Write four similarities and four dis-similarities between Astronomical telescope and  

Gallilean telescope. 

iz086 la;qDr lw{en'khZ o [kxksyh; nwjn'khZ esa dksbZ pkj varj fy[kks \ 
 Write four difference between compound microscope and Astronomical telescope? 

iz087 fdlh ;a= dh foHksnu {kerk ls D;k rkRi;Z gS \ lw{en'khZ rFkk nwjn'khZ dh foHksnu 
{kerk dks  dSls c<+k;k tk ldrk gS \ vko';d lw= fy[kdj le>kb;sA 

 What is meant by the resolving power of an optical instrument? How is the resolving 

power of  Microscope and Telescope increased? Explain with proper expressions. 

iz088 ,d fudV n`f"V nks"k ;qDr euq"; 10 ls-eh- dh nwjh ij j[kh iqLrd dks i<+ ldrk 
gS A bl euq"; dks 30 ls-eh- dh nwjh ij j[kh iqLrd dks i<+us esa fdl izdkj dk 
ySal iz;ksx djuk pkfg, rFkk bldh dksjl nwjh fdruh gksxh \ 

 A person with short sightedness can read a book kept at 10cm.. If he wants to read the 

book kept at 30cm. then, which type of lens should be used and what should be the focal 

length of this lens. 

 
----------------- 
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bdkbZ &4 izdk'k dh pkybdkbZ &4 izdk'k dh pkybdkbZ &4 izdk'k dh pkybdkbZ &4 izdk'k dh pky    

Unit - 4   Speed of Light             

oLrqfu"B iz'u % 

Objective type Question: 

 

1  izdk'k dh pky loZizFke Kkr dh FkhA 

 ¼v½ xSyhfy;ks  ¼c½ U;wVu 

 ¼l½ jksej  ¼n½ ekbdYlu  

 The speed of light was first determined by  

 (a)Galileo    (b)Newton  

 (c)Roemer    (d)Michelson  

 2   Qhtks fof/k }kjk izdk'k dh pky Kkr djus dk lw= gSa& 

 ¼v½  C= 8 mnd   ¼c½  C = 4mn/d  

 ¼l½  C = 4 mnd.  ¼n½  C = mnd 

 The Formula for finding the speed of light by Fizean’s method is  

 (a) C= 8 mnd.    (b) C = 4mn/d  

 (c) C = 4 mnd.    (d) C = mnd  

 3  izdk'k dh pky U;wre gksrh gSa& 

 ¼v½  fuokZr esa   ¼c½  ghjsa esa 

 ¼l½  ty esa  ¼n½  dkap esa 

 The speed of light is Minimum in  

 (a) Vaccum  (b) diamond  

 (c) water    (d) glass  

4    tc izdk'k ok;q ls dkap esa tkrk gSa rks & 

 ¼v½  rjax nS?;Z ?kVrh gSa   ¼c½ rjax nS?;Z c<+rh gSa 

 ¼l½  vko`fr c<+rh gSa  ¼n½ pky c<+rh gSa 
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 When light passes from air to glass, than  

 (a) Wavelength decreases  (b) Wavelength increases  

 (c) Frequency increases  (d) Speed increases  

 5   ikuh esa izdk'k dk osx ¼ls-eh- @ lsd.M½  esa gksxk & 

 ¼v½  2.25x1010   ¼c½  1.25x1010 

 ¼l½  3x1010    ¼n½  4x1010 

The speed of light (in cm/s) in water will be  

 (a) 2.25x1010   (b) 1.25x1010 

 (c) 3x1010    (d) 4x1010 

    

lgh tksfM;k¡ cukb;sAlgh tksfM;k¡ cukb;sAlgh tksfM;k¡ cukb;sAlgh tksfM;k¡ cukb;sA    

1- dkap esa izdk'k dh pky dk eku gksxk   1@ rjaxnS?;Z 

2- ikuh esa izdk'k dh pky dk eku gksxk de  

3- rjax la[;k cjkcj gksrh gSa 2x108m/sec 

4- fojy ek/;e esa izdk'k dh pky l/ku ek/;e dh rqyuk esa gksxh  2.25x108m/sec. 

5- l/ku ek/;e esa izdk'k dh pky fojy ek/;e dh rqyuk esa gksxh vf/kd  

 

MATCH THE FOLLOWINGS  

1. The value of Speed of light in glass  1/Wave length  

2. The value of Speed of light in water  Lesser 

3. Wave number is equal to  2x108m/sec 

4. Speed of light in rarer medium as compared to denser 

medium will be 

2.25x108m/sec.  

5. Speed of light in denser medium as compared to rarer 

medium will be 

Greater  

 

lgh vkSj xyr crkb, %& 

State True or False  

1- Qhtks fof/k }kjk nzOkksa esa izdk'k dh pky Kkr dj ldrs gSaA  
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¼lR;@ vlR;½ 

 By Fizeau’s method the speed of light is calculated in liquid medium.  

(True/ False) 

2- tc izdk'k ok;q esa ls dkWp esa tkrk gSa rks bldh vko`fr ?kVrh gSaA 

 ¼lR;@ vlR;½ 

 When light travels from air to glass its frequency decreases.  

(True/ False) 

3- fuokZr esa izdk'k dh pky vko`fr ij fuHkZj djrh gSaA  

¼lR;@ vlR;½ 

 The speed of light in vaccum depends on Frequency.  

(True/ False) 

4- Qksdks fof/k ls izdk'k dh pky iz;ksx'kkyk esa Kkr dh tk ldrh gSaA  

¼lR;@ vlR;½ 

 By Focault’s method the speed of light is calculated in laboratory.  

(True/ False) 

 

 

[kkyh LFkkuksa dh iwfrZ djsa& 

FILL IN THE BLANKS 

1- ekbdYlu dh fo/kh ls izdk'k dh pky C= --------------- gksrh gSaA 

 By Michel Son’s method, speed of light is C= ____________. 

2- ok;q esa lHkh jaxksa ds izdk'k dh pky --------------------------- gksrh gSaA 

 The speed of light of all colours in air is ____________.  

3- fdlh ek/;e esa izdk'k dh pky C= ----------------- gksrh gSaA 

 The speed of light in a medium C =____________ 

4- fdlh Hkh d.k dh pky ----------------------- dh pky ls vf/kd ugha gks ldrhA 

 The speed of any particle is not greater than the speed of.--------------.    

5- i`Foh ij ok;q esa izdk'k dh pky loZizFke oSKkfud --------------------- us Kkr dh FkhA 

On the Earth the speed of light in air was first determined by ____________ 
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iz'u mRrj  

iz ¼1½ izdk'k dh pky Kkr djus dh Qhtks fof/k dk o.kZu fuEu fcUnqvksa ij dhft, %& 

      ¼v½ fdj.k vkjs[k ] ¼c½ lw= dh LFkkiuk ] ¼l½ nks eq[; nks"k A 

 Describe Fizeau’s  method for the determination of speed of light on the basis of 

following points.  

 (a)Ray diagram   (b)Derivation of Formula  

 (c)Two main defects. 
 

iz ¼2½ izdk'k dh pky Kkr djus dh Qksdks ¼iz;ksx'kkyk½ fof/k dk o.kZu fuEu fcUnqvksa ij 
dhft, %& 

      ¼v½ fdj.k vkjs[k ] ¼c½ lw= dh LFkkiuk ] ¼l½ nks eq[; nks"k A 

 Describe Focault’s method for the determination or speed of light in laboratory on 
the basis of following points :     

 (a)Ray diagram   (b)Derivation of Formula  
 (c)two main characteristics  
 

iz ¼3½ izdk'k dh pky Kkr djus dh ekbdYlu fof/k dk o.kZu fuEu fcUnqvksa ij dhft,  
      ¼v½ fdj.k vkjs[k ] ¼c½ lw= dh LFkkiuk ] ¼l½ nks fo'ks"krk,¡   A 
 

 Describe Michelson’s method for the determination of speed of light under the 
following headings    

 (a)Ray diagram   (b)Derivation of Formula  
 (c)Two defects 
 

iz¼4½  ¼v½ Qhtks fof/k ls Qksdks fof/k Js"B gS] le>kb,A 
¼c½ ekbdYlu fof/k  Qksdks fof/k ls Js"B gS] le>kb,A 
 (a) Focault’s method is superior than the Fizeaut's method. Explain   
 (b) How is the Michelson's method suprior than the Focault’s method ?  
 

iz¼5½   ¼v½ Qhtks fof/k ds pkj nks"k fy[kks A  
       ¼c½ Qhtks fof/k esa nk¡rsnkj ifg;s dk mi;ksx le>kb,A 

  
 (a) Write four defects of Fizeau's method.  
  (b) What is the purpose of toothed wheel in the Fizeau's method ?  
 

iz¼6½  ¼v½ ekbdYlu fof/k ds nks nks"k fy[kks A  
       ¼c½ Qksdks fof/k ds nks nks"k fy[ksk A 
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       ¼l½ Qksdks fof/k ds iz;ksx dk egRo fyf[k,A 
 

 (a) Write two defects of Michelson's method.  
    (b) Write two defects of Focault’s Method.  

          (c) What is the significance of Focault’s method.  
 

iz ¼7½  Qhtks ds iz;ksx esa nk¡rksa dh la[;k 200 gSA ifg;s vkSj vory niZ.k ds chp dh 
nwjh 9 fdyksehVj gSA izFke xzg.k dh fLFkfr izkIr djus ds fy, ifg;s dks fdl 
j¶rkj ls ?kqekuk gksxk \ok;q esa izdk'k dk pky 3 x 108 ehVj @ lsd.M gSA 

 
 In Fizeau's experiment the number of teeth is 200. The separation between the 

wheel and concave mirror is 9 Km. What should be the speed of rotation of 
wheel to obtain the position of first eclipse ?  Speed of light in and is 3x108 m/s. 

 

iz ¼8½   ¼v½ ekbdYlu dh fof/k esa nksuksa fLFkj vory niZ.kksa ds chp dh nwjh 30 fdeh 
gSA v"V Qyd ijkorZd ds izfr lsd.M ?kweus dh l[;k 625 gSA rks izdk'k 
dh pky Kkr djksA 

¼c½ ekbdYlu dh fof/k esa ;fn ?kw.khZ niZ.k ds Qydksa dh l[;k 8 ls 24 dj nh 
tk; rks niZ.k dh pky esa D;k izHkko iMsxk \ 

 
(a) In Michelson's method the distance between two fixed concave mirror is 

30 Km. and the eight faced mirror makes 625 rotation in one second. 
Calculate the speed of light.  

(b) In Michelson's method. if the number of faces of the rotating mirror are 
made 24 instead of 8 what will be the effect  on the speed of mirror ?  

 
iz ¼9½  Qksdks ds iz;ksx esa ?kweus okys lery niZ.k vkSj fLFkj niZ.k ds chp dh nwjh 5 

fdeh gksus ij ijkofrZr fdj.k dk dks.kh; fopyu 70 12* gksrk gSA ;fn lery 
niZ.k viuh v{k ij 300 ifjdze.k ,d lsd.M esa djrk gS- rks izdk'k dh pky 
Kkr djks A 

 
 In Foceault’s experiment the distance between the plane mirror and the fixed 

concave mirror is 5 Km. The angular deviation of the reflected ray is 7°12’. If 
the plane mirror makes 300 rotations per second about its axis Calculate the 
speed of light.  
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bdkbZ&5 pqEcdRo ,oa pqEcdh; ekiubdkbZ&5 pqEcdRo ,oa pqEcdh; ekiubdkbZ&5 pqEcdRo ,oa pqEcdh; ekiubdkbZ&5 pqEcdRo ,oa pqEcdh; ekiu 

  Unit-5 Magnetism and Magnetic Measurment 

 

oLrqfu"B iz'u %& 

Objective questions  

lgh mRRkj pqfu,W (Choose the correct answers) 
 

1- ;fn ,d NM+ pqEcd ,slk j[kk gks fd mldk mÙkjh ?kzqo mÙkj dh vksj rFkk nf{k.kh 
?kzqo nf{k.k dh vksj gks rks pqEcdh; {ks= ds mnklhu fcUæ & 

 ¼aa aav½ pqEcd dh v{kh; js[kk ij fLFkr gksaxs A 
 ¼c½ pqEcd dh e/;orhZ js[kk ij fLFkr gksaxs A 
 ¼l½ ,sls LFkkuksa ij gksaxs tks u rks v{kh; js[kk ij gS vksj u e/;orhZ js[kk ij  

¼n½ mnklhu fcUæ cusaxs gh ugha 

 If a bar magnet is placed with its north pole pointing towards north and south pole 

pointing towards south then the neutral points of its magnetic field will be:  

(a) Situated on the axial line  

(b) Situated on the equatorial line  

(c) Situated at a place which is neither axial line nor equatorial line  

(d) Not formed at all.  

2- pqEcdh; vk?kw.kZ fdl izdkj dh jkf'k gS & 
 ¼av½ vfn'k  ¼c½ lfn'k  

¼l½ mnklhu  ¼n½ buesa ls dksbZ ugha 

 Magnetic moment is which type of physical quantity :-  

 (a) Scalar    (b) Vector  

 (c) Neutral    (d) None of these  

3- ,d n.M pqEcd }kjk mRiUu nks cy js[kk;sa ,d nwljs dks & 
 ¼vaaaa½ mnklhu fcUæ ij dkVrh gS   

¼c½ pqEcd ds ?kzqoksa ds lehi dkVrh gS A  
 ¼l½ pqEcd ds Hkwe/; js[kh; v{k ij dkVrh gS   

¼n½ dkVrh gh ugha gSA  
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Two magnetic lines of force obtained from a magnet :-  

a) Intersect each other at neutral point  

b) intersect  each other near the poles  

c) intersect each other at equatorial line  

d) never intersect each other   

4- pqEcdh; {ks= dk ek=d gS  

 ¼av½ U;wVu@,fEi;j X ehVj   c½ U;wVu @ ,fEi;j2  

¼l½ U;wVu@ehVj2     n½ U;wVu X ehVj@ ,fEi;j 

 The unit of magnetic field is :-  

 (a) Newton / Ampere metre  (b) Newton / Ampere² 

 (c) Newton /m²   (d) Newton x metre / ampere  

5- ,d n.M pqEcd dks ftldk pqEcdh; vk?kw.kZ M gS leku yEckbZ ds nks Hkkxksa esa dkV 
fn;k x;k gS] bu Hkkxksa esa ls fdlh ,d dk pqEcdh; vk?kw.kZ gS & 

 ¼av½ M  ¼ac½ 2M    ¼la½ 
2

M  ¼n½ 'kwU; 

 A bar magnet, of magnetic moment M is cut into two parts of equal length, the 

magnetic moment of one of its part will be :-  

 (a) M    (b) 2M 

 (c) 
2

M
    (d) zero  

6- ,d pqEcdh; lqbZ tks ,saBu jfgr js'ke ds Mksjs ls yVdh gS {kSfrt ry ls nksyu 
djrh gS D;ksafd ml ij ,d izR;ku;u cy;qXe dk;Z djrk gS tks mRiUu gksxk A 

 ¼av½ flYd /kkxksa esa ,saBu ls    ¼c½ xq:Roh; cy ls  
¼l½ i`Foh ls pqEcdh; {ks= ds {kSfrt ?kVd H ls ¼aa aan½ mijksDr lHkh dkj.kksa ls 

 A magnetic needle suspended by an unspun silken thread  oscillates in a 

horizontal plane because of restoring couple acting on it, which is obtained from:-   

(a)  Torsion of silken thread   (b) Gravitational force  

(c) Horizontal component of earth’s magnetic field  

(d) All the above reasons.  

7- pqEcdh; izo`fRr χ  ¼dkbZ½ dh ifjHkk"kk fuEu esa ls fdl lw= ls nh tkrh gS A 

¼v½ 
H

I   ¼c½ 
I

H   
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¼l½ I X H   ¼ n½ 
H

I 2

 

 Magnetic susceptibility ( χ ) is defined by the formula :  

 (a) 
H

I
   (b) 

I

H   

 (c) I X H  (d) 
H

I 2

 

 

8- ,d 'kfDr'khy pqEcd & 
¼aaaav½ lc inkFkksZ dks vkdf"kZr djrk gS A 
¼c½ dsoy yksgk ,oa mlds Alloys    dks vkdf"kZr djrk gS] vU; lcdks izfrdf"kZr dj 

nsrk gSA 
¼l½ dsoy yksgk ,oa mlds Alloys dks vkdf"kZr djrk gS fdUrq fdlh dks izfrdf"kZr 

ugha djrk gS A 
¼n½ dqN inkFkksZ dks vkdf"kZr djrk gS vkSj dqN dks izfrdf"kZr djrk gS A 

 A strong magnet :-  

(a) attracts all materials  

(b) attracts only iron and its alloys, repels all other materials.  

(c) attracts only iron and its alloys but does not repel anything   

(d) attracts some materials and repels some materials.  

 

9- fuEu esa ls dkSu lk inkFkZ ykSg pqEcdh; gS A 

 ¼av½ ,Y;wfefu;e  ¼c½ DokV~Zt 

 ¼l½ fufdy   ¼n½ fcLeFk 

 Which of the following is ferro magnetic :-  

 (a) Aluminum   (b) Quartz  

 (c) Nickel    (d) Bismuth  

10- B, H rFkk I esa laca/k gS A 
 ¼v½ B = µ + ΗΙ   ¼c½ B = Η + 4π Ι 

¼l½ Ι = Β + 4π Η  ¼n½ H = Ι + 4π Β 
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The relation between B, H and I is  

 (a) B = µ  HΙ    (b) B = H  4πΙ  

 (c) Ι = B + 4πH   (d) H = Ι + 4πB  

11- vuq pqEcdh; inkFkZ gksrs gS A 
 ¼v½ Bksl ¼c½ nzo ¼l½ xSl ¼n½ ;s lHkh 
 Para magnetic materials are :  

 (a) Solid  (b) liquid  (c) gas   (d) all these  

12- fo{ksi pqEcdRoekih ds lkFk iz;ksx djrs le; ladsrd ds nksuksa fljksa ds ikB~;kad uksV 
fd;s tkrs  gSa ;g lko/kkuh fujkdj.k ds fy;s gS A 

 ¼v½ mRØsUnzrk =qfV 
¼c½ pqEcd dh T;kferh; v{k rFkk pqEcdh; v{k ds laikrh u gksus ls    mRiUu =qfV 

 ¼l½ v{k ds dsUnz rFkk lqbZ ds xq:Ro dsUnz ds laikrh u gksus ls mRiUu =qfV  
¼n½ buesa ls dksbZ ugha A 

 While doing experiment with deflection magnetometer the readings of both the 

ends of the needle are noted to correct the :-   

(a) error due to eccentricity  

(b) error due to non coincidence of magnetic axis and geometric axis of a 

magnet  

(c) error due to non coincidence of centre  of axis and centre of gravity of 

needle  

(d) None of these  

13- oS|qr e'khuksa ds vusd Hkkxksa esa uje yksgk iz;qDr fd;k tkrk gS D;ksafd  
 ¼v½ vYi fgLVsjsfll gkfu rFkk vYi pqEcd'khyrk gks A 
 ¼c½ vYi fgLVsjsfll gkfu rFkk vf/kd pqEcd'khyrk gks A 
 ¼l½ vf/kd fgLVsjsfll gkfu rFkk vYi pqEcd'khyrk gks A 

¼n½ vf/kd fgLVsjsfll gkfu rFkk vf/kd pqEcd'khyrk A 

 Soft iron is used in different parts of electric machine to cause :-  

(a) Low hysterisis loss and low permeability  

(b) Low hysterisis loss and high permeability  

(c) High hysterisis loss and low permeability  

(d) High hysterisis loss and high permeability  
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14- LFkk;h pqEcd cuk;s tkrs gSa A 
 ¼v½ vuqpqEcdh; inkFkZ ds  ¼c½ ykSg pqEcdh; inkFkZ ds 
 ¼l½ izfr pqEcdh; inkFkZ ds  ¼n½ ijkoS|qr inkFkZ ds 
 Permanent magnets are made by :  

 (a) Dia magnetic materials    (b) Ferro magnetic materials  

 (c) Para magnetic materials   (d) Dielectric materials.  

15- i`Foh ds pqEcdh; mRrjh /kqzo ij i`Foh ds pqEcdh; {ks= dk {kSfrt ?kVd o ueu 
dks.k ds eku Øe'k% gS A 

 ¼v½ 'kwU;] vf/kdre   ¼c½ vf/kdre] U;wure 
¼l½ vf/kdre] vf/kdre   ¼n½ U;wure] U;wure 

The value of horizontal component of earths magnetic field and angle of dip at 

north pole of earths magnetic field is   

 (a) Zero, minimum     (b) maximum, minimum  

 (c) maximum, maximum    (d) minimum, minimum  

16- pqEcdh; {ks= A 
 ¼v½ gj le; vkosf'kr d.k ij cy yxkrk gS A 
 ¼c½ vkosf'kr d.k ij cy dHkh ugha yxkrk gS A 
 ¼l½ tc vkosf'kr d.k pqEcdh; {ks= dh js[kk ds yEc fn'kk esa xfr djrk gS  

¼n½ tc vkosf'kr d.k pqEcdh; {ks= dh js[kk dh fn'kk esa xfr djrk gSS rc cy 
yxkrk gSA 

 Magnetic field :-  

a) always exerts force on charged particle.  

b) does not exert force on charged particle.  

c) exerts force when the charged particles moves perpendicular to it.  

d) exerts force when charged particle moves in the direction of the field.  

17- pqEcdh; vk?kw.kZ ¼100 ek=d½ ds NM+ pqEcd dks nks leku Hkkxksa esa dkVus ij izR;sd 
dk pqEcdh; vk?kw.kZ gksxk A 

 ¼v½ 100 ek=d ¼c½ 50 ek=d  
 ¼l½ 25 ek=d ¼n½ 200 ek=d 

 A bar magnet of magnetic moment (100 unit) is cut into two equal parts then 

magnetic moment of each part will be   
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 (a) 100 unit    (b) 50 unit  

 (c) 25 unit    (d) 200 unit  

18- fdlh LFkku ij i`Foh ds pqEcdh; {ks= dk {kSfrt ?kVd ,oa ufr dks.k Øe'k% 1111.8 8 8 8 x 

10101010---- 5 5 5 5    oscV@ehVj2 ,oa 300 gS i`Foh dh lEiw.kZ pqEcdh; {ks= dh rhozrk gksxh A 
 ¼v½ 2222. 08 08 08 08 x 10 10 10 10---- 5  5  5  5 oscj@ehVj2    ¼c½ 3333. 67 67 67 67 x 10 10 10 10---- 5  5  5  5 oscj@ehVj2 

 ¼l½ 3333.78 78 78 78 x 10 10 10 10---- 5  5  5  5 oscj@ehVj2 ¼n½ 5555.0 0 0 0 x 10 10 10 10---- 5  5  5  5 oscj@ehVj2 

 The horizontal component of earth’s magnetic field and angle of dip at a place is 

1.8x10-5 weber / m² and 30°, the total intensity of earth’s  magnetic field will be  

 (a) 2.08x10-5 weber /m² (b) 3.67x10-5 weber / m² 

 (c) 3.78x10-5 weber / m² (d) 5.0x10-5 weber / m² 

19- ,d Lora=rkiwoZd yVds pqEcd dks H rhozrk ds ,d leku pqEcdh; {ks= esa dfEir 
fd;k tkrk gS blds vkorZdky T    dk lw= gS ¼    I    tM+Ro vk?kw.kZ gS ½ 

 ¼v½ T = 2222π
I

MH         ¼c½ T =    2222π
IH

M          

 ¼l½ T =    2222π
MH

I
      ¼n½ T =    2222π

M

IH
  

 

The freely suspended magnet is made to oscillate in a uniform magnetic field of 

intensity H The formula for its time period is  

 (a) T = 2222π
I

MH
  (b) T = 2222π

IH

M           

(c) T = 2222π
MH

I
       (d) T =    2222π

M

IH
 

20- Li'kZT;k fu;e dsoy rc mi;qDr gksrk gS tc  
¼v½ nks ,d leku pqEcdh; {ks= gks 

 ¼c½ nks ijLij yEcor pqEcdh; {ks= gks  
 ¼l½ pqEcdh; {ks= dk {kSfrt ?kVd fo|eku gks 

¼n½ nks ,d leku ijLij yEcor rFkk ,d ryh; pqEcdh; {ks=ksa  
   dk mi;ksx gks 
Tangent law is applicable only when there are  

(a) Two uniform magnetic field. 

(b) Two mutually perpendicular magnetic field.  
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(c) The horizontal component of Earth’s magnetic field in present.  

(d) Two uniform coplanar and mutually perpendicular magnetic fields.  

 

21- ,d NksVs n.M pqEcd dk pqEcdh; vk?kw.kZ 1-2 ,fEi;j ehVj2 gS bldh v{k ij 0-1 
ehVj dh nwjh ij pqEcdh; {ks= gksxk A 

 ¼v½ 2222.4444x10101010---- 6  6  6  6  Vslyk  ¼c½ 1111.2222x10101010---- 3  3  3  3 Vslyk 
 ¼l½ 2222.4444x10101010---- 5  5  5  5  Vslyk  ¼n½ 2222.4444x10101010---- 4   4   4   4  Vslyk 

 Magnetic moment of small bar magnet is 1.2 Am². The magnetic field at a 

distance 0.1metre on its axis will be  

 (a) 2.4x10-6 T    (b) 1.2x10-3T 

 (c) 2.4x10-5T    (d) 2.4x10-4T 

22- ,d pqEcdh; lqbZ dks H rhozrk ds pqEcdh; {ks= esa dEiu djkus ij nksyudky dk 
eku T gS 4H    rhozrk ds pqEcdh; {ks= esa bldk nksyudky gksxk A 

 ¼v½ 2T ¼c½ T/2    ¼l½ 2/T    ¼n½ T 

 The time period of a magnetic needle when it oscillates in a magnetic field of 

intensity H is T, its time period in a magnetic field on intensity 4H will be  

 (a) 2T     (b) T/2 

 (c) 2/T    (d) T 

23- ,d nksyu pqEcdRoekih esa pqEcd dk nksyu dky 1-5 lsds.M gS ,d nwljk pqEcd 
tks fd vkdkj rFkk nzO;eku esa cjkcj gS oLrq mldk pqEcdh; vk?kw.kZ izFke pqEcd 
dk ,d&pkSFkkbZ gS] dk nksyu dky gksxk A 

 ¼v½ 0-75 lsds.M  ¼c½ 1-5 lsds.M 
¼l½ 3-0 lsds.M  ¼n½ 6-0 lsds.M 

 The time period of oscillation of a magnet in a vibration magnetometer is 1.5 

second. The time period of oscillation of another magnet similar in size, shape 

and mass but having one fourth magnetic moment than that of the first magnet 

oscillating at the same place will be  

 (a) 0.75 Sec.    (b) 1.5 Sec.  
 (c) 3.0 Sec.     (d) 6.0 Sec.  
 

24- fdlh inkFkZ dks 'kfDr'kkyh pqEcdh; inkFkZ ds ikl ykus ij og izfrdf"kZr gks tkrk 
gS og inkFkZ gS A og inkFkZ gS &  
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 ¼v½ vuqqpqEcdh;   ¼c½ izfrpqEcdh; 
 ¼l½ ykSg pqEcdh;   ¼n½ mi;qZDr esa ls dksbZ ugha 
 A substance when brought near a strong magnet get repelled. The substance is  

 (a) Para magnetic    (b)  Dia magnetic  

 (c) Ferro magnetic    (d)  None of these  

 

25- fuEufyf[kr esa ls dkSu ueZ yksgs ls ugha cuk;k tkrk gS A 
 ¼v½ fo|qr pqEcd   ¼c½ VªkalQkeZj dk ØksM 
 ¼l½ Mk;ukeks dk ØksM  ¼n½ ykmMLihdj dk ØksM 

 The following cannot be made of soft iron  

 (a)  Electro magnet   (b)  Core of transformer  

 (c)  Core of dynamo   (d) Core of loudspeaker  

 
26- lgh tksM+h cukb;s \ 
 ¼v½ pqEcdh; {ks= dk ek=d gS  ¼1½  gsujh@ehVj 
 ¼c½ pqEcdh; vk?kw.kZ dk ek=d gS  ¼2½  ,fEi;j&ehVj 
  ¼l½ pqEcdh; ikjxE;rk dk ek=d gS     ¼3½  U;wVu@,fEi;j x    ehVj 
 ¼n½ /kqzo izkoY; dk ek=d gS   ¼4½  ,fEi;j x    ehVj2 

Match the followings 

a. Unit of magnetic field is   - 1.  Henry / metre.  

b. Unit of magnetic moment’s  - 2. Ampere X metre  

c. magnetic permeability   - 3. Newton / Ampere X metre  

d. Unit of pole strength   - 4. Ampere x metre² 

lgh tksM+h cukb;s \ 

27- ¼v½ ok;q esa fLFkr m ;wfuV ds ,d izFke /kqzo ls d nwjh ¼1½ MH ¼1111----cos� aa aa½  
  ij pqEcdh; rhozrk gS A 
    ¼c½ pqEcdh; vk?kw.kZ M ds ,d NM+ pqEcd dks pqEcdh; {ks=  ¼2½ O  
  H    esa a dks.k ls fo{ksfir djus esa fd;k x;k dk;Z gS A   
 ¼l½ M pqEcdh; vk?kw.kZ ds ,d pqEcd dks H pqEcd {ks= dh  ¼3) IAB sin� 

  fn'kk ls 360a dks.k ?kqekus ij fd;k x;k dk;Z gksxk A 
     ¼n½ pqEcdh; {ks= esa fLFkr /kkjk ywi ij cy;qXe       ¼4½ m/d2  
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Match the following :  

a. Magnetic intensity in air at a distance d from a pole 

of strength m unit  is 

1. MH (1-cos� aa aa)  

b. Work done to rotate a bar magnet of magnetic 

moment M by an angle � in a magnetic field H is    

2. 0 

c. Work  done to rotate a bar magnet of magnetic 

moment M by 360° is  

3. IAB sin� aa aa 

d. Torque acting on a current carrying loop in 

magnetic field is  

4. m/d² 

 

lgh tksM+h cukb;s \ 

28- ¼vaaaa½ 10 lseh yEckbZ vkSj 4-0 ,fEi;j ehVj /kqzo lkeF;Z    (1) 900  

  ds ,d pqEcd dk pqEcdh; vk?kw.kZ gksxk 
 ¼c½ fdlh LFkku ij i`Foh ds pqEcdh; {ks= dk {kSfrt    (2) 0 

  ?kVd Bo     vkSj Å/okZ/kj ?kVd Vo ifjek.k esa  
  cjkcj gS ml LFkku ij lEiw.kZ rhozrk dk eku gksxk  
 ¼l½ pqEcdh; fuj{k ij ueu dks.k dk eku gksrk gS A             (3) Bo 2  

     ¼n½  pqEcdh; /kqzoksa ds ikl ueu dks.k dk eku gksrk gS A  ¼4½ 0-4,fEi;j ehVj2 

 

Match the following :  

a. The magnetic moment of magnet of 10m length and 4.0 

Ampere X metre pole strength will be  

1. 90° 

b. The horizontal component Bo and vertical component Vs at 

a plane is equal in magnitude. Total intensity at that point 

will be :   

2. 0 (Zero)   

c. The  value of angle of dip on magnetic equator is   3. Bo 2  

d. The value of angle of dip at Magnetic pole is  4. 0.4 ampere x metre²  

 
lgh tksM+h cukb;s \ 

29 ¼v½ v{kh; fLFkfr ij d    nwjh esa pqEcdh; {ks=  ¼1½ 
π

µ
4

0

3d

M   

  dh rhozrk   
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 ¼c½ fuj{kh; fLFkfr ij d nwjh esa pqEcdh; {ks=  ¼2½ 
π

µο

4 2

3Hd   

  dh rhozrk   

 ¼l½ fuj{kh; fLFkfr esa mnklhu fcUnq izkIr gksus   ¼3½ 
π

µο

4
 

3

2

d

m     

  ij pqEcd dk pqEcdh; vk?kw.kZ M 

 ¼n½ v{kh; fLFkfr esa mnklhu fcUnq izkIr gksus    ¼4½ 
0

4

µ
π  3Hd   

    ij pqEcd dk pqEcdh; vk?kw.kZ M 

Match the following : 

a. Intensity of magnetic field at a 

distance d on axial line is  

1. 

π
µ
4

0

3d

M
 

b. Intensity of magnetic field at a 

distance ‘d’ on equatorial line is    

2. 

π
µο

4 2

3Hd
 

c. If neutral point is on equatorial line 

then magnetic moment will be M=  

3. 

π
µο

4
 

3

2

d

m
 

d. If neutral point is on axial line then 

magnetic moment M will be :  

4. 

0

4

µ
π  3Hd   

 
 
lgh tksM+h cukb;s \ 
 
30- ¼v½ vuqpqEcdh; inkFkZ  ¼1½ ty 
 ¼c½ izfrpqEcdh; inkFkZ  ¼2½ fufdy 
  ¼l½ ykSg pqEcdh; inkFkZ  ¼3½ vkDlhtu 

Match the following : 

1. Paramagnetic Substance  a. Water  

2. Diamagnetic Substance  b. Nickel  

3. Ferro magnetic substance   c. Oxygen  

    

lR; ;k vlR; dFkuksa esa ls lR;@vlR; dFku crkb;s A 

STATE TRUE OR FALSE  

31- pqEcdh; ;kE;ksRrj ds ry esa ufr lqbZ Å/okZ/kj gksxh A 
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 A dip needle will be perpendicular to the plane of magnetic meridian.  

 

32- fdlh pqEcd dk pqEcdh; vk?kw.kZ rFkk i`Foh ds pqEcdh; {ks= dks Kkr djus ds fy;s 
fo{ksi pqEcdRoekih dh vko';drk gksrh gS A 
To determine the magnetic moment of a magnet and earths magnetic field, a 

deflection magnetometer is required.  

 

33- ,d 'kfDr'kkyh pqEcd lc inkFkksZ dks vkdf"kZr djrk gS A 
A powerful magnet attracts all materials.  

 

34- izfr pqEcdh; inkFkksZ ds fy;s pqEcdh; izo`fRr /kukRed gksrh gS A 
The magnetic susceptibility of dia-magnetic substance is positive.  

 

35- pqEcdh; {ks= dh SI i|fr esa bdkbZ cscj@ehVj2 gS A 

The S.I. unit of magnetic field is weber/m². 

 

36- ,d n.M pqEcd }kjk mRiUu nks cy js[kk,sa ,d&nwljs dks mnkluh fcUnq ij dkVrh 

gSaA 

 Two magnetic lines of force produced by a bar magnet intersects each other at 

neutral point.    

        

37- ;fn ,d n.M pqEcd ftldk pqEcdh; vk?kw.kZ M gS nks Hkkxksa esa foHkkftr fd;k tk;s 
rks izR;sd Hkkx dk pqEcdh; vk?kw.kZ 'kwU; gksxk A 

 If a bar magnet having magnetic moment ‘M’ is cut into two equal parts then 

magnetic moment of each part will be zero.  

 

38- lksus ds ,d VqdM+s dks ,d 'kfDr'kkyh pqEcd ds ikl yk;sa rks og VqdM+k izfrd"kZ.k 
oy vuqHko djsxk A 

 If a piece of gold is brought near a strong magnet then that piece will experience a 

force of repulsion.  

39- pqEcdh; /kqzoksa ds ikl ueu dks.k 90a gksrk gS A 
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 Angle of dip is 90° near magnetic poles.  

 

40- i`Foh ds pqEcdh; mRrjh /kqzo ij H dk eku vf/kdre gksrk gS A 

The value of H is maximum at earth’s magnetic north pole.  

    

fjDr LFkkuksa dh iwfrZ dfj;s \ 

Fill in the blanks 

 

41- fo|qr pqEcdksa ds fuekZ.k gsrq &&&&&&&&&&&&&&& dk iz;ksx fd;k tkrk gS A 
 To construct an electromagnet_________ is used.  

 

42- i`Foh ds ry ij {kSfrt {ks= okys foUnqvksa dks feyus okyh js[kk 
&&&&&&&&&&&&&&&&& dgykrh gS A 

 The line joining points of equal horizontal component are _________ 

 

43- D;wjh fcUnq ij ykSg pqEcdh; inkFkZ &&&&&&&&&&& cu tkrk gS A 
 At curie point the ferro magnetic substance becomes  _________ 

 

44- ;fn fdlh LFkku ij i`Foh ds pqEcdh; {ks= ds {kSfrt vkSj Å/oZ ?kVd cjkcj gS rks 
ml LFkku ds ufr dks.k dk eku &&&&&&&&&&&&&&&&& gksxk A 

 If the horizontal component and vertical component of earth’s magnetic field 

becomes equal at a place then angle of dip at that place will be _________ 

45- ok;q dh vkisf{kd ikjxE;rk &&&&&&&&&&&&&&&&&& gS A 
 Relative permeability of air is _________ 

46- NM+ pqEcdRo ds e/; esa pqEcdRo dk eku &&&&&&&&& gksrk gS A  
 The value of magnetic field at the centre of a bar magnet is _________. 

47 2l yEckbZ] M pqEcdh; vk?kw.kZ rFkk m    /kqzo lkeF;Z dh ,d pqEcdh; lqbZ dks mlds 
e/; fcUnq ls nks cjkcj Hkkxksa esa foHkkftr fd;k tkrk gS izR;sd Hkkx dk pqEcdh; 
vk?kw.kZ o /kqzo lkeF;Z &&&&&&&&&&&&&&&& gksxk A 

 A magnetic needle of effective length 2l, magnetic moment M  and pole strength m 

is cut into two equal parts. The magnetic moment and pole strength of each part 

will be _________ and _________.  
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48- bLikr ds lh/ks rkj dh yEckbZ L    rFkk pqEcdh; vk?kw.kZ M    gS tc bls eksM+ dj 

v)Zo`Rr dk vkdkj ns fn;k tkrk gS] rc bldk pqEcdh; vk?kw.kZ 

&&&&&&&&&&&&&&&& gksxk A 

 A steel wire of length L and magnetic moment M is bent into a semi circle, the new 

magnetic moment will be _________ 

49- ,d NksVs n.M pqEcd dh v{kh; fLFkfr vkSj fuj{kh; fLFkfr esa leku nwjh ij 
pqEcdh; {ks= dh rhozrkvksa dks vuqikr &&&&&&&&&&&&&& gksrk gS A 

 The ratio of the magnetic fields of a small bar magnet, at the points on its axis and 

on its neutral axis for equal distance is _________.  

 

50- i`Foh ds mRrjh /kqzo ij nksyu pqEcdRoekih esa pqEcd dks nksyu djkus ij nksyudky 

&&&&&& gksxk A 

 When a magnet is made to oscillate at north pole of earth in a vibration 

magnetometer then its time period will be _________ 

 

y?kq mRrjh; iz'u  

Short answer type  

1- pqEcd ds xq.k rFkk pqEcdRo dk vkf.od fl)kar fyf[k;s  
 Write properties of a magnet and molecular theory of magnetism  

2- pqEcdRo ds varxZr dwykWe dk O;qRØe oxZ&fu;e fyf[k;s rFkk mldh lgk;rk ls 
,dkad /kqzo dks ifjHkkf"kr dhft;s A 

Write coulombs inverse  square law of magnetism and define unit pole from it.  

3- pqEcdh; cy js[kkvksa dh ifjHkk"kk rFkk buds xq.k fyf[k;s A 
 Define magnetic lines of force and write its properties.  

4- ,d n.M pqEcd ds mRrjh /kqzo dks HkkSxksfyd mRrj dh vkj j[kdj cy js[kk;sa 
[khaph tkrh gSa mnkluh foUnq dh fLFkfr crkb;s rFkk pqEcd ds pqEcdh; vk?kw.kZ ,oa 
/kqzo izkoY; ds fy;s O;atd Kkr dhft;s A 

 Magnetic lines of force are drawn by keeping  the north pole of a magnet towards 

north of the earth, then tell the position of neutral point and also derive the 

formula for magnetic moment and pole strength of the magnet. 
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5- ,d n.M pqEcd ds mRrjh /kqzo dk HkkSxksfyd nf{k.k dh vksj j[kdj cy js[kk;sa 

[khaph tkrh gS mnklhu fcUnq dh fLFkfr crkb;s rFkk pqEcd ds pqEcdh; vk?kw.kZ ,oa 

/kqzo izkcY; ds fy;s O;atd Kkr dhft, A 

 Magnetic lines of force are drawn by keeping the north pole of a magnet towards 

geographical south, then tell the position of neutral point and also derive the 

formula for magnetic moment and pole strength of the magnet. 

6- fo|qr okgh ifjukfydk ds pqEcdh; {ks= dk ukekafdr fp= cukb;s rFkk fljksa ij 
/kqzork Kkr djus ds fu;e fyf[k;s A 

 Draw a labelled diagram for current carrying solenoid and write the laws for 

determining poles at each end of solenoid.  

7- ,d leku pqEcdh; {ks= esa � dks.k ij j[ks ,d n.M pqEcd ij dk;Z djus okys 
oy;qXe ds vk?kw.kZ dk O;atd Kkr dhft;s A 
Derive the formula for torque acting on a bar magnet kept in a uniform magnetic 
field at an angle � with it.  

8- fo{ksi pqEcdRoekih dks iz;ksx esa ykrs le; gksus okyh pkjks lEHkkfor =qfV;ksa dks 

fyf[k;s rFkk muds fuokj.k ds mik; crkb;s A 

 Write the four possible errors and their corrections while using a deflection 
magnetometer. 

9- xkWl dh tan A fLFkfr D;k gS fl) dhft;s fd ( )222

2d

ld

H

M −=  tanθ 

 tgka ladsrks ds lkekU; vFkZ gS 

 What is tan A position of Gauss and Prove that 
( )222

2d

ld

H

M −= tanθ, where symbols 

have usual meaning.  

10- xkWl dh tan B    fLFkfr D;k gS fl) dhft;s fd ( )2

3
22 ld

H

M +=  tanθ 

 tgka ladsrks ds lkekU; vFkZ gS A 

 What is tanB position of gauss prove that ( )2

3
22 ld

H

M += tanθ where symbols have 

their usual meanings.  

11- H    dk fujis{k eku Kkr djus ds fy;s vko';d lw= izfrikfnr dhft;s A 
rqyuk vki fdl izdkj djsaxs A  

Derive the formula to determine the absolute value of H.  
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12-  M    dk fujis{k eku Kkr djus ds fy;s vko';d lw= izfrikfnr dhft;s A 
  Derive the formula to determine the absolute value of M.  

13- nksyu pqEcdRoekih dh lgk;rk ls i`Foh ds nks LFkkuksa dh {kSfrt rhozrkvksa dh 

rqyuk dSls djsaxsaA 

 How will you compare the Horizontal Component of Earth’s magnetic field at two 

places with the help of vibration magnetometer.  

14-  izfr pqEcdh; vuqpqEcdh; rFkk ykSg pqEcdh; inkFkksZ esa varj fyf[k;s A 
 Write differences between para-magnetic, dia-magnetic and ferro-magnetic 

substances.  

15-  ueZ yksgs rFkk LVhy ds pqEcdh; xq.kksa esa varj fyf[k;s A 
 Write difference between magnetic properties of soft iron and steel.  

16-  ikfFkZo pqEcdRo ls vki D;k le>rs gSa bldh mRifRr dk dkj.k le>kb;s A 
 What do you understand by terrestrial magnetic. Explain the reason for its 

formation.  

17- pqEcdh; rwQku fdls dgrs gS Hkw&pqEcdh; rRoksa esa (i)    nSfud ifjorZu (ii)    okf"kZd 

ifjorZu rFkk (iii)    nh?kZdkfyd ifjorZu dks le>kb;s A 

 What is magnetic storm. Explain daily changes yearly changes and long time 

changes in magnetic elements.  

18- ,d pqEcd dk pqEcdh; vk?kw.kZ 0-1 ,fEi;j&ehVj2 gS bls 3333x10101010----4444    oscj@ehVj2 dh   
rhozrk okys pqEcdh; {ks= esa yVdk;k x;k gS bl ij yxus okys cy;qXe ds vk?kw.kZ 
dh x.kuk dhft;s tks mls pqEcdh; {ks= ls 300 ij fo{ksfir dj lds A ¼Ans. 1.5 x 

10–5 N-m½ 
 A magnet of magnetic moment 0.1 A -m² is suspended. freely in a magnetic field 

of intensity 3x10-4W/m² calculate the torque which deflects the magnet by an 

angle 30° with the field.  

19- ,d pqEcd dk pqEcdh; vk?kw.kZ 20 C.G.S.    ek=d gS mls 0-3 C.G.S.    ek=d okys 

pqEcdh; {ks= esa Lora=rkiwoZd yVdk;k x;k gS bldks 300 ls fo{ksfir djus ds fy;s 

C.G.S.    i|fr esa fdruk dk;Z djuk gksxk A   

A magnet of Magnetic Moment 20 C.G.S. unit is freely suspended in a magnetic 

field of 0.30 G.S. unit calculate the work done to deflect this magnet by 30°. 
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20- fdlh LFkku ij i`Foh ds {ks= dk Å/okZkj vo;o 316.0 vksLVsZM gS ;fn ogka ij 

ueu dks.k 300 gks] rks (i) H    vksj (ii) I ds eku Kkr dhft;s A 

The vertical component of Earth’s magnetic field at a place is 316.0  oersted. If 

angle of dip at this plane is 30° then calculate H & I ?  

 

nh?kZ mÙkjh iz'u  

LONG ANSWERS TYPE  

1- pqEcdh; {ks= dh rhozrk ls vki D;k le>rs gSa ,d n.M pqEcd ds lkis{k v{kh; 
fLFkfr esa pqEcdh; {ks= dh rhozrk ds fy;s O;atd Kkr dhft;s A 

 What do you understand by Intensity of Magnetic field Derive the expression for 

the intensity of magnetic field at a point on the axis of a bar magnet.  

2- ,d n.M pqEcd ds lkis{k fuj{kh; fLFkfr esa pqEcdh; {ks= dh rhozrk ds fy;s 

O;atd Kkr dhft;sA 

 Obtain expression for the intensity of magnetic  field at a point in broad side on 

position due to a bar magnet.  
 

3- ,d n.M pqEcd dks fdlh ,d leku pqEcdh; {ks= esa ?kqekus ds fy;s fd;s x;s 

dk;Z ds fy;s O;atd LFkkfir dhft;s A  

Calculate the work done in rotating a magnet in a uniform magnetic field.  

4- pqEcdRo ds fy;s Li'kZT;k fu;e fy[kdj fl) dhft;s rFkk bldh vko';d 'krsZ 

fyf[k;sA  

 State and prove tangent law. Write conditions for the law to be obeyed.  

5- nksyu pqEcdRoekih dk fl)kar le>krs gq;s blds nksyu dky gsrq O;atd 

izfrikfnr dhft;sA 

 Explain the theory of vibration Magnetometer and Derive the expression for the 

time period of a magnet placed in vibration magnetometer. 

6- fo{ksi pqEcdRoekih fdl fl)kar ij dk;Z djrk gS blds }kjk nks pqEcdksa ds 
pqEcdh; vk?kw.kksZ dh rqyuk djus ds fy;s A 

 (i)tan A ,oa tan B    fof/k;ksa esa ls dkSu lh fof/k vPNh ekuh tkuh gS vkSj D;ksa \ 
(ii)fo{ksi fof/k ,oa 'kwU; fo{ksi fof/k esa ls dkSu lh fof/k vPNh gS vkSj D;ksa \ 
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 Write the law on which deflection Magnetometer Works. While comparing the 

magnetic moments of two magnets 

 (i) which method is better tan A or tan B and why 

 (ii) which method is better deflection method or null deflection method and    

why.  

7- nksyu pqEcdRoekih }kjk i`Fkd pqEcd fof/k ls 
2

1

M

M fdl izdkj Kkr djsaxs A 

 Describe the separate method to compare the magnetic moments 
2

1

M

M
of two 

magnets by a vibration magnetometer.  

8- pqEcdRo dk ijek.oh; ekWMy D;k gS blds vk/kkj ij izfrpqEcdRo vuqpqEcdRo 
rFkk ykSg pqEcdRo dh O;k[;k dfj;s A 

 What is the atomic model of magnetism ? On this basis, explain the 

diamagnetism, paramagnetism and ferro magnetism.  

 

9- ufrekih D;k gS  bldh lajpuk le>k;s rFkk crkb;s fd bldh lgk;rk ls fdlh 

LFkku ij ueu dks.k dh eki fdl izdkj dh tkrh gS A 

 What is dip circle ? Explain its construction and How is the angle of dip at a place 

measured by its use.  

nh?kZ mRrjh; iz'u  

ESSAY TYPE QUESTIONS  

1- fo{ksi pqEcdRoekih dh lgk;rk ls fo{ksi fof/k }kjk nks pqEcdksa ds pqEcdh; vk/kwoksZ 
dh rqyuk djus dh fof/k dk o.kZu fuEu 'kh"kZdksa ds varxZr dhft;s A 

  (i) fl)kar (ii) lw= dh LFkkiuk (iii) izs{k.k (vi) nks izeq[k lko/kkfu;ksa 
 Describe the deflection method to compare the magnetic moments of two 

magnets by a deflection magnetometer under the following headings. 

(i) Theory  (ii) Derivation of the Formula  (iii) Observation   

(ii) (iv) Two main precautions.  

2- fo{ksi pqEcdRoekih }kjk nks pqEcdksa ds pqEcdh; vk?kw.kksZ dh rqyuk djus dh vfo{ksi 
fof/k dk o.kZu fuEu 'kh"kZdksa ds varxZr dhft;s A 

 (i) fl(a)kar (ii) lw= dh LFkkiuk (iii) izs{k.k (vi) nks izeq[k lko/kkfu;ksa 
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 Describe the null method to compare the magnetic moments of two magnets by a 

deflection magnetometer under the following points.  

(i) Principle    (ii) derivation of formula  

(iii) observations  (iv) two main precautions 

 

3- nksyu pqEcdRoekih ls ;ksxkRrj fof/k }kjk nks pqEcdksa ds pqEcdh; vk?kw.kksZ dh rqyuk 
djus ds iz;ksx dk o.kZu fuEu 'kh"kZdks ds varxZr dhft;s A] 

 (i) pqEcdksa dh fLFkfr dk js[kkfp=  (ii) lw= dh LFkkiuk 
 (iii) izs{k.k      (iv) fof/k dk nks"k  
 (v) dksbZ rhu lko/kkfu;ka  
 
 Describe the sum and difference method for comparison of magnetic moments of 

two magnet by a vibration magnetometer on the basis of following points . 

(i) Digram for the position of magents  (ii) derivation of formula  

(iii)observation     (iv) It defects  

(v) any there precautions. 

 

4- ifjHkk"kk fyf[k;s  

(i) ueu dks.k (ii) i`Foh ds pqEcdh; {ks= dk {kSfrt ?kVd (iii) fnd~ikr dks.k H, V    

rFkk I esa laca/k LFkkfir dfj;s A 

 Define the following  

(i) Angle of dip  

(ii) Horizontal components of Earth’s magnetic field.  

(iii) Angle of declination  

(iv) Derive a relationship between . 

 

 

--------------- 
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bZdkbZ &6 fLFkj fo|qrbZdkbZ &6 fLFkj fo|qrbZdkbZ &6 fLFkj fo|qrbZdkbZ &6 fLFkj fo|qr 

UNIT –6 ELECTROSTATICS 

oLrqfu"B iz'u %  

Objective Questions :  

1- ,d dwykWEc vkos'k esa bysDVªkWuksa dh la[;k gksrh gS A 
 ¼v½ 5.46x1029    ¼c½ 6.25x1018    

¼l½ 1.6x1019   ¼n½ 9-0x1011 

 No. of electrons in one coulomb charge are :-  

 (a)  5.48x1029   (b)  6.25x1018 

 (c)  1.8x1019   (d)  9.0x1011 

 

2- eqDr vkdk'k esa ijkoS/kqrkad �o dk dk ek=d gS A 

 ¼v½ dwykWe@U;wVu ehVj  ¼c½ U;wVu ehVj2@dwykWe2  

¼l½ dwykWe2@¼U;wVu ehVj½2 ¼n½ dwykWe@U;wVu ehVj2 

 Unit of absolute permittivity �o in free space is :-  

 (a)  Coulomb / Neutron   (b)  Newton m²/coulomb² 

 (c)   Coulomb²/Newton²   (d)  coulomb / Newton m² 

 

3- ;fn vkosf'kr d.kksa ds e/; dh nwjh vk/kh dj nh tkrh gS] rks d.kksa ds e/; dk cy 
gksxk A 

 ¼v½ ,d pkSFkkbZ  ¼c½ vk/kk  

¼l½ nqxuk   ¼n½ pkj xquk 

 If the distance between two charged particles is halved then the force between 

the particles will be :-  

 (a)  one fourth   (b)  half  

 (c) double   (d)  4 times  

 

4- nks vkos'k µ1 C vkSj µ5 C gS mu ij yxus okys cy dk vuqikr gksxk A 
 ¼v½ 1 % 5  ¼c½1% 1 ¼l½ 5 % 1  ¼n½ 1 % 25 
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 The ratio of the force between two charges of µ1 C and µ5 C will be  

 (a)  1 : 5  (b) 1 : 1 (c)  5 : 1  (d)  1 : 25 

5- ,d leku vkosf'kr xksykdj pkyd ds Hkhrj tkus ij oS|qr {ks= dh rhozrk E 
 ¼v½ c<+rh gS     ¼c½ ?kVrh gS  

¼l½ leku jgrh gS ftruh i`"B ij gS  ¼n½ lHkh fcUnqvksa ij 'kwU; gksrh gSA  

The electric field intensity E, inside a uniformly charged conductor:  

 (a)  Increases    (b)  decreases  

 (c)  is same as on surface  (d)  is zero at every point  

 

6- oS|qr {ks= dh rhozrk dk ek=d gS A 
 ¼v½ oksYV x ehVj   ¼l½ oksYV@twy 

¼c½ oksYV x twy   ¼n½ oksYV@ehVj 

 The unit of electric field intensity is :-  

 (a)  Volt / metre    (b)  Volt/Joule  

 (c)  Volt x Joule    (d)  volt/metre  

7- ,d lkcqu ds cqycqys dks _.k vkos'k fn;k x;k gS A rks mldh f=T;k & 
 ¼v½ de gks tkrh gS A  ¼c½ c<+ tkrh gS 

¼l½ vifjorhZr jgrh gS A ¼n½ tkudkjh v/kqjh gS A 

 If a soap bubble is given negative charge, then its radius  

 (a)  decreases    (b)  increases  

 (c)  remains unchanged  (d)  information is incomplete.  

 

8- ,d 5 lseh f=T;k ds [kks[kys xksykdkj pkyd dks 10 oksYV rd vkosf'kr fd;k 
tkrk gS A xksys ds dsUnz ij foHko dk eku gksxk A 

 ¼v½ 10v      ¼c½ 0v  
¼l½ leku ftruk fd mlls 5 lseh dh nwjh ij gksrk gS A 
¼n½ leku ftruk dh mlls 25 lseh dh nwjh ij gksrk gS A 

 A hollow spherical conductor of radius 5 cm. is charged upto 5 volt. The potential 

at the centre of sphere will be :-  

 (a) 10V     (b) OV 

 (c) Same as its value at 5 cm from it.   

(d) same as its value at 25 cm from it.  
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9- oS|qr {ks= dh rho`rk E rFkk oS|qr foHko v ds e/; laca/k gksrk gS A 

 ¼v½ V = 
dx

dE     ¼c½ E = 
dx

dv    

¼l½ E = 
dx

dv−
    ¼n½ E= vxd 

 The relation between Electric field intensity E and electric potential V is :-  

 (a) V = 
dx

dE
    (b) E = 

dx

dv
 

 (c) E = 
dx

dv−
    (d) E’ = Vxd  

 

10- _.k oS|qr vkos'k ds pkjksa vksj cy js[kk,a gksrh gS A 
 ¼v½ okeko`r o`rkdkj  ¼c½ o`Rrkdkj nf{k.kko`Rr 

¼l½ Hkhrj dh vksj jsfM;y ¼n½ ckgj dh vksj jsfM;y 

 Electric lines of force around a negative electric charge are  

 (a) Anticlockwise Circular   (b) Circular clockwise  

 (c) Radially inward    (d) radically outward  

 

11- le foHko i`"B rFkk fo|qr cy js[kkvksa ds chp dks.k gksrk gS A 
 ¼v½ 'kwU; ¼c½ 1800 ¼l½ 900 ¼n½ 450 

 Angle between equipotential surface and electric lines of force is  

 (a) 0°    (b) 180° 

 (c) 90³    (d) 45° 

12- ok;q esa fLFkr bdkbZ /ku vkos'k ls fudyus okys lEiw.kZ fo|qr ¶yDl dk eku vkos'k 
ds xq.kk gksrk gS A 

 ¼v½ εο ¼c½ εο
−1 ¼l½ ¼4πεο½-1  ¼n½ 4πεο 

 The total flux emitted from a unit positive charge in air is the product of charge 

and :-  

 (a)  εο     (b) εο
−1 

 (c) ¼4πεο½-1    (d) 4πεο 
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13- ikuh dk ijkoS/kqrkad gS A 
 ¼v½ 300   ¼c½ 5  

¼l½ 80   ¼n½ 1 

 Dielectric constant of water is :-  

 (a) 300    (b) 5 

 (c) 80     (d) 1 

 

14- co vkSj cm mlh la/kkfj= dh Øe'k% fuokZr ek/;e ,oa ijkoS/kqr ek/;e ds fy, 
/kkfj;k,sa gS] rks ek/;e dk ijkoS/kqrkad gS A 

 ¼a½ co/cm ¼b½ 
o

m

c

c
 ¼c½ cm-co ¼d½ mij ks Dr dks bZ ugh a A 

If Co and Cm are the capacities of the capacitor in vacuum medium and dielectric 

medium, then the dielectric constant will be  

 (a) Co/Cm    (b) 
o

m

c

c
 

 (c) Cm x Co    (d) None of the above  

 

 fjDr LFkkuksa dh iwfrZ djsa & 

Fill in the blanks :-  

 

15- fdlh Hkh vkosf'kr oLrq ij vkos'k dk eku e ij vkos'k dk 

&&&&&&&&&&&&&&xq.kt gksrk gS A  

 The value of charge on a charged particle is ____________ multiple of e.  

2- vkos'k ¾ &&&&&&&&&&&&&&&&&&& x le;  

 Charge = ____________x  time  

3- ,d izkVksu ij vkos'k dk eku &&&&&&&&&&&&&&&& dwykWe gksrk gS A 

 The charge of proton is ---------------- coulomb.  

4- oS/kqr f}/kqo vk?kww.kZ ¼T½ dk lw= &&&&&&&&&&&&& gS A 

 The formulae of electric dipole moment is ____________.  
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5- dykWe dk fu;e dsoy &&&&&&&&&&&& ehVj ls vf/kd nwjh ds fy, gh lR; 
gS A 

 Coulomb’s law holds good for distance more than ____________ metre.  

6- fo/kqr cy js[kk,a &&&&&&&&&&&& oØ gksrh gS A 
Electric lines of force are ____________ curve.  

7- ijkoS/kqrkad dk ek=d &&&&&&&&&&&& gS A 
 Unit of dielectric constant is ____________.  

8- 1 e v = &&&&&&&&&&&&&& twy gksrk gS 

 1 e V = ____________ Joule.  

9- E = - 
( )
∆Χ
___

 

 E = - 
( )
∆Χ
___

 

10- ,d leku vkosf'kr xksyh; pkyd ds vanj foHko ds eku dk lw= V = ---------- gksrk 

gS A 

 Formula for potential inside a uniformly charged spherical conductor is V = 

____________. 

11- vkos'k izokg dh fn'kk &&&&&&&&&&&& ij fuHkZj djrh gS A 
 The direction of flow of charge depends upon ____________.  

12- 1µ F o 2µ F ds nks la/kkfjr dks Js.khØe esa tksM+us ij izHkkoh /kkfjrk 
&&&&&&&&&& gksxh A 

 The equivalent capacitance of the series combinations of the capacitors of 1 µ F 

and 2 µ F is ____________.  

13- la/kkfjr esa lafpr ÅtkZ dk lw= &&&&&&&&&&&&& gS A 
 Formula for energy stored in capacitor is ____________. 

14- le foHko i`"B ij foHko dk eku &&&&&&&&&&&&&&& gksrk gS A 

 The value of Potential on an equipotential surface is ____________.  

15- ok;q esa la/kkfj= dh /kkfjrk C gS rks ijkoS/kqrkad k ek/;e esa /kkfjrk 
&&&&&&&&&&& gksxh A 

 If ‘C’ be the capacity of capacitor in air, then its value in the dielectric medium K 

will be ____________.  

16- xksyh; pkyd dh /kkfjrk mldh &&&&&&&&&&&&& ds cjkcj gksrh gS A 
 Capacity of spherical conductor is equal to its ____________.  
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17- 1 dwykWe eas vkos'kksa dh la[;k &&&&&&&&&&&&& gksrh gS A 

 No. of charges in one coulomb of charge will be ____________.  

 
 
    lgh tksM+h cukvksa Algh tksM+h cukvksa Algh tksM+h cukvksa Algh tksM+h cukvksa A    
    
        vvvv                            cccc    
1- 1 dwykWe esa vkos'kks dh la[;k gksrh gSa   1- 1.6x10-19 c 
2- εo dk eku gS A   2- 1 

3- ok;q dk ijkoS|qrkad k dk eku gksrk gSa   3- 8.9x10-12 C/N m2 

4- ewy vkos'k dk eku   4- 3x1010 e.s.u. vkos'k 
5- 1 e.m.u. vkos'k   5- 6.25x1018  
 
1 No. of charge in 1 coulomb  1 1.6x10-19C 

2 Value of εo 2 1 

3 Dielectric constant of air is 3 8.9x10-12 C/Nm² 

4 Value of fundamental charge  4 3x1010 e.s.u. charge 

5 1 e.m.u. charge  5 6.25x1018 

 
 

  vvvv                            cccc    
1- fo/kqr {k= dh rhozrk dk ek=d   1- 'kwU; gksrk gS A 
2- f}/kqzo ds v{k ij dk dk lw=   2- U;wVu@dwykWEc 
3- f}/kqzo ds fuj{k ij dk dk lw=   3- leku gksrk gS A 
4- f}/kqo ds yEcor v{kij foHko dk eku   4- p/r3 

5- vkosf'kr pkyd ds vanj foHko   5- 
3

2

r

p
 

 
1 Unit of Electric Field intensity is 1 0 

2 Formula for ‘E’ on axial pt. of electric dipole is 2 Newton / Col. 

3 Formula for ‘E’ on equatorial point of dipole is 3 Equal (Same)   

4 Potential on equatorial point of dipole is  4 P/r³ 

5 Potential inside a charge conductor  5 

3

2

r

p
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vvvv                            cccc    

1- /kkrq dk ijkoS/kqrkad gksrk gS A   1- twy 
2- fo|qr /kkfjrk dk ek=d   2- oksYV 
3- fo|qr foHko dk ek=d   3- vuar 
4- fo|qr ÅtkZ dk ek=k   4- ?kVsxk 
5- /ku vkosf'kr djus ij oLrq dk Hkkj   5- QSjM 
 
1 Dielectric Constant of a metal is  1 Joule 

2 Unit of electrical capacity  2 Volt  

3 Unit of electric potential  3 Infinity 

4 Unit of electrical energy  4 decreases 

5 Weight of object when it is given positive charge.  5 Farad 

    
    
vvvv                            cccc    

 
1- _.k vkosf'kr djus ij oLrq dk Hkkj   1- c<+sxh 
2- ijkoS/kqrkad k fd mifLFkfr esa /kkfjrk   2- ?kVsxk  
3- ijkoS/kqrkad k fd mifLFkfr esa foHko   3- ?kVsxh 
4- ijkoS/kqrkad k fd mifLFkfr esa oS|qr cy  4- c<+sxk 
5- ijkoS/kqrkad k fd mifLFkfr esa rhozrk   5- ?kVsxk 
 
1 Weight of object when it is given negative charge.   1 Increases 

2 Capacity of a capacitor in the presence of dielectric 

constant K.  

2 Decreases 

 

3 Potential in the presence of dielectric constant K.  3 Decreases  

4 Electric force in the presence of dielectric  

constant K.  

4 Increases 

5 Electric field in the presence of dielectric  

constant K.  

5 Decreases 
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 lR;@vlR; crkb;s \ 
State true or false statement. 

1- dkWp dh NM+ dks tc js'ke ij jxM+k tkrk gS rks NM+ js'ke ls bysDVªku izkIr djrh 
gS A         ¼lR;@vlR;½ 
When glass is rubbed with silk then glass rod acquires electrons from silk.    

(True / False)   

2- fo|qr cy js[kk,a can oØ gksrh gS A    ¼lR;@vlR;½ 
 Electric lines of force are close curve.     (True / False) 

3- fo|qr cy js[kk,a lnSo vkosf'kr i`"B ds yEcor gksrh gS A  ¼lR;@vlR;½ 
 Electric lines of force are perpendicular to charged surface.  (True / False) 

4- fo|qr cy js[kk,a pkyd ds vanj mifLFkr gksrh gS A   ¼lR;@vlR;½ 
 Electric lines of force remain inside the conductor.   (True / False) 

5- leku vkos'kks ds e/; vkd"kZ.k cy yxrk gS A    ¼lR;@vlR;½ 
 Like charges attract each other.      (True / False) 

6- fdlh oLrq dks /ku vkosf'kr djus dk vFkZ gS dh oLrq ls bysDVªku fudkyuk A 

          ¼lR;@vlR;½ 
 A body is given positive charge. It means it has lost electrons. (True / False) 

7- vkos'k laj{k.k ds fu;e ls fdlh Hkh vkos'k dks foHkkftr fd;k tk ldrk gS A 
  ¼lR;@vlR;½ 
 Charge can be divided as per law of conservation of charge. (True / False) 

8- vkos'k ,d lfn'k jkf'k gS A  ¼lR;@vlR;½ 
 Charge is a vector quantity.      (True / False) 

9- fo|qr cy ,d izcy cy gS A  ¼lR;@vlR;½ 
 Electrotatic force is a strong force.     (True / False)  

10- ukfHkd ds vanj mifLFkr d.kksa izksVkWu&izksVkWu ds e/; rhoz vkd"kZ.k cy yxkrk gSA 
¼lR;@vlR;½  

 There is a strong attractive force between proton-proton inside the nucleus.  

(True / False)  

11- ukfHkd esa mifLFkr vkos'kksa ds fy, dwykWe dk fu;e ykxw gksrk gS A   
  ¼lR;@vlR;½ 
 Coulomb law holds good for the charges present inside the nucleus.  

(True / False)  

12- nks vkosf'kr oLrqvksa ds e/; ijkoS|qr ek/;e j[kus ij muds e/; yxus okys  cy 
dk eku c<+ tkrk gS A ¼lR;@vlR;½ 
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 Force between two charges increases when a dielectric medium is introduced 

between  them.        (True / False)  

13- oS|qr f}/kqzo vk?kw.kZ ,d lfn'k jkf'k gS A     ¼lR;@vlR;½ 
 Electric dipole moment is a vector quantity.     (True / False)  

14- xkWl izes; rHkh ykxw gksrh gS tc vkos'k can i`"B ds vanj mifLFkr gks A  
  ¼lR;@vlR;½ 
 Gauss theorem holds good when the charge is enclosed by close surface.  

(True / False)  

15- nks fo|qr cy js[kk,W ,d nwljs dks dkV ldrh gS A  ¼lR;@vlR;½ 

 Two electric lines of force can intersect each other   (True / False)  

16- nks cjkcj rFkk ltkrh; vkos'kksa ds Bhd chp esa ifj.kkeh fo|qr {ks= dh  
 rhozrk 'kwU; gksrh gS A      ¼lR;@vlR;½ 

 The electric field intensity at the mid point to  the distance between two equal and 

similar charges is Zero.       (True / False)   

17- nks vkosf'kr pknjksa ds e/; fo|qr {ks= dh rhozrk dk eku nwjh r ij fuHkZj ugha 

djrk A        ¼lR;@vlR;½ 

 The electric field intensity between two charged sheet is independent of distance 

r .          (True / False) 

18- i`Foh dk foHko 'kwU; ekuk tkrk gS A ¼lR;@vlR;½ 
 Potential of earth is zero.       (True / False) 

19- vuarh ij fo|qr foHko dk eku 'kwU; ugha gks ldrk A  ¼lR;@vlR;½ 
 Electric potential cannot be zero at infinity.    (True / False) 

20- le foHko i`"B ,d nwljs dks dHkh ugha dkV ldrs A  ¼lR;@vlR;½ 
 Equipotential surface do not intersecpt each other.   (True / False)  

21- fo|qr foHko vfn'k jkf'k gS A   ¼lR;@vlR;½ 
 Electric potential is a scaler quantity.     (True / False)  

22- fdlh pkyd dk foHko mlds vkos'k dh ek=k ds O;qRØekuqikrh gksrk gS A   
          ¼lR;@vlR;½ 
 Electric potential of a conductor is inversely proporsional to the charge on a 

conductor.  (True / False) 
23- fdlh vkosf'kr pkyd ds lehi vuvkosf'kr pkyd j[kus ij vkosf'kr pkyd dk 

foHko ?kV tkrk gSA  ¼lR;@vlR;½ 
 When an uncharged conductor is brought near a charged conductor the potential 

of the charged conductor is decereased.  (True / False) 
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24- vkos'k dks mRiUu Hkh fd;k tk ldrk gS A rFkk u"V Hkh fd;k tk ldrk gS A 
         ¼lR;@vlR;½ 

 Charge can be created and destroyed.     (True / False) 
 
fooj.kkRed iz'ufooj.kkRed iz'ufooj.kkRed iz'ufooj.kkRed iz'u    
1- ?k"kZ.k fo|qr ls vki D;k le>rs gS A bldh mRifRr dh O;k[;k dhft, A 
 What do you mean by frictional electricity. Explain its origin.  

2- vkos'k laj{k.k dk fu;e D;k gS \ mnkgj.k nsdj Li"V djks \ 
 What is law of conservation of energy. Explain by example.  

3- nks fcUnq vkos'kksa ds e/; yxus okys vkd"kZ.k cy ;k izfrd"kZ.k cy laca/kh dwykWe dk 
fu;e  S.I. i)fRr esa fyf[k, A bl fu;e ds ykxw gksus dh 'krsZ Hkh fyf[k,A 

 Write the coulombs law related to attraction or repulsion between two point 

charges in S.I. unit. Also write the condition to apply this law.  

4- dwykWe dk fu;e fyf[k, rFkk bl fu;e ds vk/kkj ij ,dkad vkos'k dh ifjHkk"kk 
fyf[k, A 

 Write coulomb’s law and define unit charge at the basis of it.  

5- fo|qr cy js[kk dh ifjHkk"kk fy[kdj] cy js[kkvksa ds xq.k fyf[k, A 

 Define electric lines of force and write their properties.  

6- pqEcdh; cy js[kkvksa rFkk oS|qr cy js[kkvksa esa varj Li"V djksa A 
 Explain the difference between magnetic lines of force and electric lines of force.  

7- fo|qr {ks= dh rhozrk dh ifjHkk"kk] ek=d] foeh; lw= fy[kks \ 
 Define electric field intensity. Write its unit and dimensional formula.  

8- fdlh fcUnq vkos'k Q ds dkj.k mlls  r nwjh ij fo|qr {ks= dh rhozrk dk O;atd 
izkIr dhft, \ 

 Derive an expression for electric field intensity due to a point charge at a distance 

‘r’ from it.  

9- D;k nks fo|qr cy js[kk;sa ,d nwljs dks dkV ldrh gS A ;fn ugha rks dkj.k Li"V 
djks A 

 Can two lines of force intersect each other ? Justify your answer.  

10- ,d leku fo|qr {ks= esa fo|qr f}/kqzo ij yxus okys cy;qXe&vk?kw.kZ ds fy, 
vko';d lw= dh LFkkiuk djks A bldh lgk;rk ls f}/kqzo vk?kw.kZ dh ifjHkk"kk 
fyf[k, A 

 Derive an expression for torque on an electric dipole placed in uniform electric 

field. Hence define electric dipole moment.  

11- ;fn fdlh fo|qr f}/kqzo dks ,d leku fo|qr {ks= esa q dks.k ij ?kqek;k tkrk gS rks 
bl fØ;k esa fd;s x;s dk;Z dh x.kuk dhft, A 
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 Derive an expression for work done in rotating a dipole by an angle ‘θ’ in uniform 

electric field.  

12- fo|qr f}/kqzo dh fLFkfrt ÅtkZ ls D;k rkRi;Z gS \ ,d leku fo|qr {ks= esa fdlh 
fLFkfr tcfd fo/kqzr {ks= esa fdlh fLFkfr tcfd f}/kqzo v{k {ks= dh fn'kk ls θ dks.k 
cukrh gS A esa fLFkfrt ÅtkZ dk O;atd izkIr dhft, A 
What is meant by potential energy of electric dipole ? Derive an expression 

potential energy of dipole making angle “θ” with uniform electric field.  

13- fo|qr f}/kqzo ds dkj.k ¼ i½ v{kh; fLFkfr ¼ ii½ vuqizLFk ¼fujh{k; fLFkfr½ esa fdlh 
fcUnq ij fo|qr {ks= dh rhozrk dk lw= iz;qDr ladsrksa dk vFkZ cukrs gq, fyf[k,A 

 Derive an expression for electric field due to a dipole at any point on (i) Axial line 

and (ii) equatorial line. Explain the meaning of symbols used in formula.  

14- fo|qr ¶yDl dks ifjHkkf"kr dhft, rFkk fl) djks fd fo|qr {ks= ds lekarj i`"V 
ls xqtjus okys fo|qr ¶yDl dk eku 'kwU; gksrk gS A 

 Define electric flux and prove that the net flux crossing parallel to electric field to 

zero.  

15- xkWl izes; fyf[k, rFkk blds }kjk dwykWe dk O;rØe oxZ fu;e fuxfer djksA 
 State Gauss theorem and obtain coulomb’s inverse square law from it.  

16- fdlh fo|qr f}/kqzo ds dkj.k v{kh; fLFkfr esa fdlh fcUnq ij fo/kqzo {ks= dh rhozrk 
dk O;atd izkIr dhft, A 

 Derive an expression for electric field due to a dipole at any point on axial line.  

17- fdlh fo|qr f}/kqzo ds dkj.k fuj{kh; fLFkfr esa fdlh fcUnq ij fo|qr {ks= dh rhozrk 
dk O;atd izkIr dhft, A 

 Derive an expression for electric field due to a dipole at any point on equatorial 

line.  

18- xkWl izes; fy[kks rFkk mls fl) djks A 
 State and prove Gauss theorem. 

19- xkWl esa izes; ds mi;ksx ls fdlh fcUnq vkos'k ds dkj.k fo|qr {ks= dh rhozrk Kkr 
dhft, A 

 Using Gauss theorem obtain electric field due to a point charge at any point.  

20- fdlh vkosf'kr pkyd xksys ds dkj.k fo|qr {ks= dh rhozrk fuEufyf[kr fLFkfr;ksa esa 
Kkr dhft,A  

 ¼v½ xksys ds ckgj ¼c½ xksys ds i`"B ij ¼l½ xksys ds Hkhrj A 
 Obtain an expression for electric field due to a spherical charged conductor at 

any point (i) outside  the sphere (ii) on the surface and (iii) inside the sphere.  
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21- xkWl ds fu;e }kjk js[kh; vkos'k ds dkj.k fo|qr {ks= dh rhozrk Kkr dhft, rFkk 
fl) dhft, fd fo|qr {ks= nwjh ds O;qRd`ekuqikrh gksrh gS A 

 Using Gauss theorem, obtain the electric field intensity due to line charge and 

prove that the electric field is inversely proportional to the distance.  

22- ;fn vki ,d dkj esa tk jgs gS A vkSj fctyh fxjus okyh gS rks vius vkidks 
lqjf{kr djus ds fy, vki D;k djsaxs A 

 If you are in a car and lightning is about to occur then what will you do to protect 

yourself ?  

23- vR;kf/kd vkosf'kr /kkrq ds fiatjs ds vanj fLFkr vkneh dks fctyh dk >Vdk ugha 
yxrk gS A   D;ksa \ 

 A person inside on extremely highly charged metallic cage doesn’t experience 

electric shock. Why ?  

24- Toyu'khy inkFkZ ys tkus okys okgu essa pyrs le; i`Foh dks Nwrh gqbZ /kkfRod 
jfLl;kW yVdk nh tkrh gS D;ksa \  

 Vehicle carrying inflammable materials usually have metallic rope touching the 

ground during motion why ?  

25- nks fcUnq vkos'k $9e ,oa $e ,d nwljs ls 8 ehVj nwjh ij fLFkr gS A buds chp 
,d vkos'k Q dks dgkW j[kk tk;s fd og larqyu esa gks \ ¼mRRkj 9e vkos'k ls 6 
ehVj nwj½ 

 Two point charges +9e and +e are 8 m apart. Where should a charge ‘θ’ be 

placed between them so that it remain in equilibrium ?  

26- fdlh fcUnq ij fo|qr foHko dh ifjHkk"kk nhft, A ,d fcUnq vkos'k ds dkj.k fdlh 

fcUnq ij foHko ds O;atd dh LFkkiuk dhf,t A 

 Define electric potential at any point. Obtain an expression for electric potential 

due to a point charge at any point. 

27- foHko fdls dgrs gS \ fdlh pkyd ds foHko dks izHkkfor djus okys dkjdksa ds uke 
fyf[k, A 

 What is potential? Write the name of the factors affecting the potential of a 

conductor.  

28- fdlh fcUnq ij fo|qr {ks= dh rhozrk rFkk foHko dks le>kb, rFkk muesa laca/k 
LFkkfir dhft, A 

 Explain the electric field intensity and the potential at a point and obtain a relation 

between them.  

29- lefoHko i`"B fdls dgrs gS\ bldh fo'ks"krk,W fy[kks A 
 What is equipotential surface ? Write its properties.  
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30- ,d fcUnq vkos'k Q dks V foHkokUrj esa Rofjd djus ij vkos'k dh xfrt ÅtkZ esa 
o`f) dh x.kuk dhft,A  

 Obtain the increase in Kinetic energy of a charge Q when it is accelerated by 

potential difference V.  

31- bysDVªku oksYV fdl HkkSfrd jkf'k dk ek=d gS\ bldh ifjHkk"kk nhft, rFkk bldk 
eku twy esa Kkr dhft, A 

 Electron volt is the unit of which physical quantity. Define e.v. and write its value 

in joule.  

32- fdlh pkyd dh /kkfjrk ls D;k vfHkizk; gS A pkyd dh /kkfjrk dks dkSu&dkSu ls 
dkj.k izHkkfor djrs gS A 

 What is meant by the capacity of a conductor? What are the factors affecting the 

capacity of a conductor? 

33- S.I. i)fr esa /kkfjrk dk ek=d fyf[k, A bls ifjHkkf"kr dhft, rFkk bldk foeh; 
lw= Kkr dhft,A 

 Write the unit of capacity in S.I. system. Define it and write its dimensional 

formula.  

34- fdlh foyfxr xksyh; pkyd dh /kkfjrk ds fy, lw= O;qRiUu dhft, A 

 Derive the expression for the capacity of an isolated spherical conductor.  

35- fl) dhft, fd fdlh xksyh; pkyd dh /kkfjrk mldh f=T;k ds 4 πEo dh xq.kh 
gksrh gS  

 Prove that the capacity of a spherical conductor is 4 πEo times its radius. 

36- ,d /kkrq ds fiatMs ds vanj vkneh dks fctyh dk >Vdk ugha yxrk] tcfd fiatM+s 
dks vR;f/kd vkosf'kr dj fn;k tkrk gS A D;ks \ 

 A man inside a metallic insulated cage doesn’t receive a shock, when the cage is 

highly charged Why? 

37- fdlh vkosf'kr pkyd dh fLFkfrt ÅtkZ ls D;k rkRi;Z gS A blds fy, lw= 

LFkkfir dhft, A 

 What is meant by the potential energy of a charged conductor? Obtain an 

expression for it.  

38- la/kkfj= fdls dgrs gS A bldk fl)kar le>kb, A fdlh la/kkfj= dh /kkfjrk dh 

ifjHkk"kk ,oa ek=d fy[kks A 

 What is capacitor ? Explain its principle. Write the definition and unit of the 

capacity of a condenser.  



 76

39- lekarj IysV la/kkfj= dh /kkfjrk ds fy, O;atd Kkr djks ,oa /kkfjrk dks izHkkfor 

djus okys dkjd nhft, A 

 Obtain the expression for the capacity of a parallel plate capacitor and write the 

factors affecting on it.  

40- Jhs.kh Øe esa tqM+s n la/kkfj=ksa dh rqY; /kkfjrk ds fy, O;atd izkIr dhft, A 

la;kstu dk fp= cukb,A 

 With the help of a diagram, obtain the expression for equivalent capacitance of 

‘n’ capacitors joined in series.  

41- lekarj Øe esa tqM+s la/kkfj=ksa dh rqY; /kkfjrk ds fy, O;td izkIr dhft, A 

la;kstu dk fp= cukb, A 

 With the help; of a diagram, obtain the expression for equivalent capacitance of 

‘n’ capacitors joined in parallel.  

42- nks vkosf'kr pkydksa dh /kkfjrk,a Øe'k% c1 o c2 rFkk foHko Øe'k% v1o v2 gS bu 

pkydksa dks irys rkj }kjk tksM+ fn;k tkrk gS A mu ij vkos'k forj.k] mudk 

mHk;fu"B foHko rFkk la;kstu esa ÅtkZ dh gkfu x.kuk djks A 

 The capacities of two charged capacitors are C1 and C2 respectively and 

potentials are V1 and V2 respectively. They are joined by a thin wire. Calculate 

the charge distribution on them, common potential and energy loss in 

combination.  

43- fl) dhft, fd nks vkosf'kr pkydksa dks tksM+us ij ÅtkZ es deh gksrh gS A ;g 

ÅtkZ dgkW tkrh gS A 

 Prove that there is energy loss on joining the two charged conductors. How will 

you account for the energy loss.  

44- fdlh lekarj IysV la/kkfj= ds IysVks ds chp dksbZ ijkoS/kqr ek/;e j[k fn;k tk;s 

rks /kkfjrk ds fy, O;atd Kkr djks A 

 Obtain the capacity of parallel plate capacitor when a dielectric medium is 

introduced between the plates.  

45- fdlh xksykdkj la/kkfj= ds dh /kkfjrk ds fy, lw= LFkkfir dhft, A bldh /kkfjrk 

dks fdl izdkj c<+k;k tk ldrk gS A 



 77

 Establish the formula for capacity of a spherical capacitor. How can its capacity 

be increased ?  

46- fdlh csyukdkj la/kkfj= dh /kkfjrk ds fy, O;atd LFkkfir dhft,A 
 Derive an expression for the capacity of a cylindrical capacitor.  

47- oku&Mh&xzkQ tfu= dk o.kZu fuEufyf[kr 'kh"kZdksa ds varxZr dhft, A 
 ¼v½ ukekafdr vkjs[k ¼c½ lajpuk   

¼l½ dk;Z fof/k  ¼n½ mi;ksx 

 Describe Van-de-graff generator under following heads :  

(i) Labeled diagram  

(ii) Construction  

(iii) Working  

(iv) Application  

48- i`Foh dks 12.8x103 fd-eh- O;kl okyk xksykdkj pkyd ekudj mldh /kkfjrk dh 
x.kuk djks A ¼mRrj: 711 µF½ 

 Obtain the capacity of earth assuming it as a spherical conductor of diameter 

12.8x103 km. (mRrj 711  µF)     

49- fuEu fp= esa A rFkk B ds chp rqY; /kkfjrk dh x.kuk djks A  Ans : ¼2.5 µF, 2µF½ 

 Calculate the equivalent capacitance between A and B :-  

50 ,d lekarj IysV la/kkfj= dh IysVks dks ftudk O;kl 20 lseh gS A vkSj ftuds chp 

fLFkr ek/;e dk ijkoS/kqrkad 3 gS] fdruh nwjh ij j[kk tk;s ftlls fd mldh 

/kkfjrk mruh gh gks ftruh fd 100 lseh O;kl okys xksys dh gksrh gS A (mRrj = 1- 5  

l se h½ 

 At what distance should the two plates each of diameter 20cm and dielectric 

constant of medium between plates is 3. of the capacitor be placed in order to 

have the same capacitance as a spherical conductor of diameter 100 cm. (ans. 

1.5 Cm.) 

 

 

------------- 
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b d k bZ &  7 %  /k k jk f o| q r 

Unit-7 Current Electricity 

lgh fodYi pqfu;s A 
 

Choose right options :  

1- ,sfEi;j ek=d gS & 
      ¼v½ foeokUrj dk  ¼c½ vkos'k dk  

¼l½ izfrjks/k dk            ¼n½ /kkjk dk 

 Ampere is the unit of - 

(i) Potential difference   (ii) charge  

(iii) resistance    (iv) current  

 

2- fdlh pkyd esa fo|qr izokg gS A 
 ¼v½ v.kqvksa dk izokg  ¼c½     eqDr bysDVªkuksa dk izokg  
 ¼l½ /kukos'kksa dk izokg  ¼n½      vk;uksa dk izokg 
 
 Flow of current in any conductor is  

(i) Flow of molecules   (ii) Flow of free electrons 

(iii) Flow of positive charges  (iv) Flow of ions.  

 

3- dqN inkFkZ de rki ij viuh izfrjks/kdrk [kks nsrs gSa ,sls inkFkksZ dks dgrs gSA 

 ¼v½ vPNs pkyd   ¼c½ v)Zpkyd  
 ¼l½ vfr pkyd   ¼n½ ijkoS/kqr 
 Some substance which lose their resistivity at low temp are called  - 

(i) Good conductor    (ii) Semi conductor  

(iii) Super conductor   (iv) Dielectric  

 

4- fdlh lsy dk vkUrfjd izfrjks/k fuHkZj djrk gS A 

 ¼v½ IysVksa ds {ks=Qy ij   ¼c½ IysVksa ds chp dh nwjh ij  
 ¼l½ fo|qr vi?kV~; dh lkUærk ij ¼n½ mi;qZDr lHkh ij 
 Internal resistance of a cell depends on  

(i) Area of plates    (ii) Distance between the plates   

(iii) Concentration of Electrolyte  (iv) all of the above 



 79

 
5- fdlh pkyd dk izfrjks/k fuHkZj ugha djrk 

 ¼v½ pkyd ds inkFkZ ij   ¼c½ pkyd dh yEckbZ ij 
 ¼l½ pkyd dh eksVkbZ ij   ¼n½  foHkokUrj ij 

Resistance of a conductor does not depends on  

(i)  Material of the conductor   (ii) length of the conductor  

(iii) Width of the conductor   (iv) potential differences  

 

6- rkacs ds nks rkj Øe'k% 50 lseh- vkSj 100 lseh yEckbZ ds gS buds O;kl Øe'k% 

1 feeh vkSj 2 feeh gS buds fof'k"V izfrjks/kksa dk vuqikr gksxk A 

 ¼v½ 1%1 ¼c½ 2%1 ¼l½ 1%2 ¼n½ 1%4 

 The length of two copper wires are 50 cm. and 100 cm. Their diameters are 1mm 

and 2mm respectively. So what will be the ratio of their specific resistances of 

their - 

(i) 1:1     (ii) 2:1 

(iii) 1:2    (iv) 1:4 

 

7- foHkoekih ds rkj dh yEckbZ 10 ehVj gS mlds fljksa ij 2 oksYV ds fo- ok- cy dk 

lapkyd lsy tksM+us ij foHko izo.krk oksYV@ eh- esa gksxh A 

 ¼v½ 0-02 ¼c½ 0-002 ¼l½ 2-0 ¼n½ 0-2 
 

The length of the wire of a potentiometer is 10 meter if we connect a cell of e.m.f. 

2V across it then potential gradient will be in volt / m will be-  

(i) 0.02 (ii) 0.002 (iii) 2.0 (iv) 0.2 

 

8- fdlh ifjiFk dk foHkokUrj ukius ds fy;s oksYV ehVj dh vis{kk foHkoekih Js"B gS 

D;ksafd& 

 ¼v½ foHkoekih vf/kd lqxzkgh gksrk gS A 
 ¼c½ foHkoekih dk izfrjks/k de gksrk gS A 
 ¼l½ foHkoekih de dher dk gksrk gS A 
 ¼n½ vfo{ksi dh fLFkfr esa foHkoekih ifjiFk ls dksbZ /kkjk ugha ysrk gS A 
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 A potentiometer is better than a voltmeter to measure the potential-difference of 

a circuit, because - 

(i) Potentiometer is more sensitive  

(ii) Resistance of potentiometer is less.  

(iii) Potentiometer is cheaper.  

(iv) Potentiometer never gets any current at the null deflection. 

 

9- 0-1 ehVj2 vuqizLFk ifjPNsn okys rkj esa izfr lsds.M 62-5X1018 bysDVªku izokfgr gks 

jgs gS /kkjk dk eku gksxk A 

 ¼v½  1 ,sfEi;j ¼c½  0-1 ,sfEi;j ¼l½  10 ,sfEi;j ¼n½  0-11 ,sfEi;j 

 In a wire of cross section area 0.1 meter², the flow of electrons is 62.5x1018 per 

sec. What will be the value of current -  

(i)  1 amp.  (ii)  0.1 amp  (iii)  10 amp.  (iv)  0.11 amp.  

 

10- eSaxuhu ds ,d rkj dh yEckbZ dks pkSFkkbZ rFkk f=T;k vk/kh djus ij mldk 
izfrjks/k 

 ¼v½ vk/kk gks tk;sxk  ¼c½ nks xquk gks tk;sxk  
 ¼l½ mruk gh jgsxk  ¼n½ buesa ls dksbZ ugha 

If we reduce the length of a magnine wire by ¼ and radius by half  what will be 

the resistance of the wire- 

(i)  will be half    (ii)  will be double  

(iii)  will remain same   (iv)  none of these  

 

11- fdjpkWQ ds izFke vkSj f}rh; fu;e Øe'k% fn[kkrs gS laj{k.k  
 ¼v½ jSf[kd laosx vkSj dks.kh; laosx dk ¼l½ vkos'k vkSj ÅtkW dk  
 ¼l½ lagfr vkSj ÅtkZ dk    ¼n½ vkos'k vkSj jSf[kd laosx dk 
 
 kirchhoff's first and second law shows conservation of 

(i) Linear momentum and angular momentum  

(ii) Charge and energy  

(iii) Mass and energy  

(iv) Charge and linear momentum  
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12- ,d lsy dk fo- ok cy 2v rFkk vkUrfjd izfrjks/k 0-1Ω  gS mls 3-9Ω  ds izfrjks/k 

ds lkFk tksM+k tkrk gS lsy ds fljksa ds chp foHkkUrj gksxk A 

 ¼v½ 0-5v ¼c½ 1-9v ¼l½ 1-95v ¼n½ 2v    
 

 A cell of e.m.f. 2V and internal resistance 3.9 Ω  is connected to a resistor of 

0.1 Ω   What is the terminal voltage of the cell ?  

(i) 0-5v (ii) 1-9v (iii) 1-95v (iv) 2v    
  

13- ,d ¶yS'k ykbV 1-5 oksYV fo- ok- cy okyk u;k lsy 1-5 ,sfEi;j fo|qr /kkjk nsrk 

gS tc og 0-04 izfrjks/k okys /kkjkekih ds lkFk tksM+ fn;k tkrk gS rks lsy dk 

vkUrfjd    izfrjks/k crkb;s A 

 ¼v½ 0-44Ω  ¼c½ 0-06Ω  ¼l½ 0-10 Ω  ¼n½ 10Ω  

 A new cell gives 1.5 amp current with 1.5 volts e.m.f. of a flash light. When 

connected by a galvanometer of 0.04 ohm resistances. Then what will be the 

value of internal resistance of the cell.  

(i) 0.44 Ω    (ii) 0.06Ω 

(iii) 0.10 Ω     (iv) 10Ω 

14 ,d izkFkfed lsy dk fo- ok- cy 2 oksYV gS tc og y?kq ifFkr dj fn;k tkrk gS 

rks 4 ,sfEi;j dh /kkjk nsrk gS lsy dk vkse esa vkUrfjd izfrjks/k gS A 

 ¼v½ 0-5    ¼c½ 5-0  
¼l½ 2-0    ¼n½ 8-0 

 
 E.M.F. of a primary call is 2 volts. When it is short-circuited it gives current of 4 

amp. Find out the internal resistance of the cell in ohm - 

(i) 0.5     (ii) 5.0 

(iii) 2.0    (iv) 8.0 

 

15- rki c<+kus ij fuEufyf[kr dk oS/kqr izfrjks/k ?kVrk gS A 

 ¼v½ /kkrqvksa dk   ¼c½ v)Zpkydksa dk  

¼l½ lksus dk    ¼n½ pkanh dk 
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 Electrical resistance reduces by increasing the temperature -  

(i) of metal     (ii) of semi conductor  

(iii) of Gold     (iv) of silver 

 

16- bysDVªkWu vf/kd eqDr :i ls pyrs gS A 

 ¼v½ ok;q esa   ¼c½ rkWcs esa 

 ¼l½ jcj esa   ¼n½ lksus esa  

 Electron moves freely - 

(i) In air     (ii) In copper  

(iii) In rubber     (iv) In Gold  

17- fo|qr lsy L=ksr gS A 

 ¼v½ bysDVªkWu dk  ¼c½ fo|qr ÅtkZ dk  

 ¼l½ fo|qr vkos'k dk  ¼n½ fo|qr /kkjk dk 

 Electric cell is the source of -  

(i) Electrons     (ii) Electrical energy  

(iii) electric charge    (iv) electric current  
 

18- f}rh;d lsy lafpr djrk gS A 

 ¼v½ 'kfDr    ¼c½ jklk;fud ÅtkZ  

¼l½ vkos'k    ¼n½ /kkjk 

 Secondary cell stores -  

(i) Power     (ii) Chemical energy  

(iii) Charge     (iv) current  

 
19- rki c<+kus ij izfrjks/k ?kVrk gS A 
 ¼v½ rkWcs dk    ¼c½ VaxLVu dk   

¼l½ tesZfu;e dk   ¼n½ ,Y;qfefu;e dk 
 
 Resistance is reduced by increasing temp - 

(i) of copper     (ii) of Tungsten 

(iii) on Germanium   (iv) of Aluminum  
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20- fdlh L=ksr dk oksYVst ukius dk lcls Js"B lk/ku gS A 
      ¼v½ oksYV ehVj ¼c½ vehVj  

¼l½ xSYosukehVj            ¼n½  foHkoekih 
 
 The best device used to measure the voltage of a source is - 

(i) volt meter     (ii) A meter  

(iii) Galvanometer    (iv) Potentiometer  

 
lgh tksM+h cukb;s & 
MATCH THE COLUMNS 

1- fo|qr /kkjk dk ek=d    1- dwykWe 
2- foHkokUrj dk ek=d     2- vkse 
3- vkos'k dk ek=d     3- ,sfEi;j 
4- izfrjks/k dk ek=d      4- oksYV 
5- vkos'k dk foHkh; lw=  5- [ ML T&3   A&1  ] 

6- fo|qr {ks= dh rhozrk dk foHkh; lw=  6- [ ML2 T& 3  A&1 ]  

7- fo|qr foHko dk foHkh; lw=  7- [ M0 L0 TA ] 
8- izfrjks/k dk foHkh; lw=  8 - [ ML2 T& 3  A&2 ] 

9- rki c<+kus ij /kkrqvksa dk izfrjks/k  9- de gks tkrk gS  
10- rki c<+kus ij v)Zpkydksa dk izfrjks/k  10- c<+ tkrk gS  
  

1 Unit of electric current   1 coulomb  

2 Unit of potential difference  2 ohm 

3 Unit of potential charge  3 Ampere  

4 Unit of potential Resistance  4 Volt  

5 Dimensional formula of charge  5 
[ ML T&3   A&1  ] 

6 Intensity of electric field.  6 
[ ML2 T& 3  A&1 ]  

7 Intensity of electric potential  7 
[ M0 L0 TA ] 

8 Intensity of electric resistance  8 
[ ML2 T& 3  A&2 ] 

9 By increasing the temp. of metals 

it resistivity  

9 reduces  

10 By increasing the semiconductors 

its resistivity 

10 increases  
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lR; ;k vlR; dFku crkb;s & 

STATE TRUE OR FALSE 

 
1- foHkoekih dh lqxzkfgrk foHkoekih ds rkj dh yEckbZ dks c<+kus ls c<+ tkrh gSA 

¼lR;@vlR;½ 

 Sensitivity of a potentiometer increase by increasing the length of the wire 

 (True / False) 

2-  ;fn OghVLVksu lsrq esa /kkjkekih vkSj lsy dk LFkku ijLij cny fn;k tk;s rks 

larqyu voLFkk cny tk;sxh A      ¼lR;@vlR;½ 

By changing the position of galvanometer and Cell in Whetstone bridge, the 

balance (point) will be change.      (True / False) 

3- fdlh rkj dh izfrjks/kdrk mlds inkFkZ ij fuHkZj djrh gS A  ¼lR;@vlR;½ 

 Resistivity of any wire depends on the matter.    (True / False) 

4- v/kZpkyd dk izfrjks/k rki c<+kus ij de gksrk gS A   ¼lR;@vlR;½ 

 Resistance of Semi conductor reduces on increasing the temp.  

(True / False) 

5- fo|qr {ks= esa gksy dk foLFkkiu bysDVªkWu ds foijhr fn'kk esa gksrk gS A  
¼lR;@vlR;½ 

 Displacement of holes in electric field is in direction opposite to that of electron.  

(True / False) 

6- rki c<+us ij ,d lqpkyd dk izfrjks/k de gksrk gS A  ¼lR;@vlR;½ 

 By increasing the temp. of conductor its resistance reduces. (True / False) 

7- fo|qr okgd cy iwjs ifjiFk esa lsy }kjk nh x;h lEiw.kZ ÅtkZ gSA  

¼lR;@vlR;½ 

 E.M.F. is the total (completes) energy in the circuit of a cell.  

(True / False) 

8- pk¡nh dh vis{kk rkWck fo|qr dk vkSj vPNk lqpkyd gS A  ¼lR;@vlR;½ 

 Copper is a good conductor of current in comparision to silver.   

 (True / False) 

9- tc lsys lekUrj Øe esa tksM+h tkrh gS rks /kkjk c<+rh gS A  ¼lR;@vlR;½ 
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 When cells are connect in parallel then current increases.  (True / False) 

10- xSYosuksehVj dks vehVj esa cnyus ds fy;s de izfrjks/k dk rkj lekUrj Øe esa 

tksM+k tkrk gSA        ¼lR;@vlR;½ 

 To change a Galvanometer into Ammeter a wire is connected of low resistance is 

connected in parallel.       (True / False) 

 

fjDr LFkkuksa dh iwfrZ dfj;s & 

Fill up the blanks – 

1- fdlh pkyd esa 4 dwykWe vkos'k 2 lsds.M esa izokfgr gksrk gS fo|qr /kkjk dk eku --
------------- gksxk A 

 4 coulomb of charge flows in a conductor for 2 seconds. The value of current will 

be ________ 

2- fdlh pkyd esa /kkjk ------------- dh xfr ds dkj.k gksrh gS A 
 Flow of current in any conductor is due to the motion of ________ 

3- /kkfRod pkyd ds rki esa o`f) ls bldk izfrjks/k ------------- gS A 
 By increasing the temp. of metallic conductor the resistance ________ 

4- lekUrj Øe esa tqM+s izfrjks/kksa dk rqY; izfrjks/k] U;wure ?kVd izfrjks/k  
ls ------------- gksrk gSA 

 Equivalent resistance of resistors in a parallel combination is ________ than that  

of any component resistance.  

5- ;fn foHkoekih ds rkj dh yEckbZ c<+k nh tk;s rks larqyu fcUnq dh  
yEckbZ -------------tk;sxhA 

 If length of the wire of a potentiometer increases then length of the balance point 

(null point) ________ 

6- nks rkj ,d gh inkFkZ ds cus gS izFke rkj dh yEckbZ nwljs rkj dh yEckbZ dh 
nqxquh gS rFkk mldk O;kl nwljs rkj ds O;kl dk nqxquk gS] rks izFke rkj dk 
izfrjks/k nwljs rkj ds  izfrjks/k dk -------------  gksxk A 

 There are two wires of same matter. If the length of the first wire is double of 

second wire and diameter is double of the second wire. Then resistance  of first 

wire will be ________ of the resistance of second wire.  

7- vfr pkyd inkFkZ dh pkydrk ------------- gksrk gS A  
 Conductivity of a super conductor is ________.  
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8- foHkoekih ds rkj dk inkFkZ ------------- gksrh gS A 
 The wire of potentiometer is made up of ________. 

9- tc /kkrq ds fljksa ij dksbZ foHkokUrj ugha yxk;k tkrk rc eqDr bysDVªkuksa dk 
ek/; osx       ----------- gksrk gS A 

 When no potential is applied between the metal ends then the mean velocity of 

free electrons will be ________. 

10- pk¡nh fo|qr dk ------------- gS A 

 silver is ________ of electricity.  

 

y|q mÙkjh;@nh/kZ mÙkjh; iz'u 

1- fdlh lsy ds fo|qr okgd cy vkSj foHkokUrj esa vUrj fyf[k;sa A 
Write differences between Electromotive force and potential difference.  

2- fdlh pkyd dk izfrjks/k fdu&fdu dkjdksa ij fuHkZj djrk gS vkSj fdl izdkj \ 
On what factors does the resistance of a conductor depends and how? 

3- vkse dk fue; D;k gS izfrjks/k vkSj fof'k"V izfrjks/k esa vUrj fyf[k;s A 
 What is ohms Law Write differences between resistance and specific resistance. 

4- fdlh pkyd dh izfrjks/kdrk ls vki D;k le>rs gS \ fuEu ds fy;s rki fuHkZjrk  
crkb;s A 
¼v½ pkyd ¼c½ v)Zpkyd ¼l½ fo|qr vi?kV~; 
What do you understand by resistivity of any conductor ? Explain temperature 

dependence of the following :-  

(i) Conductor  

(ii) Semi conductor  

(iii) Electrolyte      

5- lsy ds vkUrfjd izfrjks/k dh ifjHkk"kk nsrs gq;s crkb;s fd ;g fdu&fdu dkjdksa 

ij fuHkZj djrk gS vkSj fdl izdkj \ 

Define internal resistance of a cell on which factors does it depends? And how? 

6- fdlh lsy ds fo|qr okgd cy] foHkkUrj ,oa vkUrfjd izfrjks/k esa laca/k LFkkfir 

dhft;s\ 

 Establish a relation among e.m.f., potential diff. and internal resistance of cell.  
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7- izfrjks/kksa dk Js.khØe rFkk lekUrj Øe la;kstu le>kb;s rFkk rqY; izfrjks/k dh 

x.kuk dhft;s \ 

 Explain series and parallel combination of resistance and calculate resultant 

resistance.  

8- OghV LVksu lsrq dk fla}kr fyf[k;s rFkk fl) dhft;s \ 

 Write down the principle of wheat stone bridge and prove it.  

9- fo|qr /kkjk ds varxZr fdjpkWQ ds fue;ksa dks fyf[k;s rFkk le>kb;s A 

 State and explain Kirchhoff's laws.  

10- vfrpkydrk D;k gS rki ifjorZu ds lkFk vfrpkyd ds izfrjks/k esa D;k ifjorZu 

gksrk gS\ blds mi;ksx crkb;s A 

 What is superconductivity? What changes will you find in resistance of 

superconductor by changing it temp. And also explain the use of 

superconductivity. 

11- lsyksa dks Js.khØe esa fdl izdkj la;ksftr fd;k tkrk gS\ ckg; ifjiFk esa cgus 

okyh /kkjk ds  fy;s O;atd Kkr dhft;s A ;g la;kstu dc ykHkizn gksrk gS \ 

 Explain combination of cells in series? Establish the formula for current flowing in 

the circuit. When this combination is beneficial?  

12 lsyksa dks lekUrj Øe esa fdl izdkj la;ksftr fd;k tkrk gS\ ckº; ifjiFk esa cgus 
okyh /kkjk ds  fy;s O;atd O;qRiUu dhft;s A ;g la;kstu dc ykHkizn gksrk gS \ 

 Explain combination of cells in parallel arrangement. Establish the formula for 

current flowing in the circuit. When this combination is beneficial ?  

13 ehVj lsrq dh lgk;rk ls vKkr rkj dk izfrjks/k Kkr djus ds iz;ksx dk o.kZu 

fuEu 'kh"kZdksa ds vUrxZr dfj;s A ¼v½ fo|qr ifjiFk  

¼c½ lw= dh LFkkiuk   ¼l½ nks izeq[k lko/kfu;k¡ 

Describe the method to determine the unknown resistance of a wire with  help 

of Meter Bridge. Under the following heads - 

(i) Electric circuit  

(ii) Derivation of formula  

(iii) Two precautions  
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14 iksLV vkWfQl ckWDl dh lgk;rk ls fdlh rkj dk izfrjks/k Kkr djus ds iz;ksx dk 
o.kZu fuEu 'kh"kZdksa ds varxZr dfj;s A  
¼v½ js[kkfp=  
¼c½ lw= ,oa fla}kr  
¼l½ lko/kkfu;k¡ 

 Describe the method to determine the unknown resistance of a wire with the help 

of post office box under the following heads - 

(i) Circuit diagram  

(ii) Theory and formula  

(iii) Precautions  

15 fdlh lsy ds vkUrfjd izfrjks/k ls vki D;k le>krs gS vkUrfjd izfrjks/k dk lw= 

LFkkfir djrs gq;s Li"V dhft;s fd vkUrfjd izfrjks/k fdu&fdu dkjdksa ij fuHkZj 

djrk gS A 

 What do you understand by internal resistance of cell ? Establish the formula for 

internal resistance of cell and explain on which factors does it depends ?  

16 foHkoekih D;k gS\ fo|qr ifjiFk [khapdj foHkoekih dk fla}kr le>kb;s \ 

 What is potentiometer ? Explain the principle of potentiometer with the help of 

circuit diagram.  

17 foHkoekih dh lgk;rk ls nks lsyksa ds fo|qr okgd cyksa dh rqyuk djus dh fof/k 

dk o.kZu fuEu 'kh"kZdksa ds varxZr dfj;s & 

 ¼v½ fo|qr ifjiFk dk ukekafdr js[kkfp=  

¼c½ lw= dh LFkkiuk  

¼l½ rhu izeq[k lko/kkfu;kWa 

 Describe the experiment to compare e.m.f. of two primary cells by potentiometer 

on the following heads - 

(i) Circuit diagram  

(ii) Derivation of formula  

(iii) Three  precautions  

18 foHkoekih dh lgk;rk ls fdlh lsy dk vkUrfjd izfrjks/k Kkr djus ds iz;ksx dk 

o.kZu fuEu 'kh"kZdksa ds varxZr dfj;s A  
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 ¼v½ fo|qr ifjiFk   
 ¼c½ lw= dh LFkkiuk  

¼l½ nks izeq[k lko/kkfu;k¡ A 
Describe the method to determine the internal resistance of a primary cell with 

the help of potentiometer under the following heads - 

(i) Electric circuit.  

(ii) Derivation of formula  

(iii) Two precautions.  

 
vkafdd iz'u 

Numerical problems – 

 
1- 5 vkse izfrjks/k ds ,d rkj esa 3 ,sfEi;j dh /kkjk 4 feuV rd cgrh gS rkj ds 

fdlh ifjPNsn ls xqtjus okys bysDVªkWuksa dh la[;k D;k gksxh A 

          ¼Ans 6x1021½  
 The 3-amp current flows through the wire of resistance 5 Ω for 4 minutes. Find 

the no. of electrons passed through the wire in any cross sectional area.  

2- ,d rkj esa 10 feuV esa 30 dwykWe vkos'k izokfgr gks jgk gS rkj esa /kkjk dk eku 

Kkr dhft;sA 

            ¼Ans 0-05 ,sfEi;j½ 
 30 coulomb charge flows in a wire for 10 minutes. Find out the value of current. 
  
 
3- ,d rkj dks [khapdj mldh yEckbZ nqxquh dj nh tkrh gS mldk izfrjks/k fdrus 

xquk gks tk;sxk\ 

              ¼Ans R2 = 4R1½ 
When a wire is stretched to double its length, what will be its resistance. 

 
4- ,d oksYV ehVj dk izfrjks/k 120Ω gS- ;fn bls 9 oksYV rFkk 15 vkse vkUrfjd     

izfrjks/k okyh cSVjh ls tksM+ fn;k tk;s rks cksYV ehVj dk ikB~;kad Kkr dhft;s A 

          ¼Ans 8 oksYV½ 
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 The resistance of a voltmeter is, 120 Ω which is connected across a battery, 

whose voltage is 9 volts and internal resistance is 15Ω. What will be the reading 

of volt meter now ?    

5- fdlh lqpkyd rkj esa 1 ,sfEi;j /kkjk cg jgh gS blds fdlh fcUnq ls izfr lsds.M 

xqtjus okys bysDVªkuksa dh la[;k D;k gS \ 

 If 1 amp. of current is flowing through a wire. find out the no. of electrons passing  

per second through it. 

6- nks izfrjks/kksa ds Js.khØe esa tksM+us ij rqY; izfrjks/k 9 vkse rFkk lekUrj Øe esa 

tksM+us ij rqY; izfrjks/k 2 vkse gS izfrjks/kksa dk vyx&vyx eku Kku djks A 

          ¼Ans 6 vkse 3 vkse½ 
 When two resistors are combined in series arrangement the equivalent 

resistance is 9 ohm and if combination is parallel, the equivalent  resistance is 

2Ω. Find out the value of resistances of each resistors.  

7- ,d pkyd dk izfrjks/k 200C ij 3-15 vkse rFkk 1000C ij 3-75 vkse gS A pkyd 
dk izfrjks/k rki xq.kkad Kkr dhft;s A 00C ij pkyd dk izfrjks/k D;k gksxk \ 

        ¼Ans 0-0025 izfr 0C]3 vkse½ 

 Resistance of a conductor is 3.15Ω at 20°C and 3.75 Ω at 100°C. Calculate the 

temp. Coefficient of resistance and also find out the resistance at 0°C ? 

 
 

 

 

 

-------------------
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bdkbZ&8    fo|qr /kkjk ds izHkkobdkbZ&8    fo|qr /kkjk ds izHkkobdkbZ&8    fo|qr /kkjk ds izHkkobdkbZ&8    fo|qr /kkjk ds izHkko 

UNIT – 8 EFFECT OF ELECTRIC CURRENT 

 
lgh fodYi pqfu,&  
Choose the correct answer -   

1-  ,d xfreku vkos'k ds dkj.k mRiUu {ks= gS&  

 v-  dsoy fo|qr {ks=  

 c-  dsoy pqcdh; {ks= 

 l- fo|qr {ks= ,oa pqcdh; {ks= nksuksa 

 n-  mijksDr esa ls dksbZ ugha 

 A moving charge produces - 

(i) only the electric field.  

(ii) Only the magnetic field.  

(iii) Both the electric and magnetic fields.  

(iv) None of these  

2-  ,d lh/ks /kkjkokgh rkj ds dkj.k fdlh fcUnq ij pqEcdh; {ks=& 

 v-  rkj ls nwjh ds vuqØekuqikrh gksrk gS 

 c-  rkj ls nwjh ds O;qRØekuqikrh gksrk gS 

 l- rkj ls nwjh ds oxZ ds O;qRØekuqikrh gksrk gS 

 n-  nwjh ij fuHkZj ugha djrk 

 The magnetic field due to a long straight current carrying wire is - 

(i) Proportional to the distance from the wire  

(ii) Inversely proportional to the distance from the wire.  

(iii) Inversely proportional to the square of the distance from the wire.  

(iv) Does not depend on the distance.  

3-  ;fn vuUr yEckbZ ds lh/ks rkj esa ,d ,Eih;j dh /kkjk izokfgr gksrh gS] blls ,d 

ehVj nwj fcUnq ij pqEcdh; {ks= gksxk&  

 v-   2x10-3 Vslyk  c- 2 x 10  Vslyk  

 l-  2x10-7   Vslyk   n-  2x10-6 Vslyk  
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 If 1 amp. current flows through an infinitely long, straight wire the magnetic field  

produced at a point 1 meter away from it is :-  

(i) 2x10-3 tesla    (ii) 2 x 10 tesla  

(iii) 2x10-7 tesla        (iv) 2x10-6 tesla  

4-  'a'  Hkqtk okys oxkZdkj pkyd Ýse ds fod.kZ ds nksuksa fljksa dks cSVjh ls tksM+us ij 

dsUnz ij pqEcdh; {ks= dk eku gksxk&   

 v-  'kwU;   c-  �0/πa  l-  2�0/πa  n-  4�0i/πa   

 On connecting a battery to the two corners of a diagonal of a square conductor 

frame of side a, the magnitude of the magnetic field at the center will  

(i) Zero     (ii) �0/πa   

(iii) 2�0/πa    (iv) 4�0i/πa   

5-  ;fn 10 lseh f=T;k okyh o`Ùkkdkj dq.Myh esa 10 ,Eih;j /kkjk ds dkj.k blds 

dsUnz ij 3.14x10-3 csoj@ehVj2 dk pqEcdh; {ks= mRiUu gks rks dq.Myh esa Qsjksa dh 

la[;k gksxh&  

v-  5000   c-  100  l 50  n-  25   

 When 10 amp. current flows in a circular coil of radius 10 cm, a magnetic field of 

intensity 3.14x10-3 weber@meter2 is produced at its center. The number of turns 

in the coil are :-  

(i) 5000    (ii) 100 

(iii) 50     (iv) 25 

6-  ,d /kkjkokgh y?kq dq.Myh ,d NksVs pqEcd dh rjg O;ogkj djrh gSA ;fn dq.Myh 

dk {ks=Qy  A rFkk pqEcdh; vk?kw.kZ dk eku M gks] rks dq.Myh esa /kkjk dk eku 

gksxk&  

v-  M/A    c-  A/M  l MA n-  A2M   

 A current carrying short coil behaves like a short magnet. If area of coil is A and 

magnetic moment is M, then the current in coil is -    

(i) M/A     (ii) A/M  

(iii) MA     (iv) A²M  
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7-  fuEufyf[kr esa ls fdl jkf'k dks ekius esa Li'kZT;k /kkjkekih dk mi;ksx fd;k tkrk 

gS& 

v-  vkos'k    c-  dks.k   l /kkjk n-  pqEcdh; {ks=       

 A tangent galvanometer is used to measure - 

(i) charge     (ii) angle  

(iii) current     (iv) magnetic field intensity  

8-   ykjsUt cy fuEu lw= ls fn;k tkrk gS&  

v-  F= qE     c-  F = q (vxb)   

l  F = qE + q (v+B)   n-  F = qE + q (B x V)  

 Lorentz force is given by the following formula   

(i)  F= qE    (ii)  F = q (vxb)  

(iii)  F = qE + q (v+B)   (iv)  F = qE + q (B x V)  

9-  ,d bysDVªkWu ,d pqEcdh; {ks= esa izos'k djrk gS ;fn bysDVªkWu ds osx dh fn'kk] 

pqEcdh; {ks= dh fn'kk esa yh gksrh gS rks  

v- bysDVªkWu viuh nk;h vksj eqM+sxk    

c- bysDVªkWu viuh ck;h vksj eqM+sxk    

l- bysDVªkWu dk osx c<+sxk    

n- bysDVªkWu dk osx vifjofrZr jgsxk 
 

If an electron enters a magnetic field with its velocity pointing in the same 

direction that of magnetic field, then  

(i) The electron will turn to its right  

(ii) The electron will turn to its left.  

(iii) The velocity of the electron will increase  

(iv) The velocity of the electron will remain unchanged.  

10 G vkse ds oksYVehVj dh ijkl V oksYV ls nV  cnyus ds fy;s Js.khØe esa tksM+s 

tkus okys izfrjks/k dk eku gksxk&  

v- (n-1) G  c- G/n  l- nG  n- G/(n-1)  
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 To convert the range of a G ohm resistance voltmeter from V to nV, the value of 

series resistance needed is  

(i) (n-1) G    (ii) G/n  

(iii) nG     (iv) G/(n-1)  

11-  xSYosuksehVj dks vehVj esa cnyus ds fy;s tksM+rs gS&  

v- de izfrjks/k Js.kh Øe esa    c- de izfrjks/k lekUrj Øe esa 

l mPp izfrjks/k Js.kh Øe esa  n- mPp izfrjks/k lekUrj Øe esa 

 To convert a galvanometer into an ammeter we connect - 

(i) a low resistance in series.  (ii) a low resistance in parallel.  

(iii) a high resistance in series  (iv) a high resistance in parallel.  

    

12-  xSYosuksehVj dks oksYVehVj esa cnyus ds fy;s tksM+rs gS&  

v-  de izfrjks/k Js.kh Øe esa   c-  de izfrjks/k lekUrj Øe esa 

l mPp izfrjks/k Js.kh Øe esa n- mPp izfrjks/k lekUrj Øe esa 

 To convent a galvanometer into a voltmeter, we connect - 

(i) a low resistance in series  (ii) a low resistance in parallel.  

(iii) a high resistance in series  (iv) a high resistance in parallel.  

 

13-  ,d pydq.My /kkjkekih esa I /kkjk cgus ls θ fo{ksi mRiUu gksrk gS] rks&  

v-  I ≠ ≠ ≠ ≠     tan θ c-  I ≠≠≠≠ θ   l I ≠≠≠≠  θ²  n- I ≠≠≠≠θ3  

In a moving coil galvanometer a deflection θ is obtained on passing a current I, 

then - 

(i)  I ≠ ≠ ≠ ≠     tan θ (ii)  I ≠≠≠≠ θ   (iii)  I ≠≠≠≠  θ² (iv)  I ≠≠≠≠θ3 

14-  QSjkMs ds oS|qr vi?kVu ds fu;ekuqlkj fdlh inkFkZ dk eqDr nzO;eku 

vuqØekuqikrh gksrk gS&  

v-  1@/kkjk izokfgr djus ds le; ds    

c-  inkFkZ ds fo|qr jklk;fud rqY;kad ds  

l 1@/kkjk ds   
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 By the Faraday‘s law of electrolysis the mass of an element or radical 

 deposited or liberated at an electrode is proportional to  

(i) 1/ time duration of current passing 

(ii) Electro chem Equivalent of matter. 

(iii) 1 / current  

 

15- oS|qr vi?kVu lEHko gS& 

v-  rsy dk  c-  dkWij lYQsV dk  

l vklqr ty dk  n- ikjs dk  

 Electrolysis is possible  

(i) in oil     

(ii) incopper sulphate  

(iii) in distilled water  

(iv) in mercury  

1+6- 96500 dwykWe vkos'k CuSO4 ds ?kksy esa izokfgr djus ij eqDr rkWcs dk nzO;eku 
gksrk gS&  
v-  64 xzke  c-  32 xzke   
l  32 fdxzk  n- 64 fdxzk  

In a solution of cus04, 96500 coulomb change flows. What will be the mass of 

copper deposited - 

(i) 64 gram   (ii) 32 gram  

(iii)    32 kg.    (iv) 64 Kg.  

17-  fo?kqr lsy lzksr gS&   

v-  bysDVªkWu dk    c-  fo|qr ÅtkZ dk  

l fo|qr vkos'k dk   n- fo|qr /kkjk dk  

 Electric cell is a source of - 

(i) electrons    (ii) electrical energy  

(iii) electric charge    (iv) electric current  

18-  210 okWV ds ,d fo|qr cYo esa 5 fefuV esa mRiUu gksxh&  

v-  7500 dSyksjh   c-  15000 dSyksjh   

l 22500 dSyksjh  n- 3000 dSyksjh   
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What will be the heat produced by a bulb of 210 watt, when lighted for 5 minutes.  

(i) 7500 Cal.     (ii) 15000 Cal.  

(iii) 22500 Cal.    (iv) 3000 Cal.  

19-  nks cYo A rFkk B lekUrj Øe esa tksM+s tkrs gS cYc A,  cYc B ls T;knk pednkj 

gS ;fn RA o RB Øe'k% muds izfrjks/k gks] rks  

v-  RA > RB  c- RA < RB     l  RA = RB  n- buesa ls dksbZ ugha  

 

19. Two bulbs A and B are connected in parallel, Bulb A is more luminous than B, 

their resistances are RA and RB respectively then   

(i) RA>RB    (ii) RA<RB 

(iii) RA = RB    (iv) None of these  

20-  100 okWV ds fo|qr cYo dks 220 oksYV ds fo|qr lzksr ls tksM+k x;k gS cYo ds rUrq 

dk izfrjks/k gS& 

v-  484 vkse   c-  100 vkse  

l 22000 vkse   n- 242 vkse  

20. If a electric bulb of 100 watt is connected by a source of 220 volts. Then 

resistance of filament of the bulb will be   

 (i) 484  Ω   (ii) 100Ω 

 (iii) 22000Ω   (iv) 242Ω 

 

lgh tksM+h cukb;s 

MATCH THE COLUMNS 

1 /kkjkokgh pkyd ls mRiUu pqEcdh; {ks= 
dh fn'kk Kkr djus dk fu;e  

1 ykWjsUt cy  

2 pqEcdh; {ks= esa /kkjkokgh pkyd ij vkus 
okys cy dh fn'kk Kkr djus dk fu;e   

2 ¶ysfeax ds ckW;s gkFk dk 

fu;e  

3 pqEcdh; f}/kzo vk?kw.kZ dk ek=d gS   3 �o I²/ 2πr 

4 n Qsjs izfr ehVj okyh yEch ifjukfydk esa 
1 ,fEi;j /kkjk izokfgr gksrh gS 
ifjukfydk ds fljksa ij pqEcdh; {ks= 

4 nk;s gkFk dh gFksyh dk 

fu;e   
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ifjukfydk ds fljksa ij pqEcdh; {ks= 
gksxk   

fu;e   

5 pqEcdh; {ks= esa vkosf'kr d.k ij yxus 

okyk cy     

5 �o N/L I  

6 pqEcdh; {ks= dh rhozrk dk ek=d    6 �o n I /2 

7 L yEckbZ] I /kkjk rFkk N  Qsjksa okyh 
ifjukfydk ds e/; fcUnq ij pqEcdh; {ks= 
dk O;atd gksrk gSA  

7 ,Eih;j ehVj2
 

8 nks irys] yEcs lekUrj rkj ,d nwljs ls 
r ehVj nwjh ij gS izR;sd esa I ,Eih;j /kkjk 
og jgh gSA ,d rkj ds dkj.k nwljs rkj 
dh izfr ehVj yEckbZ ij yxus okyk cy 
gksxk  

8 U;wVu@,Eih;j  

9 /kkjkekih dh dq.Myh ds lekUrj Øe esa 

,d ux.; izfrjks/k dk rkj yxkus ij og 

cu tkrk gS 

9 oksYVehVj  

10 /kkjkekih dh dq.Myh ds Js.kh Øe esa ,d 

mPp izfrjks/k dk rkj yxkus ij og cu 

tkrk gS  

10 vehVj    

11 1 okWV ?k.Vk cjkcj gksrk gS 11 3.6x106 twy 

12 1 fdyksokWV ?k.Vk cjkcj gksrk gS 12 (P1 + P2) okWV  

13 1 v'o'kfDr cjkcj gksrk gS 13 I  2 Rt/4.2 dSyksjh 

14 R izfrjks/k ds rkj esa t le; ds fy;s I /kkjk 

izokfgr djus ls mRiUu Å"ek gksxh   

14 746 okWV  

15 P1 okWV] V oksYV rFkk P2 okWV]  V oksYV ds  

nks fctyh ds cYcksa dks lekUrj Øe esa 

tksM+dj V oksYV ij yxk;k tk; rks dqy 

'kfDr gksxh  

15. 3600 twy  
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lR; ;k vlR; dFkuksa esa lR;@vlR; dFku crkb;s& lR; ;k vlR; dFkuksa esa lR;@vlR; dFku crkb;s& lR; ;k vlR; dFkuksa esa lR;@vlR; dFku crkb;s& lR; ;k vlR; dFkuksa esa lR;@vlR; dFku crkb;s&     

    

1- /kkjkokgh pkyd ds vYika'k ls mRiUu pqEcdh; {ks= dh rhozrk ck;ks&loVZ ds fu;e 

ls Kkr dh tk ldrh gSA       ¼lR;@vlR;½ 

2- Li'kZT;k /kkjkekih dk fl)kar fo|qr /kkjk ds pqEcdh; fl)kar ij vk/kkfjr ugha gSA 

¼lR;@vlR;½ 

3- nks lekUrj /kkjkokgh pkydksa ds e/; ;fn cgus okyh /kkjk dh fn'kk foijhr gS rks 

muds e/; vkd"kZ.k cy dk;Z djrk gSA     ¼lR;@vlR;½ 

4- ,d vkn'kZ vehVj dk izfrjks/k 'kwU; gksrk gSA    ¼lR;@vlR;½ 

5- f}rh;d lsy jklk;fud ÅtkZ lafpr djrk gSA    ¼lR;@vlR;½ 

6- ¶;wt rkj mPp fof'k"V izfrjks/k rFkk de xyukad okyh feJ /kkrq ds cuk;s tkrs 

gSA          ¼lR;@vlR;½ 

7- fdlh pkyd esa mRiUu Å"ek] mlesa izokfgr /kkjk ds oxZ ds O;qRØekuqikrh gksrh gSA 

¼lR;@vlR;½ 

8- pkyd esa mRiUu Å"ek] mlds izfrjks/k ds vuqØekuqikrh gksrh gSA ¼lR;@vlR;½ 

9- ¶;wt rkj dk iz;ksx fdlh ifjiFk esa cgus okyh /kkjk dh vf/kdre lhek dks 

fu;af=r djus ds fy;s fd;k tkrk gSA     ¼lR;@vlR;½ 

10- Fkkelu izHkko vuqRØekuqikrh gksrk gSA     ¼lR;@vlR;½ 

 

TRUE OR FALSE 

1. Intensity of magnetic field produced by small part of current carrying coil is 

determined by Biot Savart’s law.      (True / False)  

2. Principal of Tangent Galvanometer does not depend on magnetic theory of 

electric current.        (True / False) 

3. If the direction of current of two parallel current carrying conductor is opposite. 

Then attractive force works between them.    (True / False)      

4. The resistance of a ideal Ammeter is zero.    (True / False) 

5. Secondary cell stores chemical energy.     (True / False) 
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6.  Fuse wire is made up of alloy of high specify resistance and low melting point  

(True / False) 

7. The heat produced in conductor is inversely proportional to the square of 

distance.        (True / False) 

8. The heat produced in conductor is proportional to their resistance.    

          (True / False) 

9. Fuse wire is used to control the max. limit of current in a circuit.             

(True / False) 

10. Thomson’s effect is irreversible.     (True / False) 

    

fjDr LFkkuksa dh iwfrZ dhft,& fjDr LFkkuksa dh iwfrZ dhft,& fjDr LFkkuksa dh iwfrZ dhft,& fjDr LFkkuksa dh iwfrZ dhft,&     

1- fLFkj vkos'k ds dkj.k dsoy ---------------------------------- {ks= mRiUu gksrk gSA  

2- /kkjkokgh pkyd ds dkj.k dsoy ------------------------{ks= mRiUu gksrk gSA  

3- o`Ùkkdkj dq.Myh ds dsUnz ij pqEcdh; {ks= dh rhozrk ----------------------gksrh gSA  

4- nks lekUrj /kkjkokgh pkydksa ds e/; ;fn cgus okyh /kkjk dh fn'kk ,d leku gS 

rks muds e/; --------------------------dk;Z djrk gSaA  

5- ,d vkn'kZ oksYVehVj dk izfrjks/k-----------------------------gksrk gSA  

6- QSjkMs la[;k rFkk bysDVªkwu vkos'k esa laca/k ------------------------------- gSA  

7- oS|qr vi?kV~; esa /kkjk izokg -------------------------------------- gksrk gSA  

8- 'kq"d lsy esa fo/kzqod dk dk;Z ------------------------------------djrk gSA  

9- nks fHkUu /kkrqvksa dh laf/k ls /kkjk xqtkjus ij laf/k ds xeZ ;k B.Ms gksus dh fØ;k 

dks -----------------------------------------------dgrs gSA  

10- nks fofHkUu /kkrqvksa ds rkjksa ds ;qXe esa laf/k LFkyksa dks fofHkUu rkiksa esa j[kus ij 

fo|qr /kkjk mRiUu gksrh gSA ;g ?kVuk ----------------------------------dgykrh gSA  

Fill in the blanks  

1. A static charge producers only ______________field.  

2. A current carrying conductor produces only ______________ field.  

3. Intensity of magnet field at the center of circular coil is ______________.  



 100

4. If current flows in two current carrying conductors in same direction, they 

______________ each other.  

5. Resistance of an ideal voltmeter is ______________.  

6. The relation between Faraday’s no. and electronic charge is ___________. 

7. Flow of current in electrolyte is because of ______________.  

8. In a dry cell the depolarization work is ______________.  

9. When the current flows at the junction of two different metals, the reaction of 

hotness and coldness called ______________.  

10. The current produced in a thermocouple whose functions are kept at different 

temperatures is called ______________.  

    

y?kq mÙkjh;@nh?kZ mÙkjh; iz'u& y?kq mÙkjh;@nh?kZ mÙkjh; iz'u& y?kq mÙkjh;@nh?kZ mÙkjh; iz'u& y?kq mÙkjh;@nh?kZ mÙkjh; iz'u&     

1- fo|qr /kkjk ds pqEcdh; izHkko dks iznf'kZr djus ds fy;s vkWLVsZM ds iz;ksx dk o.kZu 

dhft,A  

 Describe Oersted’s experiment to demonstrate the magnetic effect of current.   

2- fdlh /kkjkokgh pkyd ds ,d vYika'k ds dkj.k mRiUu pqEcdh; {ks= ds fy;s 

ck;ks&lsoVZ dk fu;e fyf[k;s rFkk bldh O;k[;k dhft,A  

 Write Biot-savart law for the magnetic field produced due to an element of a 

current carrying conductor and explain it.  

3- fdlh o`Ùkkdkj dq.Myh esa /kkjk izokfgr djus ls mlds dsUnz ij mRiUu pqEcdh; 

{ks= ds fy;s O;atd izkIr dhft,A  

 Write down the expression of intensity of magnetic field produced at the center of 

a current charging circular coil.  

4- Li'kZT;k /kkjkekih dk leatu fdl izdkj fd;k tkrk gS bldk fl)kar le>kb;sA  

  How is a tangent galvanometer adjusted ? Explain, its principle.  

5- ykWjsUt cy dk D;k vFkZ gS blds U;wure o vf/kdre gksus dh 'krZ crkb;sA 

 What is meant by the Lorentz's force ? Explain the conditions for it to be 

minimum or maximum ? 

6- ¶ysfeax ds ck;s gkFk dk fu;e fyf[k;sA  

  State Fleming’s left hand rule. 
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7- py dq.Myh /kkjkekih dh lqxzkfgrk ds fy;s O;atd Kkr dhft, rFkk crkb;s bls 

fdl izdkj c<+k;k tk ldrk gSA bldh pkj fo'ks"krk, fyf[k;sA  

Write expression for the sensitivity of a moving coil galvanometer.  How can it be 

increased ? Also write down the four characteristics of moving coil galvanometer.  

8- 'k.V fdls dgrs gSA bldk fl)kar le>kb;s fdlh /kkjkekih ds lkFk 'k.V yxkus 

ls D;k&D;k ykHk rFkk gkfu gSA  

 What is shunt ? Explain its principle. What are the advantages and 

disadvantages of using shunt with a moving coil Galvanometer.  

9- ,d py dq.Myh /kkjkekih dks vehVj rFkk oksYVehVj esa fdl izdkj cnyk tk 

ldrk gSA  

 How is the moving coil galvanometer converted into ammeter and voltmeter? 

10- vehVj rFkk oksYVehVj esa vUrj fyf[k,A  

  Differentiate between an ammeter and a voltmeter. 

11- nks lekUrj /kkjkokgh pkydksa ds chp yxus okys cy dk lw= O;qRiUu dhft, ;g 

cy dc vkd"kZ.kkRed gksrk gS rFkk dc izfrd"kZ.kkRed \  

Derive formula for the force acting between two parallel current carrying 

conductors. When will this force be attractive, when repulsive? 

12- osLVu Vkbi py dq.Myh /kkjkekih dk o.kZu fuEu fcUnqvksa ds vk/kkj ij dhft,A  

¼1½ ukekafdr fp=  ¼2½ fØ;k fl)kar ¼3½ nks fo'ks"krk,¡  

  Describe Weston type galvanometer under the following points :-  

(i) Labelled diagram  

(ii) Working principle  

(iii) Two characteristics 

13- fuyfEcr dq.Myh /kkjkekih dk o.kZu fuEufyf[kr 'kh"kZdksa ds vk/kkj ij dhft,A  

¼1½ ukekafdr fp=    ¼2½ fl)kar 

 Describe the suspended coil type moving coil galvanometer under the following 

heading :  

(i) Labeled diagram  

(ii) Principle  
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14- fo|qr vi?kV~u laca/kh QSjkMs ds fu;e fyf[k;s rFkk blds vk/kkj ij vUrjkZ"Vªh; 

,fEi;j dks ifjHkkf"kr dhft,A  

  Write Faraday's laws of electrolysis and define international ampere on the 

 basis of it.  

 

15- QSjkMs la[;k D;k gS bldk eku fyf[k,A QSjkMs la[;k rFkk vkoksxzkMks la[;k esa 

laca/k LFkkfir dhft,A  

What is Faraday's number? Write the value of it and establish the relation B 

Faraday's number and Avogadro’s numbers.   

16- oS|qr vi?kVu es D;k&D;k mi;ksx gS le>kb;sA  

  Explain the applications of electrolysis.  

 

17- ysdyka'kh lsy dk LoPN ukekafdr fp= cukb;sA blesa gksus okyh jklk;fud fØ;k,¡ 

fyf[k, bl lsy ds nks"k D;k gSA  

 Draw a labeled diagram of Lechlanche cell. Explain its chemical reactions and 

also write the disadvantages of this cell.  

18- Msfu;y lsy dk ukekafdr fp= cukdj bldh jpuk rFkk dk;Zfof/k le>kb;sA  

 Draw a labeled diagram of Deniel cell. Explain construction and working process 

of it.  

19- lhlk lapkyd lsy dh lajpuk ukekafdr fp= }kjk le>kb;s lsy ds vkos'ku rFkk 

fujkos'ku ds le; gksus okyh jklk;fud fØ;kvksa dk Li"V dhft,A  

Explain the construction of lead Accumulator cell with the help of its labeled 

diagram write the chemical reactions for charging process and discharging 

process.       

20- ty oksYVkehVj dk o.kZu fuEufyf[kr 'kh"kZdksa ds vUrxZr dhft,A 

 Describe water voltameter under the following heads :-  

(i) Labeled diagram  

(ii) Chemical reactions.  
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21- jtr oksYVkehVj dk fp= [khapdj mldh lajpuk rFkk vi?kVu fØ;k Li"V 

dhft,A  

 Draw a labelled diagram of silver voltameter and explain its construction  

 

22- fo|qr /kkjk }kjk mRiUu Å"ek laca/kh twy ds fu;e fyf[k;sA  

 State Joule’s law of heating.  

 

23- lhcsd izHkko dks fp= dh lgk;rk ls le>kb;s] /kkrqvksa dh lhosd Js.kh D;k gS\ 

bldh fo'ks"krk;s fyf[k;sA 

 Explain seebeck effect with the help of a diagram. What is the seebeck series of 

metals? Give its characteristics.   

 

24- isfYV;j izHkko D;k gS\ vko';d fp= }kjk le>kb;s fd isfYV;j izHkko] lhosd 

izHkko dk foykse gSA  

What is meant by Peltier effect ? Explain with the help of a diagram and prove 

that the pether effect is inverse of seebeck effect.  

 

25 mnklhu rki rFkk mRØe.k rki dh ifjHkk"kk fyf[k, ,oa buesa laca/k LFkkfir 

dhft,A  

Define neutral temperature and temperature of inversion and establish the 

relation between them.         

    

vkafdd iz'u&vkafdd iz'u&vkafdd iz'u&vkafdd iz'u&    

26 nks yEcs o lh/ks rkj ok;q esa ,d&nwljs ls 16 lseh nwjh ij fLFkr gSA izR;sd rkj esa 

4-0 ,fEi;j /kkj  

¼1½ ,d gh fn'kk esa 

¼2½ foijhr fn'kk esa cg jgh gS] izR;sd fLFkfr esa nksuksa rkjksa ds chp e/; fcUnq 

ij pqEcdh; {ks= dh x.kuk dhft,A  



 104

Two long and straight wires are placed in air at a separation of 16 cm. each wire 

carries a current 4.0A  

(i) in one direction  

(ii) in opposite direction. In each case calculate the magnetic field at the 

mid point between the two wires. 

27 ,d oksYVehVj dk izfrjks/k 100 vkse o ijkl 10 oksYV gS bldh ijkl 100 oksYV 

fdl izdkj dj ldrh gSA  

 A voltmeter of range 10 volt is of resistance 100 ohm. How can its range be 

made 100 volt.  

28 15 vkse izfrjks/k okys ,d /kkjkekih ds iw.kZ Ldsy ds fo{ksi ds fy;s 4 MA /kkjk dh 

vko';drk gksrh gS crkb;s fd bls 6 ,fEi;j ijkl ds vehVj esa fdl izdkj cny 

ldrs gSA 

 4 MA current is required to produce full scale deflection in a galvanometer of 

resistance 15 Ω. How will you convert it into an ammeter of range 6 Amp. ?  

29- tc ,d dkWij oksYVkehVj esa 15 fefuV rd 2-5 ,fEi;j fo|qr /kkjk xqtkjh tkrh gS 

rks dSFkksM+ 0-75 xzke dkWij eqDr gksrk gSA dkWij dk fo-jk- rqY;kad Kkr dhft,A  

 When 2.5 amp. current flows in a copper voltameter for 15 minutes then 0.75 

gram copper is liberated at cathode. What will be the value of electro chemical 

equivalent of copper ?  

30 ,d fo|qr cYo esa 1-5 ,fEi;j dh fo|qr /kkjk izokfgr gks jgh gS blds fljksa ij 

foHkkUrj 80 oksYV gSA bl ifjiFk esa fdruh 'kfDr O;; gks jgh gSA  

 1.5 amp. of current is flowing in are electric bulb and the P.D. across its ends is 

80 volts. How much power is consumed in that circuit ?  

 

---------------- 
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bdkbZ & 9 bdkbZ & 9 bdkbZ & 9 bdkbZ & 9     fo|qr pqEcdh; izsj.kfo|qr pqEcdh; izsj.kfo|qr pqEcdh; izsj.kfo|qr pqEcdh; izsj.k 

UNIT – 9   ELECTRO MAGNETIC INDUCTION 
 

oLrqfu"B iz'u 
Objective type questions :-    

 
1- pqEcdh; ¶yDl dk ek=d gSA 

      ¼v½  fMckbZ]   ¼l½  gsujh]  
¼c½   oscj]   ¼n½  jnjQksMZ A 

 

 Unit of magnetic flux is  

 (a)  Debye    (b)  Henry  

 (c)  weber    (d)  Rutherford  

2- ,d pqEcd ds ikl fdlh dq.Myh dks ykus ij mlesa izsfjr fo-ok-cy dk eku fuHkZj 

ugha djrk gSaA 

      ¼v½ dq.Myh ds Qsjksa dh l[;k ij]    ¼c½ dq.Myh ds izfrjks/k ij]  
      ¼l½ pqEcdh; ¶yDl dh ifjorZu dh nj ij]  ¼n½ dq.Myh dh xfr ij A 

 When a magnet is brought near a coil, the e.m.f. Induced in it does not depends 

on  

 (a) number of turns in a coil   (b) resistance of coil.  

 (c) Rate of change of magnetic flux (d) Motion of coil  

3-  ySat dk fu;e vk/kkfjr gSA 

      ¼v½ ÅtkZ laj{k.k ds fu;e ij]   ¼c½ laosx laj{k.k ds fu;e ij]  
      ¼c½ nzO;keu laj{k.k ds fu;e ij]   ¼n½ vkos'k laj{k.k ds fu;e ij A 

 Lenz’s law is based on  

 (a) Law of conservation of energy  

(b) Law of conservation of momentum  

 (c) Law of conservation of mass  

 (d) law of conservation of charge.  
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4- vU;ksU; izsj.k ds fl)kUr ij vk/kkfjr ;U= gS % 

      ¼v½ eksVj]     ¼c½ /kkjkekih]  
¼l½ VªkUlQkZej]    ¼n½ Mk;useks A 

 Instrument based on the principle of mutual induction.  

 (a) Motor    (b) Galvanometer  

 (c) Transformer   (d) Dynamo  

5-  izfr?kkr dk ek=d gSA 
      ¼v½ Egks]     ¼c½ vkse]  

¼l½ ,sfEi;j]     ¼n½ mijksDr esa ls dksbZ ugha A 
 

 Unit of Reactance is  

 (a) Mho    (b) Ohm  

 (c) Ampere    (d) None of these 

 
lgh tksfM;kWa cukb;s %&lgh tksfM;kWa cukb;s %&lgh tksfM;kWa cukb;s %&lgh tksfM;kWa cukb;s %& 
Match the following :    

 
¼1½ Hkkjr esa ?kjksa esa nh tkus okyh fo|qr /kkjk dh vko`fr    50 gV~Zt 

¼2½ pksd dq.Myh esa ÅtkZ lafpr gksrh gS                   pqEcdh; ÅtkZ ds :Ik esa 

¼3½ mPpk;h VªkUlQkZej esa jkf'k c<rh gS                    foHko    

¼4½ fo|qr pqEcdh; izsj.k dk mi;ksx                       tsujsVj cukus esa 

¼5½ VªkUlQkjej esa vifjofrZr jgus okyh jkf'k  gS            vko`fr         

 

1. Frequency of electric current supply given in Indian 

houses  

50 Hertz  

2. Energy stored in choke coil  in form of magnetic energy  

3. Quantity increases in step up transformer  voltage  

4. Use of electromagnetic induction   to construct Generator  

5. The quantity remain’s unchanged in transformer  Frequency  
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lR;@vlR; fyf[k, AlR;@vlR; fyf[k, AlR;@vlR; fyf[k, AlR;@vlR; fyf[k, A    
Write True / False 
 

¼1½  ySat ds fu;e }kjk fdlh Hkh ifjiFk esa izsfjr /kkjk dh fn'kk Kkr dh tkrh gSA  
          ¼lR;@vlR; ½½ 
 Using lenz law, induced current directions can be found out in any circuit.  

( True / False)  

¼2½  fo|qr pqEcdh; izsj.k esa ;kaf=d ÅtkZ ] fo|qr ÅtkZ esa ifjofrZr gksrh gSA   
          ¼lR;@vlR; ½ 
 In electromagnetic Induction, mechanical energy changes into electrical energy. 

          ( True / False)  

¼3½  fn"V /kkjk dk ifjek.k rFkk fn'kk le; ds  lkFk a ifjofrZr ugha gksrh gSA   
          ¼lR;@vlR; ½ 
 Magnitude and direction of DC (direct current) does not change with time  

(True / False)  

¼4½  izR;korhZ /kkjk dk mi;ksx fo|qr pqEcd cukus esa ugha fd;k tkrk gSaA    
          ¼lR;@vlR; ½ 
 

 Alternating Current (AC) cannot be used to make an electromagnet.   

         ( True / False)  

¼5½  osfYMax dk;Z esa vipk;h VªkUlQkZej dk mi;ksx djrs gSA     
          ¼lR;@vlR; ½ 
 Step down transformer is used in welding work.   ( True / False)  

 
fjDr LFkku Hkfj;s AfjDr LFkku Hkfj;s AfjDr LFkku Hkfj;s AfjDr LFkku Hkfj;s A    
Fill up the blanks :  
    
 
¼1½  izR;korhZ /kkjk pqEcdh; rFkk ------------------------ izHkko mRiUu ugha djrh gSA 

 Alternating current does not produce’s magnetic and ____________ effect.  

 
¼2½ HkWoj /kkjkvksa dks de djus ds fy, VªkaLkQkZej dh ØksM ------------------cukbZ tkrh gSA 
 

The core of transformer is made ------------------ to reduce the edd currents .  
 
¼3½  eksVj ----------------  ÅtkZ dks ;kaf=d ÅtkZ esa cnyrh gSaA 
 Motor changes ____________ energy into mechanical energy.  
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¼4½  vU;ksU; izsj.k esa -----------------  dq.Mfy;kW gksrh gSA 
 

 In mutual induction there are ____________ coil’s.  

¼5½  LoizsjdRo dk ek=d ------------ gksrk gSaA 

 Unit of self inductance is ____________.  

 
y?kqmRRkjh; ,oa n/kZmRrjh; iz'uy?kqmRRkjh; ,oa n/kZmRrjh; iz'uy?kqmRRkjh; ,oa n/kZmRrjh; iz'uy?kqmRRkjh; ,oa n/kZmRrjh; iz'u    
    
¼1½  ,d lery o`rkdkj dq.Myh ds LoizsjdRo ds fy, O;atd LFkkfir dhft,A bldk 

eku fdu&fdu dkjdksa ij fdl izdkj fuHkZj djrk gS \ 

 Derive an expression for self-induction of a plane circular coil. On what factors it 

depends.  

¼2½  ,d ifjukfydk ds LoizsjdRo ds fy, O;atd LFkkfir dhft,A bldk eku 

fdu&fdu dkjdksa ij fdl izdkj fuHkZj djrk gS \ 

 Derive an expression for self induction of a long solenoids On which factor it 

depend?  

¼3½  nks lery o`rkdkj dq.Myh ds e/; vU;ksU; izsjdRo ds fy, O;atd LFkkfir 

dhft,A bldk eku fdu&fdu dkjdksa ij fdl izdkj fuHkZj djrk gS \ 

 Derive an expression for mutual inductance of two plane circular coil. On what 

factors it depends.    

¼4½  nks yEch lev{kh; ifjukfydkvksa ds e/; vU;ksU; izsjdRo ds fy, O;atd LFkkfir 

dhft,A bldk eku fdu&fdu dkjdksa ij fdl izdkj fuHkZj djrk gS \ 

Obtain an expression for mutual inductance of two long coaxial solenoids. On 

what factors it depends?  

¼5½  izR;korhZ L- R ifjiFk ds fy, ifj.kkeh foHkokUrj ] izfrck/kk rFkk /kkjk ds O;tad 

fuxeu dhft,A /kkjk o foHkokUrj ds chp dykUrj n'kkZus okyk xzkQ cukbZ,A  

 Obtain the equation of resultant voltage; impedance and instantaneous current 

for a. c. LR circuit. Draw a graph showing the phase angle between current & 

voltage.     
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¼6½  izR;korhZ C- R ifjiFk ds fy, ifj.kkeh foHkokUrj ] izfrck/kk rFkk /kkjk ds O;tad 

fuxeu dhft,A /kkjk o foHkokUrj ds chp dykUrj n'kkZus okyk xzkQ [khft,A  

 Obtain the equation of resultant voltage, impedance and instantaneous current 

for a. c. C-R circuit. Draw a graph. Showing the phase angle between current & 

voltage.  

¼7½  izR;korhZ L- C ifjiFk ds fy, ifj.kkeh foHkokUrj] izfrck/kk rFkk vuquknh vko`fr ds 

O;tad fuxeu dhft,A /kkjk o foHkokUrj ds chp dykUrj n'kkZus okyk xzkQ 

[khfp,A  

 Obtain the equation of resultant voltage, impedance and Resonance Frequency 

for ac circuit let draw a graph showing the phase angle between current & 

voltage. 

¼8½ izR;korhZ L-C-R ifjiFk ds fy, ifj.kkeh foHkokUrj ] izfrck/kk ds O;tad fuxeu 

dhft,A /kkjk o foHkokUrj ds chp dykUrj n'kkZus okyk xzkQ [khft,A  

 Drive an expression of resultant voltage, impedance for ac L.C.R. circuit, draws a 

graph showing the phase angle between voltage & current.  

¼9½  izR;korhZ /kkjk ifjiFk esa O;; vkSlr lkeF;Z dk O;atd fuxeu dhft,A 

 Obtain an expression for the average power in an ac  circuit.  

¼10½  okVghu /kkjk dk D;k vFkZ gS\ fdl n'kk esa /kkjk okVghu gksrh gSa \pksd dq.Myh esa 

cgus okyh izR;korhZ /kkjk dks okVghu /kkjk D;ksa dgrs gS \ 

 What is a wattle current? Under what conditions the current will be wattless? 

Why current flowing through the choke coil called wattless? 

¼11½  izR;korhZ Mk;useks dk o.kZu fuEu fcUnqvksa ij dhft, %& 
      ¼v½ fl)kUr ] ¼c½ ukekfdr js[kkfp=] ¼l½ lajpuk   
 Explain A.C. dynamo on following points – 

(i) Principle  

(ii) Labeled diagram  

(iii)  Construction  

¼12½  fn"V /kkjk Mk;useks dk o.kZu fuEu fcUnqvksa ij dhft, %& 
      ¼v½  fl)kUr  

¼c½  ukekfdr js[kkfp=]  
¼l½  lajpuk   
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 Explain DC dynamo on following points – 

(i) Principle  

(ii) Labeled diagram  

(iii) Construction  

¼13½  fn"V /kkjk eksVj Mk;ukeks dk o.kZu fuEu fcUnqvksa ij dhft, %& 
      ¼v½  fl)kUr ]  

¼c½  ukekfdr js[kkfp=]  
¼l½  lajpuk   

 Explain D.C. motor on following points – 
(i) Principle 
(ii) Labelled diagram  
(iii) Construction  

¼14½ VªkalQkZej dk o.kZu fuEu fcUnqvksa ij dhft, %& 
      ¼v½  fl)kUr   

¼c½  ukekfdr js[kkfp=]  
¼l½  ifj.keu vuqikr dk lw=   

 Explain transformer on following points – 
(i) Principle  
(ii) Labelled diagram  
(iii) Transformation ratio formula  

¼15½  220 oksYV ] 50 gV~Zt vko`fr okys ,d izR;korhZ /kkjk L=ksr ls 1 fidks QSjM /kkfjrk 
dk la/kkfjr tqMk gSA Kkr djks %  
¼v½  la/kkfjr dh /kkfjrk  
¼c½  ifjiFk esa izokfgr /kkjk A 

 When 1 Picofarad capacitor is connected with 220 volt 50 Hertz ac source 
calculate.  
(i) Capacitive reactance  
(ii) Current flowing in circuit  

¼16½  ,d izsjdRo dq.Myh esa 500 Qsjs gSA blesa tc 2-0,sfEi;j dh fn"V /kkjk izokfgr dh 
tkrh gS]rks dq.Myh ds izR;sd Qsjs ls 2-5 X 10-3 oscj ¶yDl xqtjrk gSA dq.Myh dk 
LoizsjdRo Kkr dhft,A tc dq.Myh esa /kkjk dk eku 0-1 lsd.M esa ?kVdj 'kwU; gks 
tkrk gS ]rks dq.Myh esa fdruk fo-ok-cy izsfjr gksrk gSA 

 When 2-Ampere dc current flow’s in induction coil having 500 turn’s, then 2.5x10-

3 weber flux passes through each turn of coil, calculate the self inductance of coil 

and induced e.m.f. when value of current becomes zero in 0.1 second. 

 

------------------- 
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bdkbZ & 10 v/kqfud HkkSfrdhbdkbZ & 10 v/kqfud HkkSfrdhbdkbZ & 10 v/kqfud HkkSfrdhbdkbZ & 10 v/kqfud HkkSfrdh 

UNIT – 10 Modern Physics 
    
oLrqfu"B iz'u 

Objective Type :  

iz-1 dSFkksM fdj.kksa ij vkos'k gksrk gS \ 
 ¼v½ _.k vkos'k    ¼c½ /ku vkos'k  

¼l½ _.k rFkk /ku nksuks vkos'k  ¼n½ dksbZ vkos'k ugha 

 The charge on cathode rays is  

 (a)  negative     (b)  positive  

 (c)  both negative and positive   (d)  no charge  

iz-2 bysDVªku dk fof'k"V vkos'k gksrk gS \ 
 ¼v½  1.6 X10-19 c      ¼c½ 1.76 X1011 C/kg  

¼l½ 1.76X10-11 C/kg     ¼n½ 4.8X10-10 St.c 

 The specific charge of electron is  

 (a)  1.6x10-19    (b)  1.76x1011 c/kg.  

 (c)  1.76x10-11 c/kgs.    (D)  4.8x10-10 stat columb   

iz-3  bysDVªku oksYV ek=d gS \ 
 ¼v½ foHko dk    ¼c½ vkos'k dk  

¼l½   'kfDr dk    ¼n½ ÅtkZ dk 
 Electron volt is  unit of :  

 (a)  potential     (b)  charge  

 (c)  power     (d)  energy  

iz-4 tc dSFkksM fdj.kksa cgqr vf/kd osx ls mPp xyukad ds /kkrq y{; ls Vdjkrh gS rks  
 ¼v½ ,Dl fdj.ksa mRiUu gksrh gS  ¼c½ vYQk fdj.ks mRiUu gksrh gS A  
 ¼c½ jsfM;ksa rjaxs mRiUu gksrh gSA ¼n½ vYVªklksfud rjaxs mRiUu gksrh gSA 

 When cathode rays strike a metal target of high melting point with high velocity  

 (a)  X-rays are produced   (b)  alpha rays are produced  

 (c)  The radio waves are produced  (d)  ultrasonic waves are produced  
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iz-5 ;fn QksVkWu dk laosx P gS rks bldh vko`fRr gksxh \ 
 ¼v½ ph/c    ¼c½ pc/h  

¼l½ mh/c     ¼n½ mc/h   

 If momentum of a photon is p and its rest mass is m its frequency will be   

 (a)  ph/c    (b)  pc/h 

 (c)  mh/c    (d)  mc/h 

iz-6 rkik;fud mRltZu esa ÅtkZ :ikUrj.k gksrk gS\ 
 ¼v½ fo|qr ÅtkZ dk m"eh; ÅtkZ esa ¼c½ fo|qr ÅtkZ dk izdk'k ÅtkZ esa  
 ¼l½  m"eh; ÅtkZ dk fo|qr ÅtkZ esa ¼n½ m"eh; ÅtkZ dk izdk'k ÅtkZ esa  
 In therminoic  emission the transformation of energy is. 

 (a)  From electrical energy to heat energy  

(b)  From electrical energy of high energy  

(c)  From heat energy to electrical energy  

(d)  From heat energy to light energy   

iz-7 izdk'k oS/kqr lsy ,d ;qfDr gS \ 
 ¼v½ QksVkWuksa dks tek djus dh  

¼c½ izdk'k dh rhozrk ukius dh 
 ¼l½ QksVkWu ÅtkZ dks ;kfU=d ÅtkZ esa cnyus dh  

¼n½ fo|qr ÅtkZ dks lafpr dj lapkyd cSVfj;ksa dks izfrLFkkfir djus dh \ 
 Photo electric cell is a device of 

 (a)  collecting the photon's    

(b)  measuring the intensity of light  

 (c)  changing the photon energy to mechanical energy  

(d)  substituting  all the commutators by storing the electrical energy.  

iz-8 yslj iaqt ugha gksrk gS \ 
 ¼v½ ,do.khZ   ¼c½ ,dfn"B  

¼l½ dyklac(a)   ¼n½ dyk vlac(a) 

 A laser beam is not  

 (a)  Monochromatic   (b)  unidirectional  

 (c)  Coherent    (d)  non coherent  
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iz-9 fdlh v)Zpkyd esa bysDVªkWu dks cgqla[;d vkos'k okgd ds :i esa izkIr djus ds 
fy, v'kqf) feykbZ tkrh gS \ 

 ¼v½ ,d&la;ksth      ¼c½ f}&la;ksth  
¼l½ f=&la;ksth    ¼n½ iap la;ksth 

 To obtain electrons as majority charge carrier's in a semi conductor, the impurity 

mixed is  

 (a)  Monovalent    (b)  divalent  

 (c)  trivalent    (d)  pentavalent  

iz-10 rki c<+kus ij izfrjks/k ?kVrk gS \ 
 ¼v½ /kkrqvksa dk   ¼c½ v)Z pkyd dk  

¼l½ lksus dk   ¼n½ dkULVs.Vu dk 
 On increasing the temperature the resistance decreases in case of  :  

 (a)  metals    (b)  semi conductor  

 (c)  gold     (d)  constantan 

iz-11 P-N  lfU/k Mk;ksM dh vxz vfHkufr esa %& 

 ¼v½ N- fljk cSVjh ds /kukRed fljs ls tksM+k tkrk gS A 
 ¼c½ Mk;ksM esa /kkjk dh fn'kk N- fljs ls P- fljs dh vksj gksrh gS A  
 ¼l½ P- fljk cSVjh ds /kukRed fljs ls tksM+k tkrk gS A  

 ¼n½   P- fljk cSVjh ds _.kkRed fljs ls tksM+k tkrk gS A 

 In the forward bias of P-N Junction diode - 

 (a)  N end is connected with the positive terminal of the battery.  

 (b)  in diode current flows in directions from N end to P end   

 (c)  P end is connected with the positive terminal of the battery  

 (d)  P end is connected with the negative terminal of the battery  

 
 
iz-12 vo{k; {ks= esa gksrs gS \ 

 ¼v½ dsoy bysDVªkWu   ¼c½ dsoy gksy  
¼l½ bysDVªkWu vkSj gksy nksuksa gh  ¼n½ bysDVªkWu o gksy nksuksa gh ugha A 

 
 A depletion region contains 

 (a)  only the electrons    (b)  only the holes  

 (c)  electrons and holes   (d)  neither electrons nor holes  
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iz-13 P-N    lfU/k Mk;ksM dk mi;ksx gksrk gS \ 
 ¼v½  izo/kZd dh Hkkafr    ¼l½  nksfy= dh Hkkafr  

¼l½  fn"Vdkjh dh Hkkafr    ¼n½  eksMqysVj dh Hkkafr 

 P-N Junction diode is used as :  

 (a)  amplifier     (b)  oscillator  

 (c)  rectifier     (d)  modulator  

 
iz-14 ,d v)Zpkyd ¼Si½ esa la;ksth vkSj pkyd cSUMksa ds e/; ÅtkZ varjky gksrk gS\ 
 ¼v½  1.1 ev     ¼c½  5 ev  

 ¼l½ 10 ev     ¼n½  15 ev  

In a semi conductor (Si) the energy gap between the valence band and 

conduction band is   

 (a)  1.1 ev     (b) 5 ev  

 (c)  10 ev     (d) 15 ev  

iz-15 P    vkSj N izdkj ds viæO;h v)Zpkyd inkFkksZ esa viæO; ds ijek.kqvksa vkSj 'kq) 

v)Zpkyd ds ijek.kqvksa dk vuqikr gksxk \  

 ¼v½ 103    ¼c½ 10&2    ¼l½ 10&4    ¼n½ 10&7 

 In P and N type impurity semi conductors the ratio of atoms of impurity and 

atoms and  of pure Semi conductor is nearly  

 (a) 10³    (b) 10-2 

 (c) 10-4    (d) 10-7 

 

iz-16 ;fn nh rFkk ne dksVj ¼gksy½ rFkk bysDVªkWu dh la[;k gS] rks fut ¼'kq)½ v)Zpkyd 

esa gksrs gS\    

 ¼v½ nn>ne    ¼c½ nn=ne  

¼l½ nn<ne    ¼n½ nn!ne    
If nn and ne are the number of holes and electrons then in an intrinsic semi 

 conductor     

 (a) nn>ne    (b) nn=ne 

 (c) nn<ne    (d) nn!ne  
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iz-17 PN izdkj dk v)Zpkyd cukus ds fy, 'kq) flfydkWu esa feyk;h tkus okyh v'kqf) 

ds ijek.kq gSA 

 ¼v½ P      ¼c½ B  

¼l½ Sb     ¼n½ Ca  

18. To obtain P-type Semi conductor, the impurity atoms to be added in pure silicon 

is   

 (a) phosphorus    (b) boron  

 (c) antimony     (d) copper  

 

iz'u 2 lgh tksMh feykvks %&iz'u 2 lgh tksMh feykvks %&iz'u 2 lgh tksMh feykvks %&iz'u 2 lgh tksMh feykvks %&    

1- tesZfu;e esa cksjku dh v'kqf) feykus ls    gksy vkSj bysDVªku cjkcj gksrs gS  
2- Si esa QkLQksjl dh v'kqf) feykus ls      gksyksa dh la[;k vf/kd gksrh gS A 
3- 'kq) v/kZpkydks esa                       bysDVªku dh vf/kdre gksrh gS A 
4- P- izdkj ds v/kZpkydks esa  mnkflu gksrk gS A 
5- N- izdkj ds v/kZpkydks esa N- izdkj dk v/kZpkyd cusxk A 
6- P- izdkj dk v/kZpkyd P- izdkj dk v/kZpkyd cusxk A 
7- pkyd esa ÅtkZ varjky dk eku 0.7ev  

8- dqpkyd esa ÅtkZ varjky dk eku 'kwU; 
9- v/kZpkydks esa ÅtkZ varjky dk eku 1.1ev 

10- Si esa ÅtkZ varjky dk eku 5ev  

11- Ge esa ÅtkZ varjky dk eku 1ev 

12- vxz vfHkufr esa vo{k; irZ dh eksVkbZ c<+ tkrh gS A 

13- i'p vfHkufr esa vo{k; irZ dh eksVkbZ ?kVrh gS A 

14- v/kZ rjax fn"Vdj.k esa Ir.m.s. 
2
oI

     

15   iw.kZ rajx fn"Vdj.k e s a Ir.m.s.    
2
oI

   

16 v/kZrjax fn"Vdj.k esa Mk;ksM mi;ksx esa vkrs gaS A  nks 
17- iw.kZrjax fn"Vdj.k esa Mk;ksM mi;ksx esa vkrs gaS  A ,d 
18- PNP dk lkadsfrd fp= ---------- 
19- NPN dk lkadsfrd fp= ---------- 
20- VªkWftLVj dk mi;ksx gksrk gS A  izo/kZu esa 
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Match the following with correct answers. 

 

1 On mixing the impurities of boron in 

Germanium.   

- Both electrons and holes 

are equal.  

2 On mixing the impurities of phosphorous in 

silicon  

- Number of holes are more  

3 In an Intrinsic semi conductor   - Number of electrons are 

more  

4 In P-type semi conductor  - N type semi conductor is 

formed  

5 In N-type semi conductor  - P-type Semi conductor is 

formed  

6 P-type semi conductor  - Numerically Neutral  

7 The forbidden energy gap in conductor  - 0.7 ev  

8 For forbidden energy gap in Insulator  - Zero  

9 Energy gap in Semi conductor  - 1.1 ev  

10 In Silicon value of forbidden energy gap  - 5 ev  

11 In Ge value of forbidden energy gap  - 1 ev  

12 In forward bias depletion layer becomes  - Thickness beams more  

13 In reverse bias depletion layer becomes  - Thickness becomes thin 

14 For Half wave rectifier value Ir.m.s. - 

2
oI

 

15 In case of Full wave rectifier value of Ir.m.s. - 

2
oI

 

16 In Half wave rectifier number of diode is   - Two  

17 In  full wave rectifier number of diode is  - One  

18 Indicator diagram of PNP  - ---- 

19 Indicator diagram of NPN  - ---- 

20 Transistor is used as an  - Amplifier  
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lR;@vlR; crkb, A 
STATE True or False  

1- v)Z pkyd dk izfrjks/k rki ds c<+us ij de gksrk gSA   ¼lR;@vlR;½ 
 The resistance of semi conductor decreases on increasing the temperature.  

2- fo|qr {ks= esa gksy dk foLFkkiu bysDVªku ds foLFkkiu ds foifjr fn'kk esa gksrk gSA 
¼lR;@vlR;½ 

 In an electric field displacement of holes and electrons are in opposite direction.  

3- rki c<+kus ij ,d lqpkyd dk izfrjks/k de gksrk gSA   ¼lR;@vlR;½ 
 By increasing temperature, the resistance of conductor decreases.  

4- N    izdkj ds v/kZ pkyd _.k vkosf'kr gksrs gS A   ¼lR;@vlR;½ 
 N type semi conductors are negatively charged.  

5 de nkc ij xSlksa esa fo|qr foltZu gksrk gS A    ¼lR;@vlR;½ 
 Electric discharge can take place in gases at low temperature. 

6- dSFkksM fdj.ksa fo|qr pqEcdh; rjaxs gS A     ¼lR;@vlR;½ 
 Cathode rays are electro magnetic waves.  

7- bysDVªku oksYV ¼ev½ ÅtkZ dk ek=d gS A    ¼lR;@vlR;½ 

 electron volt is the unit of energy.  

8- fdlh /kkrq dh lrg ij izdk'k ds Mkyrs gh mlls bysDVªkWu mRlftZr gksus yxrs 
gSA          ¼lR;@vlR;½ 

 Electrons are emitted from the metal surface when a light is incident on the metal 

surface.  

9- QksVkWu feydj dk;Z djrs gS i`Fkd i`Fkd ugha A   ¼lR;@vlR;½ 
 Photons work in a group and not individually.  

10- izdk'k oS/kqr lsy] izdk'k ÅtkZ dks fo|qr esa likarj.k djrk gSA ¼lR;@vlR;½ 
 Photo electric cell converts the light energy in to the electrical energy.  

11-   vUrj v)Z pkyd esa /kkjk dk izokg lg vkca/ku VwVus ds dkj.k gksrk gS A 
¼lR;@vlR;½ 

 In semi conductor current flows due to breaking of covalent bond.  

12- N    izdkj ds v/kZpkyd esa cgqla[;d /kkjk okgd gksy gksrs gS A ¼lR;@vlR;½ 
 In N-type semi conductor majority charge carriers are holes.  

13- P izdkj dk v/kZpkyd /ku vkosf'kr gksrk gS A    ¼lR;@vlR;½ 
 P-type semi conductors are positively charged. 
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14- Mk;ksM ¼P-N½ nksuks fn'kkvksa us /kkjk izokfgr dj ldrk gS A  ¼lR;@vlR;½ 
 Current flows in both directions in P-N Junction diode.  

15- izR;korhZ /kkjk dks fn"V /kkjk esa ifjofrZr djus dh fØ;k dks izo/kZu dgrs gSA  
         ¼lR;@vlR;½ 

 Conversion of alternating current into direct current is called amplifier.  

16- ckg~; foHkokUrj dks vkjksfir fd;s fcuk lfU/k ls dksbZ /kkjk ugha cgrh gS A 
       ¼lR;@vlR;½ 

 Without applying external voltage no current flows at the junction.  

17- VªkfUtLVj rhu izdkj ds gksrs gS A     ¼lR;@vlR;½ 
 Transistor is of three types. 

18- nks P-N laf/k Mk;ksM dks P-N rFkk N-P Øe esa feykdj j[kus PNP VªkfUtLVj izkIr 
gksxkA          ¼lR;@vlR;½ 

 Two p-n junction diode when fixed together forms a PNP transistor.  

19- VªkfUtLVj esa mRltZd rFkk laxzkgd nksuksa dks i'p& vfHkufr esa j[kk tk ldrk gSA 

¼lR;@vlR;½ 

 In a transistor both emitter and collector can be reversed biased.  

20- laf/k Mk;ksM ds vxz vfHkufr esa vo{k; irZ dh pkSM+kbZ de gks tkrh gS A  

¼lR;@vlR;½ 

 For a forward bias in a P-N Junction diode the thickness of depletion layer 

decreases.  

21- P-N    Mk;ksM dsoy ,d gh fn'kk esa /kkjk izokfgr djrk gS A  ¼lR;@vlR;½ 

 P-N Junction diode. flow current only in one direction.  

22- tesZfu;e] flfydku ls vPNk v/kZpkyd ekuk tkrk gS A  ¼lR;@vlR;½ 

 Germanium is the better semi conductor as compared to the silicon.  

23- v/kZ pkydksa esa /kkjk izokg dsoy bysDVªku ds dkj.k gksrk gS A ¼lR;@vlR;½ 

 In a Semi conductor current flows due to flow of electron.  

24- PNP    VªkkfUtLVj esa mRltZd {ks= ds bysDVªku vk/kkj {ks= esa  izos'k djrs gS A  

¼lR;@vlR;½ 

In case of PNP transistors electrons from the emitter move towards the base.  
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25- PNP VªkkfUtLVj esa mRltZd vk/kkj laf/k vxz vfHkufr n'kk esa gksrh gS A  

¼lR;@vlR;½  

 Emitter base Junction is forward bias in a PNP transistors. 
    

fjDrLFkku dh iwfrZ dhft;s fjDrLFkku dh iwfrZ dhft;s fjDrLFkku dh iwfrZ dhft;s fjDrLFkku dh iwfrZ dhft;s \\\\ 

Fill up the blanks :  

1- bysDVªku dk æO;eku ----------------- fd-xzk- gS A 

 Mass of electron is ___________ kg.  

2- bysDVªku dk fof'k"V vkos'k ¼e/m½ dk eku ----------------- dwykWe@fd-xzk- gS A 

 Specific charge of an electron is ___________ coulomb/kg.  

3- vkbUlVhu dk izdk'k  fo|qr lehdj.k Ek = ---------------- gS A 

 Einsteins photo electric equation Ek = ___________ 

4- P-N        lafU/k Mk;ksM dk mi;ksx ---------------- esa gksrk gS A 
 

 Use of P-N junction diode is ___________. 

5- gksy ij vkos'k --------------- ds rqY; gksrk gS A 

 Charge on hole is  same as ___________.  

6- mHk;fu"B mRltZd ifjiFk esa fuos'kh rFkk fuxZr oksYVst esa dykUrj ----------- gksrk gSA 

 The phase difference between input and output signal in case of common emitter 

amplifier is ___________.  

7- P- izdkj ds v)Zpkyd ds fuekZ.k esa --------------- xzqi ds rRoks dks feykrs gS A 

 P-type semi conductor is obtained when the impurity of ___________ atoms is 

mixed.  

8- N- izdkj ds v)Zpkyd ds fuekZ.k esa --------------- xzqi ds rRoks dks feykrs gS A 
 

 N- type semi conductor is obtained when the impurity of ___________ elements 

is mixed.  

9- v)Zpkydksa esa v'kqf) feykus dh fØ;k dks --------------- dgrs gS A 
 

 The on mixing of impurities in a semi conductor is called ___________. 
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10- -------------------------- dks nksfy= dh Hkkfr mi;ksx djrs gS A 

 --------------- is used as an oscillator. 

11- fn"Vdj.k ds fy, --------------- dk mi;ksx djrs gS A 
 

 For rectification ___________ is used.  

 
12- flfydku esa cksjku dh v'kqf) feykus ls --------------- izdkj dk v/kZpkyd cusxk A 
 

 On mixing impurity of Boron in silicon ___________ semi conductor is formed.  

13- vo{k; irZ dh eksVkbZ --------------- ls-eh- gksrh gS A 
 

The thickness of depletion layer ___________ in cms.  

14- VªkfUtLVj esa mRltZd dks lnSo --------------- vfHkufr esa tksM+k tkrk gS A 
 

 IN transistor emitter in always ___________ biased.  

15- VªkfUtLVj vfHkufr esa Mk;ksM dk izfrjks/k --------------- ds Øe dk gksrk gS  

 In transistor biased resistance of diode ___________ in of the order of. 

 

o.kkZRed iz'uo.kkZRed iz'uo.kkZRed iz'uo.kkZRed iz'u 
iz-1 dSFkksM fdj.ksa D;k gS\ ;s fdl izdkj mRiUu dh tkrh gS \ 

 What are cathode rays ? How are the cathode rays produced ? 

iz-2  dSFkksM fdj.kksa ds izeq[k xq.k fy[kks rFkk buds dksbZ nks mi;ksx crkvks A 
 Write two characteristics of cathode rays.  

iz-3 izdk'k fo|qr izHkko D;k gS A izdk'k fo|qr mRltZu ds fu;e fyf[k, A 
 what is photo electric effect ? Write down laws of photo electric emission.  

iz-4 izdk'k fo|qr izHkko D;k gS\ vkbUlVhu }kjk bldh O;k[;k fdl izdkj dh x;h A 
 What is photo electric effect ? How is this explained by Einstein.  

iz-5 izdk'k fo|qr izHkko esa nsgyh vko`fRr rFkk nsgyh rjaxnS/;Z dks le>kb, A 

 Explain the meaning of  

(i) Threshold frequency  

(ii) Threshold wave length in photo electric effect.  
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iz-6 izdk'k fo|qr mRltZu laca/kh vkbUlVhu ds lehdj.k ½ mv2= hv-hvo dh LFkkiuk 

dhft;sA 

 Establish the Einstein’s equation.  

 ½ mv² = hv – hvo in relation to the photo-electric emission.  

iz-7 izdk'k fo|qr lsy fdls dgrs gS A ;g fdrus izdkj ds gksrs gS \ buds dqN eq[; 
mi;ksx fyf[k,A 

 What is a photo electric cell ?  What are its different kinds ?” State  its some 

important applications.  

iz-8  Mh- czksxyh ds rjaxnS/;Z lehdj.k dh LFkkiuk dhft;s A 
 Establish the de Broglie wave length equation.  

iz-9 yslj dh izeq[k fo'ks"krk, rFkk mi;ksx fyf[k, A 
 Write important characteristics and uses of laser. 

iz-10 xSlksa esa fo|qr pkyu dc vkSj dSls gksrk gS A le>kb;s \ 
 Explain the electric discharge in gases. 

iz-11 bysDVªku dk fof'k"B vkos'k e/m Kkr djus dh ts-ts- FkkWelu dh fof/k dk o.kZu 

fuEu 'kh"kZdksa  ds varxZr fdft, %& 

 ¼v½ midj.k dk js[kk fp= ¼c½ lw= dh LFkkiuk 

 Describe the Thomson’s method for determination of specific charge e/m of 

electron under the foll0owing headings  

(i) diagram of the apparatus  

(ii) derivation of the formula.  

iz-12 bysDVªku ds vkos'k e ds Kkr djus dh feyhdkWu fof/k dk o.kZu fuEufyf[kr 
fcUnqvks ds vk/kkj ij dhft, 1-  
¼v½ midj.k dk ukekafdr fp=  
¼c½ lw= dh LFkkiuk A 

 Describe Millikan’s method of determining the charge under the following heads 

of an electron  

(i) labeled diagram of the apparatus  

(ii) derivation of the formula  
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iz-13 rkik;fud mRltZu ls vki D;k le>krs gS A blds mi;ksx esa vkus okyh /kkrq esa 
dkSu&dkSu ls xq.k gkssus pkfg, A 

 What is meant by thermionic emission ? What should be the characteristics 

properties of metal to be used for thermionic emission.  

iz-14 lksfM;e /kkrq dh izdk'k fo|qr nsgyh rjaxnS/;Z 6800 A0 gS bl dFku dk vFkZ Li"V 
djks A bl ij 800 A0 rjaxnS/;Z dk izdk'k iaqt Mkyus ij D;k QksVks bysDVªku 
mRltZu gksxk \ 

 The photo electric threshold wave length for sodium metal is 6800A° Explain the 

meaning of this ? 

iz-15 QksVks lsy dk ukekafdr fp= cukdj bldh dk;Z fof/k le>kb, \ QksVks lsy ds nks 
izeq[k mi;ksx fyf[k, A 

 Draw a labelled diagram of a photo cell and explain its working. Write two 

important uses of photo cell. 

iz-16 ystj dk fl)kar le>kb, A 
 Explain the principle of laser . 

iz-17 var% v)Zpkyd rFkk ckg~; v)Zpkyd esa vUrj Li"V dhft, \ 

Write down the difference between Intrinsic semi conductor and extrinsic semi 

conductor.  

iz-18 P o N izdkj ds v)Zpkydksa ds vUrj Li"V dhft, \ 
 Write down the difference between P-type and N-type semi conductors. 

iz-19 P-N laf/k fdl izdkj izkIr dh tkrh gS A fp= [khapdj P-N laf/k ds lanHkZ esa fuEu 

inksa dk vFkZ le>kb, vuko`Ùk vkos'k] vo{k; irZ] izkphj foHko A 

 How is P-N  Junction obtained ? Draw diagram to explain the following terms in 

reference to a P-N junction  

(i) un conversed charge  

(ii) depletion layer and  

(iii) potential barrier       

iz-20 P - N laf/k Mk;ksM dh lajpuk ,oa dk;Z fof/k vxz ,oa i'p vfHkufr dks ¼V-I½ xzkQ 

[khapdj le>kb, A 

 Explain forward bias and reverse bias in a P-N junction diode with the help of V-I 

graph.  
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iz-21  VªkfUtLVj fdls dgrs gSA ;s fdrus izdkj ds gksrs gSA buds ladsr vkjs[k [khapdj 

buesa vUrj Li"V djks A 

 What is transistor ? What are its different kinds ? Draw their symbolic diagram 

and differentiate between them. 

iz-22 NPN    VªkfUtLVj ls vki D;k le>krs gS\ fo|qr ifjiFk [khapdj bldh dk;Z fof/k 
le>kb, ;k ¼PNP½ 

 What do you understand by the NPN transistors ? Draw circuit diagram to 

explains, its working or PNP.  

iz-23 VªkfUtLVj ds fuekZ.k esa v)Zpkyd dk gh mi;ksx D;ksa fd;k tkrk gSA le>kb, A 
 In the construction of transistor why is only the semiconductor used ? Explain.  

iz-24 izo/kZu fdls dgrs gS\ VªkfUtLVjdks izo/kZu ds :i esa fdl izdkj mi;ksx esa yk;k 

tkrk gS A 

 What is an amplifier ? How is a transistor used as an amplifier ? 

iz-25 VªkfUtLVj ds α  rFkk β  iSjkehVj D;k gSA buesa laca/k LFkkfir dhft, \ 

 What are the  α and  β parameters of a transistor establish a relationship 

between then.  

iz-26 fn"Vhdj.k ls vki D;k le>krs gS\ laf/k Mk;ksM dks v)Z rajx fn"Vdkjh ds :i esa 

fdl izdkj mi;ksx esa yk;k tkrk gS\ fp= [khapdj le>kb, A 

 What is a rectifier ? Draw circuit diagram to explain the use of a P-N junction 

diode as a half wave rectifier.  

 

iz-27 iw.kZ rjax fn"Vdkjh ds :i esa P-N laf/k Mk;ksM ds mi;ksx dk o.kZu fuEu 'kh"kZdks 
ds varxZr dhft,]  

 ¼v½ ifjiFk dk ukekafdr js[kkfp= 
  ¼c½ dk;Z fof/k  
 ¼l½ fuos'kh fuHko o fuxZr foHko dk le; ds lkFk ifjorZu vkjs[k A 

 Describe the use of a P-N junction diode as a full wave rectifier under the 

following headings  

(i) labeled diagram  

(ii) working  

(iii) graphs for time variation of input potential and output potential. 
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iz-28 NPN    VªkfUtLVj dks mHk;fu"B vk/kkj ifjiFk esa izo/kZu ds :i esa dSls mi;ksx esa 
ykrs gSA ifjiFk vkjs[k [khapdj dk;Z fof/k le>kb,A rFkk /kkjk ykHk] oksYVst ykHk 
,oa 'kfDr ykHk Kkr dhft;sA 

 How is a NPN transistor used as an amplifier in the common base mode ? 

Explain its working with the help of a circuit diagram and derive expression for 

the current gain, voltage gain and power gain.  

iz-29 fo|qr ifjiFk [khapdj le>kb, fd NPN VªkfUtLVj dks mHk;fu"B vk/kkj ifjiFk es 
izo/kZd dh Hkkafr dSls mi;ksx esa yk;k tkrk gS A /kkjk ykHk oksYVst ykHk] 'kfDr 
ykHk ds fy, O;atd fuxfer dhft,A 

 Draw circuit diagram to explain the use of NPN transistor as an amplifier in 

common emitter mode. Derivng expressions for the current gain, voltage gain 

and power gain.  

iz-30 nksfy= D;k gS\ vko';d fo|qr ifjiFk [khapdj le>kb, fd VªkfUtLVj dk mi;ksx 

nksfy= dh Hkkafr fdl izdkj fd;k tkrk gS A 

 What is an oscillator ? Draw necessary circuit diagram to show the use of 

transistor as an oscillator.  

 

    

 

----------------- 

 
 
 


